Test Booklet Code UPT_ 19 Test Booklet No.

Paper : 11

Roll No.

Time Allowed : 12:30 p.m. to 3:00 p.m. (272 Hours) Maximum Marks : 150

INSTRUCTIONS

Do not open the Test Booklet before 12:30 p.m.
Read the question carefully before marking the right answer in the appropriate circle of the OMR
Answer-Sheet.
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No candidate will be allowed to appear in the examination without Admit Card and it should be produced before
the Invigilator when asked.

No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

Any book, paper, cell phone, calculator or any electronic gadget or objectionable materials are not allowed in the
Examination Hall. Candidates are allowed to bring only Admit Card and ball-point pen in the Examination Hall.
Candidate will have to keep all his/her belongings and materials outside the Examination Hall at his/her own
risk.

Any candidate found using unfair means or violating the above or any of the examination rules shall be disqualified.
Candidate should clearly write his/her Roll No. in the space provided in the Test Booklet.

Only one circle, either (A), (B), (C) or (D) is to be darkened completely for each answer on the OMR Answer-Sheet.
Candidate should not make any stray marks on the OMR Answer-Sheet.

Candidate should not staple, fold, pin, wrinkle or damage the OMR Answer-Sheet.

Scratching, overwriting, tick marking, multiple answering will be considered as wrong answer.

Candidates will have to sign twice the Attendance/Roll Sheet presented by the Invigilator on duty, once after
taking their seats in the Examination Hall, and once at the time of handing over their Test Booklet and OMR
Answer-Sheet to the Invigilator. Cases where a candidate has not signed the Attendance Sheet a second time
will be deemed not to have handed over the Answer-Sheet.

The candidate has to return the Test Booklet along with the OMR Answer-Sheet to the Invigilator before leaving
the Examination Hall.

Candidate should do all the necessary Rough Work on the Test Booklet in the space provided. Rough Work
should not be done on the Answer-Sheet or on any other paper. If any Rough Work is done on the Answer-Sheet,
the Answer-Sheet will not be assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra Answer-Sheet will be provided
for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Test Booklet. Candidate should fill up the particulars in
the OMR Answer-Sheet, i.e., Roll No., Test Booklet No., Test Booklet Code, Language Code, etc., carefully with
blue/black ball-point pen only.

The test is of 2% hours duration and will consist of 150 questions.

The candidate should use blue/black ball-point pen only for writing particulars on this page/marking responses
in the OMR Answer-Sheet.

The candidate should make sure that the corresponding Test Booklet Code is properly written/shaded in
the OMR Answer-Sheet by him/her. For example, if the candidate gets Test Booklet Code ‘L’, then he/she
should fill up ‘L’ in the box provided in the OMR Answer-Sheet and also shade the circle ‘L’ in the OMR
Answer-Sheet. In case of any discrepancy in the Test Booklet, the candidate should immediately report the
matter to the Invigilator for replacement.

This Test Booklet has five Parts, i.e., Parts I, II, III, IV and V consisting of 150 Multiple-choice Type questions,
all carrying 1 mark each.

Part-I :  Child Development and Pedagogy (Q. Nos. 1 to 30)
Part-1I :  Mathematics & Science (Q. Nos. 31 to 90)
Part-II  : Social Studies (Q. Nos. 31 to 90)
(Candidate has to attempt Part - II or Part - III)

Part-IV  : Language-II [ English (Compulsory) ] (Q. Nos. 91 to 120)
Part-V :  Language-I (Optional) (Q. Nos. 121 to 150)

(Any one of the languages - Assamese, Bengali, Bodo, Garo, Hindi, Hmar, Nepali, Manipuri and Karbi)
There is no negative marking for any wrong answer.
Candidate should note that each question in Parts I, II and III is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference. In case of any
discrepancy or confusion in the medium/version, the English version will be treated as the authentic version.
Important : Candidate please see Page No. 7 for Index.
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INDEX

Part Subject / Component Q. Nos. Page Nos.
I Child Development and Pedagogy 1 to 30 8 to 37
I Mathematics & Science 31 to 90 38 to 73

(For Mathematics and Science Teachers)
III Social Studies 31 to 90 74 to 109
(For Social Studies Teachers)
(Candidate has to attempt Part - II or Part - III)
IV Language - II [ English (Compulsory) | 91 to 120 110to 113
\"/ Language - I (Optional) (121 to 150) (114 to 142)

(Candidate should answer from
any one of the following languages)

Assamese 121 to 150 114 to 117
Bengali 121 to 150 118 to 120
Bodo 121 to 150 121 to 123
Garo 121 to 150 124 to 127
Hindi 121 to 150 128 to 130
Hmar 121 to 150 131 to 133
Nepali 121 to 150 134 to 136
Manipuri 121 to 150 137 to 139
Karbi 121 to 150 140 to 142
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PART - I : Child Development and Pedagogy

1. SfoA TR AP SN 3T ORI ot 50

SIfeoas 419 CESE
(@) (ot Srfeaty () SIS T
(b) TS e (i) =Fol/>TYSt
(0 Thesre ez (i) SR/ AW
@ Tl sfeem (iv) ¥R
% feTcor IS Sfersar :

@ @-0),0)-G), ©-Gi), @-Gv) B (@) b)- ) ©)- ), @) - i)
©  (@-(i), 0)-(v), ©-0), (-G O  (@)- (i), )- i), ©)- (v), (D) - ()

1. SR 4FE 932 SIMd SHIRAR (8T 26

Sfeartd dia CLEEL]
() R Sfosty ()  SREd T
(b) STVITS Srfost (i) FFSI/ YS!
(© e oA (i) SRR/ AW
d JFfav Sfedr (iv) <FFR
»& N6 o 718 |
(A)  (@)-(0), (b)-(id), (c)(iii), (d)-(iv) B)  (@)-(iv), (b)-(i), (c)-(ii), (d)-(iii)
©  (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii) D) (a)-(ii), (b)-(ii), (c)-(iv), (d)-(i)
1. TIE ST (motives) 1 TGHER 1 IR fafef-ert Merma g e -
TG AT TR fafefremt
(Types of motives) (Examples)
@@ SR I S G st gifa
(Organic motives) (Aim of Life)
(b)  HHTSIR T SE™ (i)
(Social motive) (Honesty)
(©  TIER e ST (i) SRR
(Personal motive) (Food)
d) TSI TS SHEM A Tl ST (iv) el
(Artificial motive) (Award)
IR forTat arrE’ -
(A)  (@)-(i), (b)-(id), (c)-(ii), (d)-(iv) B)  (a)-(iv), (b)-(i), (c)-(i), (d)-(iii)
©  (@)(ii), (b)-(iv), (c)-(i), (d)-(ii) D) (@)-(ii), (b)-(ii), (c)-(iv), (d)-(i)
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(A)  (@)-(), (o)-(i), (c)-(i), (d)-(iv) B) (@), b)-(), (©)-(i), (d)-(ii)
© (@), (b)-(iv), (c)-(), (d)-(ii) D) (a)-(iii), (b)-(id), (c)-(iv), (d)-(3)
1. Types of Motives and their examples are given below :
Types of Motive Examples
(@ Organic motive () Aim of Life
(b)  Social motive (i)  Honesty
()  Personal motive (iii) Food
(d)  Artificial motive (iv) Award

Find the correct match :
@) @-0), 0)- () ©- (), (D-G) B  (@-v)b)- @) ©- (i), (d)- (i)
©  (a)- (i), (b) - (iv), (c) - (i), (d) - (i1) D)  (a)-(iii), (b) - (ii), (c) - (iv), (d) - (V)
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d N_NRE R (iv) PRSI SICEBAS ©is 517 91T |
O MTCoT TS Sferaat «

@ @-0),0)-), -G, (@d)-G) B (@-v) b)), ©- ), [d)- )
©  @-@v), b)-0),©-Gi), ()-GO  (@-0), b)) ©- ), d)- (i)

2. Frosg g MEQ3TeT W32 ©IF R TES3TET (eT 36 ¢

Frog e st (CIREAtEic)]
@) o () PR3 o e AR
(b) LB T (i) P35 e
©  SERPE Ae (i) PR3 AW S I
d = e (iv) PR3 SR 37T {0 i
BT 56l @R @I F
A (@-@), (b)-(iv), (c)-(ii), (d)-(ii) B)  (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
©  ()-(iv), (b)-(0), (c)-(ii), (d)-(ii) O)  (@)-(i), (b)~(id), (c)- (iv), (d)-(iii)
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2. T ETRRMA SR AR ST o ATgUEhRE! T SE) -
T MIHR SR (SR ITGATTER

(@ & SITEEE G) T ErE Eity Wi e

(b) SIS EHEE ST (i) T HET TSP S

© T HfeER S (iii) 7T G MSIAEET 6 g

(d) <EER SiEEE (iv) T T WIEREATETE SR A R

TR AR TEeEE "’ -

(A)  @-(), (b)-(iv), (c)-(ii), (d)-(ii) B)  (@)-~(iv), (b)-(iii), (c)-(i), (d)-(ii)

©  @-(iv)(b)-(i), (c)-(iid), (d)-(ii) D)  @-(i), (b)-(ii), (c)-(iv), (d)-(iii)
2. Ty forehm 1 Woe] W9 SR sHen dfire wvg e w7

forey ferehrer & weeTd afore wgE

@) oo o foeE G)  Tors ueR R weRa B

(b) FEEH fawE (i) o) 9 =9 w1 B |

©  smafe foemm (iii) T ST TgvE L

d IRifen fowm (iv) o eTreirem & o191 & Tehe ¥ |

s e w1 g fafa :

@) @-(), (b)-(iv), (c)-(iii), (d)-(i) B)  (@)-(iv), (b)-(ii), (c)-(i), (d)-(ii)

©  (@(iv), (b)-(0), (o)), (d)-(id) O (@), (b)-(i), (c)-(iv), (d)-(ii)
2. Aspects of Development of a child and characteristics are given as :

Aspects of Development of a child Characteristics

(@) Language Development ()  The child ask questions

(b)  Cognitive Development (i)  The child is able to walk

(0  Emotional Development (iii) The child feels happy

(d)  Physical Development (iv) The child takes part in discussion

Find the correct match :
&) (@)-(@), (b)-(iv), (c) - (iii), (d) - (ii) B)  (a)-(iv), (b)- (iii), (c) - (i), (d) - (ii)
©  (@-(v),(b)- (), (c) - (iid), (d) - (i) D)  (@- (@), (b)- (i), (c) - (iv), (d) - (iii)
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QAT RFFIT BRI TGS RPHT (@0 BT A6 IqW ©18 IJ~o&el” qbT @FEs Rice tifaT
T 7

(A)  Fpat FieT B) I eI © ToF AT (D) CNT FreT

QRFNAR [RBICTA BB R ©F V0o [P @F S0 *AR53 391 wIpsion giiat’” aFfh @iHes
TR AT TR 7

(A) TR PleT B) 7 JreTHIeT ©) TS B (D) T FleT

SREHEAM ST YR sifeee 99 @<l 9914 “Identity Vs Role Confusion” 3TRG@I TA1 HIAI 2

(A) Ty B) THEAMITE Q) ISewEHfETm (D) I<EH

TREHEH 1 FoehTE 1 TR THE & T o STIHR I 1 TR H IR oM (vs) 1 STersal’ Teh afire
% &9 H fyera §?

(A R ®) T g © SR g ®) Tt

According to Erikson’s theory of stages of development in which stage, the “Identity Vs Role confusion” is
found as characteristics of development ?

(A) Infancy (B) Earlychildhood (C) Laterchildhood (D) Adolescence

UPT-19/P-11/L

FIOI NARCERET Tgo 3T (1d) |
(A) OB SEET ST I IBIF 7516 AT (AT QIS 1% |

B)  FiEui agfor |

© T ODT (bod ITE IF BT 1516 2T QBT (oFADRT QSITTst Sy |

(D) IBTS! ST @176 ARSD® |

FECGA AT B3 38 (Id) 267 -
(A) 9T IAbod SRET UJR IV 0 SIF (FIAT @IS (73 |
B) «F Yo AFfea |

©) WA UF (bOF SRET QI B 0B ©IF AF ZOTF (TSI SR |

(D) s I IBIBIT 397 A |

A M fafiem fafsfatt Jwrfy sfesen ‘1d s wRem
(A)  AE X FE ST HisheiS S |l T

(B)  fer gHEATSAN g
©)  TIrEeTE Wi Stk TR Hisheisii forel offsi |l o
(D)  Hiehe Hefent wrEe THH

11 P.T.O.




4. T I HAITIU d | ‘gL’ (Id) :

(A) T 3T TIEAT IR TS & T TR g T 6l & |

(B)  FfFIH
(©) ¥ 1 Ueh = T 3R aRad o Tl Heh! U Yol Tk © |

(D) e Hifa W yfafted T

4. In Psychoanalysis theory of Freud, “Id” refers to
(A)  Unconscious in nature and has no direct contact with reality.
(B) Itislogical in nature.
(©) Itis conscious state of mind and has direct contact with reality.

(D) Itis based on reality principle.

5. ARSTH (G ©ifeTHT SN GT3ERT Sz it 20w

ARSTFI (PIeTq Siferapt CIESL]
(@) fe7Ed () S e @ 5@ @oiE (e eeeis I Fress
IR F|
(b) ofsm= (i) IS RS /& g 9| fF@Fhe o 2°3F 41 |
(© Frowaa (i) 0T WIHR GSA Wi fysig o7 ifeT et FATRIT 3 |
(d) foarsERd (iv) PR ISARSS ([olF @RFEPTR SRI6T (58 F1T |
375, 1o 31fS Sfersar

@) (a)-(ii), (b) - (iii), (c) - (i), (d) - (iv) ®) (@)= (), (b)- (i), () - (iii), (d) - (iv)
©  (@-(i), (b)- () (c)- (iv), (d) - (ii) ©)  (a)-(iii), (b) - (iv), (c) - (ii), (d) - (i)

5. ATSTH @FIET ©IfcTH T WL ST SHIZIT ST 7

Afsast @iters eiferst SArza
() Shosad () TR TR UFCH R@ S RRFTo R S5 P w!
FE |
(b) ofssma (i) 3eIS AW 76 Bfa UFSH ©fet fF ok 30 AT |
© gFrozad (it) F= TG R 50T S FeTHICeTa F 0T |
(d) THrEIIA (iv) P13 ASiCAfed (For ([FTERYR SIRACC (681 F47 |
B WAl @ 1S |
(A)  (@)~(ii), (b)-~(iii), (c)-(i), (d)-(iv) B (@)-(), (b)-(id), (c)(iii), (d)-(iv)
©  (a)-(ii), (b)-(0), (c)-(iv), (d)-(iii) D) (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)

UPT-19/P-11/L 12




5. UIERIE! [Efe B AR AR o fafefemm S -

List of Defense mechanisms Examples
@ TR YHTE OIS S CES PR R R R RS SR R CIE IS PRI RIS R El 0]
HRIFTRE! T 3 |
(b) o Seicema ffidaifr (i) ST SIS adl |E WIEEr fshehe@l HIsT e gl |
©  Sfed BREEEE (ili) SR AT WG SieTal Maf 3w TH SIemEl Jaraer |
d) famafa e (iv) 7191 "SR TSTEf-9] SEARTRBRM STRGLTShRE! Wi AT |
IR TRFe THiE! 9o’
&) (@)-(id), (b)-(ii), (c)-(i), (d)-(iv) B)  (@)-(0), (b)~(ii), (c)-(ii), (d)-(iv)
©  (@)-(id), (b)-(i), (c)-(iv), (d)-(iii) D) (@)-(iii), (b)-(v), ()-(id), (d)-(3)
5. &N SN i G SR SR SR A T E
T SRI9TE ot Gt AT
@ &fagfd () e ¥ fawe SHaren fordt U BT 39 fawerar & fora foere 1
e e |
(b)  faTe (i) TS faua § FoeiR T B off fohehe | or=s1 faaret s gahdr 7
© gl (iii)  SIET STEH HM foTd ATCHhIct 1 FHEwl FHadl ¥ |
d) TorTETR (iv) Tomgy Tsfaes S o1 Sf¥Te WiE Y STSI KT e ¥
(Identification)
S T ol FAR FeTert
&) (@)-(id), (b)-(ii), (c)-(i), (d)-(iv) B)  (@)-(0), (b)~(ii), (c)-(ii), (d)-(iv)
©  (a)-(ii), (b)-(i), (c)-(iv), (d)-(ii) D) (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)
5. List of Defense mechanisms and their examples are given :
List of Defense mechanisms Examples
(@) Compensation @ The student who fails in examination blame teachers
for his failure.
(b)  Regression (i)  Thestudent who is weak in English but good in
Cricket.
(0  Rationalization (iii) The old man who always talks about his youth.
(d)  Identification (iv) gggfttempts to acquire characteristics of Political

Choose the correct match :
(A)  (a)-(ii), (b)- (iii), (c) - (i), (d) - (iv) B)  (a)- (@), (b)- (i), (c) - (iii), (d) - (iv)
©  (a)-(i), (b)- (i), (c) - (iv), (d) - (iii) D)  (a)-(iii), (b) - (iv), (c) - (ii), (d) - (i)
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6. ©IF (FIFEINT FIdaT dFhe FoIF ?

(a) P ofeFeR 396 HoT 78 | (b) PR SIS S SHefe (F s |
(0 PFrod gz WEy odfear 723 | (d) P TFTF oo Tibe 957 |

w7, [PeCor IS Sferaar :

(A) &< (a), (b) BT (d) (B) (T (a) M= (b)

© &< (b) A= () (D) (< (a) M= (d)

6. [HEFIR® @HSET Frvca 4$fs @R ?

(@) Frsasifgomed OE e S AT (b)  FF SR (2 FeT (R AT |
(© Fred @ S effer 331 (d) FrET AW ST TARES AT |
¥R 58Ab @R ATS |

(A) B (a) (b)9IR (d) (B) B (a) YR (b)

© B (b)9R(0) D) BY(a)«IR(d)

6.  TIEHI 9 Serl Hieliensi SRgengara Arer 2
() ST S TAEE A A
(b) TS T T ARG ST gre
() Tl Sl WrEaETe Ser S e AT
(d) e AifeEE diedrest siel FEre)

TS SRR o JEE 9r 9’
(A (a), (b) 3R (d) A’ AR (B) (a) 3T (b) 3T’ &R
©  (b) I (c) 3T’ IR D) (a) 3 (d) 3T’ IR

6. TrAfafEa wm-a1 foren Wit s yepfa Tmem & 2
(@) Toren-wift gfgoia w AR 72 e (b) Toren-wfia SR STIEHRIISH i WieiTe e L |
© Toen-wfd w s Qi ufswan i 81 (d)  Tren-wifid o1 @ea & wrer wwfeha w6 B
S faehed &1 g FHeTfa

(A) T (a), (b) 3AR(d) (B) e (a) 3R (b)
© e (b) #R () (D) e (a) 3R (d)
6. Which of the following indicates nature of learning ?
(a) Learning is not based on maturation. (b)  Learning does not promotes maladjustment.
() Learning is not a passive process. (d) Learning is notrelated to goals.
Choose the correct option :
(A)  (a), (b)and (d) only (B) (a)and (b)only
(©  (b)and (c)only (D) (a)and (d)only
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7.  Piaget-3 W(o, (9 I%a 197 Qf6 FRIT STqeiqelf o Ffcet S8 T ?
(A)  113=F B) 123%F © 133=F D) 183=F

7.  PISUET (Piaget) (o F© I8 IPNCRE I 13 STLIFAT 5157 FICo BF I 7

@A) 113W B) 123 © 1BIF (D) 18R
7. Piaget ™7 afesen e SERMAWE A8 Qe Ta Gr<ify ST S -

(A) 11 d9ER (B) 12 ¥R © 13 ¥R (D) 18 ¥R
7.  Piaget % STTHR Tk o] § o ol § T erRom oh1 forsher STRest 2rem 8 2

(A) 11 9@ (B) 129 © 139@ (D) 189

7. According to Piaget, from which year a child starts to develop self concept ?
(A) 11years (B) 12 years © 13 years (D) 18 years

8. &7 oificq FIeofaeTa WisTe Ige! Jahs Fered] FIIICeT QS PR :

(@) T ATFIT ST IS RICRD 2 WACTISS FITS HIR 1T |

(b) EIIG)FBTETHI NG TRRIT FI AN |

©  forew Feed sSTofers aaae e TS S $°3 st |

d) TFmow ofss|fE Sre s Soreet i efies |

B a0t S Sferaat

A) (), (b)==(c) (B)  (a)3=(b) © @9 (b) D)  (b), (c) 3= (d)

8.  Haeifica Pt nues gl Aafs Feras] TS X6 GFGH FIFd
@) FTATTT I AR @Ry O NS I[EG FA00 21 |
(b) TIRG/FBFEHA S BRI FACO 27 |
© Fwew Fredly SHEIeR TREF W3 SIS FU I6700 |
d) Hrov afsfar yag s Soret e 23|
8% [KBg @R ?
A) (), (b)93R (o) (B)  (a)9<R (b) © @3 (b) D)  (b),(c) ¥R (d)

8. I ATHH! Wi T R e fof SR e SRS 7o Yeriee WY Wi -
@) TR AESHEE WIS T A foER e g g e g |
(b) RIS TEE T SRR |
(€ T foaif R ST STerREi TR S @he A |
(d) T @i feedback A TR FfEH SEH SEA |
TSHTRET AT R TREeeE! w1 fog -
(&) (a), (b) ¥ () B) (a) (D) ©  (b) ¥’ &R @)  (b), () F(d)
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Hirfa Trge Ry o e =amea™ gid ol Arheamfved i & forg T e :

(@) TR YT T AT T1feT Fifh T8 AN Dl AT F Gohell & |

(b) =R A FATH HRER HLAT AT |

© e faao o el Haer o Faifys 9 s wifew )

(d) TTeTom wiessw iR Taifus Suew <1 =nfew |

s fasweq =i g fafe :

@) (@, O (B ()R (b) © e (b) D)  (b), () 3R (d)

To make Lecture method effective among the slow learners, a teacher :
(a)  Should not use Voice Modulation as it distract their attention.
(b)  Should use Blackboard sufficiently.

(¢)  Should use minimum teaching aids and maximum talk.

(d)  Should provide less feedback and more advice.

Find the correct option :

&) (a) (b)and(c) (B)  (a)and (b) ©  (b)only D)  (b),(c)and (d)

IR Thegs e ovas FEfalis @ siege sigerse ot T 2

(A) S EFe! (B) SISIHTFo! © el (D) SIS AT

oo o

I fFrer Thea ovwa Fafafis @@= Tsfieg sTeemsd ot I 2
(A) SEEFS!  (B) SWS@EFS! () eSsoe! D) GIFEICG A

M oe HAAE! TaTSTS Qa1 (Extrovert person) ™ B CIERIICIITY %ﬂﬁ@ A -
(A) MadEa’ fie e (Self Centredness)
(B) guTSE! fie @ (Society Centredness)

(C) fSITg (Shyness)
D) %"IT@%"QTHW(Aloofness)

afeet =fsa & =afa & &9 § frafaftad wF @ safsmma eifead o€ s €2

(A)  3TTH higehar (B)  HHISI hi-gehdl ©  Henrdl (D) SN
Which of the following personality traits is found in an extrovert person ?

(A)  Self centredness (B)  Society centredness

(©  Shyness (D)  Aloofness

UPT-19/P-11/L
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10.

10.

10.

UPT-19/P-11/L

et MR (PRI SFFFRFIR (Fao Aoy ?

@) T UFo ETHIOR RIS SFPiie Fa1 957 |
(b) e 2fos|fE awia ST 957 |

© 3ufvew o Feed txig O Sifbet S |

d) PrFas @FePIR OBt OBIE SIaAle 97 753 |
@ 35T SRl ooe @oFe Afede |

O e it Sferedr

@) @ @3 B (O ()< (e) © (), () (d)==F(e) (D)

N6 (ST (B HYFPFe (F(@ Fey ?

@) UF gFo EfFeF AR ST T =7 77|

(b) ATAg AfSfEmr aww w71

© 4@ @ST & @ Free 367 6 Siber F1efs |

(d) Free @TePmE QF0T GF0T FE NPT ST = AT
©  «ft Frecs IRt 6red 8@ afsPe |

7 o7 @HG 2

@) @ ©@9Rd) B ©@@D9ERRE) O (b)()(d)9ER(E) D)

TMRIEM o1&l e micro teaching 1 &R Tea -

(@) SEI IR ARG G ATHIREE |1 WA ST

(b) e Hraftmes frel S s

(©  RRIATEE! B Siell T e Hel g5 ST

(d) TR BRIAR STeeE! TE QAR ST

(€) Sl behaviouristic theory of learning 1 ErIE e @re ™=

IR frTel wrE’ -

@A) @ @I B ©@©@IE (O (b)) ()W) (D)

17

(@), (c) 3= (e)

(@), (€) 9<% (e)

(a), (c) 3T (e)
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10. Tl sF-a1 e & &9 § g § 2
(@) ST YHd AU HeTl 1 URAY H IR Tl TRl STl 7 |
(b) TS RigasH T &l fohan <1 S
© I o e § fe e wied w7
d) e &1 FeE TE - STEie T fhan T R
© e faren wifid i1 STRUENT dil W menfid ¥
Y5 Tershed =l e ferfa :
@ @O B QDT O OQAE O @) CRE
10.  Which of the following are correct about micro teaching technique ?
(a)  Itisnot practised in real classroom situation.
(b)  Systematic feedback is not provided.
(¢)  Itassumes that teaching is a complex activity.
(d) Individual teaching skills are not practised.
()  Itis based on the behaviouristic theory of learning.
Choose the correct option :
@) @ (©@andd B ©@and@e (© (), (and@) O (@) ()and ()
11. ANTIoTe @Ts 3= [t Fiig “ige, Oo PRI OBt sifaw AT 1151 S99t 667 Sierais snfq,
55T r1feet 3fer It conrare sl 27, (O R 2T
(A) Preas e BiFisIe B) P SHPS BB
© Freas e Fasae (D) P g9 BT
11 CITISCS Qrel 932 RErst oT1a A, Q3o Frst abi5 st 16T 1115 SeofeT (6@ 615 @1 F ews
517 551 IR 0T O Ol 0T XJ
(A)  Frwceg Srfdeet giaieae B) FrElT g e g
©  PrSeR A giisge (D) FFwCeg 4T BiFise
11. oGl GYEE S AR T’ BRIEHE SH6 JE EGEHE G SESETe 9HE 95 11 SAuatsheE

UPT-19/P-11/L

TS 6 T FEAM TSa LTa B 1 S a1 STecl i@l 71 A ?

(A) Lateral Transfer of Learning (B)  Sequential Transfer of Learning
(©)  Negative Transfer of Learning (D) Positive Transfer of Learning

18




11, 5ot sen & A0 3R SRoncres et 37 % e, forelt weh faenedl 3w wete 9 W T 11 Sl § 9 6 31
fehTet X 5 T8 TN HHE U 1 FHEE Bl 8, T 9 B
(A) TR it k1 Stferehel Tl (B)  T31&q it =1 SATh{Heh AT
(©)  Toren wiftq <1 SoTTcHeh TR0 (D)  Treq Tifta o1 ARTICHeR TR0
11.  After teaching substraction and addition in class, a student is able to remove six apples from a pot containing
11 and understand that there would be five left, thenitisa:
(A) Lateral transfer of learning (B)  Sequential transfer of learning
(©  Negative transfer of learning (D) Positive transfer of learning
12.  Frsas o459 afe @H0T w7 8o19s fofs 3 ke tzeg 7
(A) SR W (B) A@ERE T (O dFfeIRt T (D) IBIIGA ol
12.  Frscda dog Tafs fNafeie @ wiqita esiw fofs s fer zane 2
(A) St ety B) J@ERTI R  (Q dFfeIM AT (D) I W
12.  Project method of teaching 31 T&H el HIY HEfES SEE .
(A)  Idealistic philosophy (B)  Pragmatic philosophy
(© Naturalistic philosophy (D)  Realistic philosophy
12, Tveror =1 wehew wgfa -1 <9 W s S forshr g 8 2
(A)  STEiETe (B)  FENTEE ©  epidet (D)  =rEfeeRdreT
12.  Project method of teaching is developed on the basis of which Philosophy ?

(A)  Idealistic Philosophy (B)  Pragmatic Philosophy

(©  Naturalistic Philosophy (D)  Realistic Philosophy

UPT-19/P-11/L
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13.  PIdT OR Sie 13T Solaas F il 6aeg :

[RECRCICRNEY TGP
(@ SREBRM () e
(b) STWREFERM™ (i) FETE
(© IS FEHAIM (i) TS
d SEEM (iv) ATES
w7 feTor Afs Sferaar :

@) (@-(iv), (b)- (i), (c)- (), (d)- (iii) ®)  (@- () (b)- (i), (c)-(iii), (d)-(iv)
©  (@-(v), (b)-(), (o) - (i), (d) - (ii) ©)  (a)-(ii), (b) - (i), () - (i), (d) - (iv)

13.  FIeeld Oz Y32 OftE SBIRBE AW (ST 3eT

[REIC ERCICRPEY TBIRFIF AW
(@) STeTTSR_M () TR
(b) TEfIFSR™ (i) T
(© IETIF FFIRAIM (i) MeeTe
(d) SIREAIM (iv) AFTIZH
B Oedfb @RS |
(A)  (@)-(iv), (b)-(ii), (c)-(1), (d)-(iii) B)  (a)-(i), (b)-(id), (c)-(ii), (d)-(iv)
©  (@)-(iv), (b)-(i), (c)-(i), (d)-(iii) D) (a)-(ii), (b)-(0), (c)-(ii), (d)-(iv)
13. AR TR TR 9@ g iR §E@ eFE e -
et g fegaffitwe
(Theory of learning) (Propounder)
(a) Connectionism ()  Kohler
(b)  Gestalt theory of learning (i)  Skinner
(©)  Theory of operant conditioning (iiiy Pavlov
(d)  Theory of classical conditioning (iv) Thorndike
TSHTRE! AT TR g’
(A)  (@)-(iv), (b)-(ii), (c)-(1), (d)-(iii) B)  (a)-(i), (b)-(ii), (c)-(ii), (d)-(iv)
©  (@-(iv), (b)-(i), (c)-(i), (d)-(iii) D) (a)-(ii), (b)-(0), (c)-(ii), (d)-(iv)

UPT-19/P-11/L 20




13. fen-wif =1 ToEgE @R STeR Jrseel & A fe T ©

forerr-uiia st AreEgE ELLIEEA
() AT () EeR
(b)  HHERATETS (i) TR
€ M TR (i) YaeE
(d)  STFTHFAR (iv) RS
IS faehed &l g FHeTfag

&) (@)-(iv), (b)- (i), () - (i), (d) - (iii) B)  (a)- () (b)- (i), (c) - (iii), (d) - (iv)
©  (@-(v), (b)- () (c) - (i), (d) - (i) D) (a)- (i), (b)- (i), () ~(iii), (d) - (iv)

13.  Names of the Learning Theories and their Propounders are given :

Learning Theories Propounders
(@) Connectionism (@) Kohler
(b)  Gestalt theory of learning (i)  Skinner
(©)  Theory of operant conditioning (iii) Pavlov
(d)  Theory of classical conditioning (iv)  Thorndike

Choose the correct match :
A) (@) (iv), (b) - (ii), (c) - (1), (d) - (iii) B  (@)- (), (b)- (i), (c) - (iii), (d) - (iv)
©  (@)-(v),(b)- (i), (c) - (ii), (d) - (iii) D)  (a)- (i), (b) - (i), (c) (i), (d) - (iv)

14. Fred Fieas oFae oo (FIFEIT NGt A0EoE S @re ?

@) T T TR T (b) Freric ereenE R S et |

© FPredy s XifEe Sages afes|fs far | d) FredT R IE (©ETETIFS SEIIT FT |
B Sl TS Sferaar

(A)  (FT (a), (b) 3 () (B) 7T (b) AT ()

© @9 (a), (b) 31 (d) (D) @9 (b), () =M= (d)

14.  Frea FEFR CF@ [HI5T @1F (RS SIS 32geyef (@ ?

(@ T I NI BIZF FAT (b) PR =R PR TR 77wt
© Frediy Sewa g3 afsfem et d) Fredie B S SItd (F (e
& LS’ @R AN |

&) BY (), (b) 932 (0) (B) BY(b)9IR ()

© B (a), (b) 93 (d) D)  BY(b), () 9 (d)
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14. TEEM 99 HFEAT Motivation in the teaching-learning situation 1 |reIf& @1 ?
() T G ISl BFH |
(b) TreErn SifEERE! o W A |
©  TUEERE GO I TS S 8 |
d)  wEE TR o feErg gafAi e |

TSHTET F1EAT 9R fr=rawt 9reg’
@A) (a), (b) ¥ (c) 3t AR B)  (b) IR (c) M’ &R
©  (a), (b) 3T (d) 3T’ & D) (b), (c) 3 (d) 3T’ 4R

14, ‘forero-foran-wfa’ & &= § frefafed sm-an sfuiRo w1 god Teyut S § 2
(@ TRREsTE
(b)  Tramefl o gr0 @iey ol feek T T
(€  Toeneft =6t el 1 Suge qAHORM HEA |
(d) Toreneff =6t & o 9fd 57 @l SR w1

T I H AT
(A) e (a), (b) 3T (c) (B) A (b) 3 (c)
© ¥ (a), (b) R (d) (D) T (b), (c) R (d)
14. Which of the following are the most important techniques of motivation in the teaching-learning
situations ?
(a)  Frequentuse of punishment (b)  Setting of goals by the students
(©)  Proper feedback of student’s response (d)  Blame the students for their fault
Find the correct answer :
(A)  (a),(b)and (c) only (B) (b)and (c)only
©  (a), (b)and (d) only )  (b),(c)and (d)only

15. @i, Frs «ftg Jaiet 70 - 90 T fowas AT, (68 (o FRaF (@90 (e 8157 2

&)  afserar fre B) 09 sifox Fre
© T D) T I Frs

15.  T49 OF6 Freg giaa 777 70-90 UF (@oF INF, A7 8% PRIt @19 I Rce I =7 2
N ICRISIG R (B) fsifsre FrF e 3@ vT Fre
© ¥ D) Sog=Te 13

15.  STecT 98 ' Gl S (1Q) 1 70 - 90 1 TeRia ot steet ford e syet ar@ieta et 2
(A) FHRA SF e Ty’ (B) T AR Hrem 1y’
© HqEII' (D) TR FrafE 19 Het Ty’
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15.  <T& SIS Tah 19 1 ‘Intelligence Quotient (IQ) 70 - 90 % &= T&dl 8, 7@ TH forg =l fore 4oft & wan s wehen
€2
(A)  wiawrEr frg @ HRTdwfy  © HEYg D) e dfg g fayg
15.  When the Intelligence Quotient (IQ) of a child is between 70 - 90, he is generally categorized as :
(A) Gifted (B)  Slow learner (© Idiot (D) Moron
16. ©aF (@A RFFE 67T < ‘5-E Fred R0’ wais yediaeg ?
(A) TiGw I (Engage), SCYIT F9T (Explore), I35 S (Explain), *% Kger @l (Elaborate),
YT 4T (Evaluate)
(B) Tiibw F«l (Engage), 9@ a1 (Enlighten), 2iF™ 47 (Express), [<*m a9 a7 (Elaborate),
YT 4T (Evaluate)
© 9T F91 (Explore), 5131 ST (Explain), A< #ST (Express), JeT51A9 91 (Evaluate),
e (21T (Emergent)
(D) Tifvw FT (Engage), IS ST (Explain), 4= F7 (Enlighten), 9™ $7 (Express),
Tire (21T (Emergent)
16. 67 @AGCS g SIOFITTR ““5-E Fre s * 16 3% est (Tt 2eem ?
(A) LS 1, S F41, FMT FT, e g (s, geniRie 1
B) T F1, dm F41, AT B4, em RKqgel (e, g S
©) I T, LT AL, AP FT, Fovs T, Sie 287
(D) LS F1, [T 0, A7 S0, AT 347, TS 2837
16.  TRAEM Se HITEA A (Constructivism) 1 “5-E learning model” T 9 TeeEl fefrerl -

UPT-19/P-11/L

(A) IS (Engage), §fCg—™ (Explore), SEARAM (Explain), TAR WRATAAR (Elaborate), GHFT

(Evaluate)

(B) TS (Engage), TSI WA (Enlighten), BRATIAT (Express), TR HRAMAM (Elaborate),
YHIIM (Evaluate)

(©) HEf<g=T (Explore), ST (Explain), RRAEA™ (Express), gq‘rwam (Evaluate), AR

(Emergent)

(D)  TiUE™ (Engage), ST (Explain), T SR (Enlighten), RAFIAT (Express), SRR
(Emergent)
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16. TrAfafEd wH-a1 fosmed TeaE o1 ‘5-E fren usfa oisa’ &1 ¥g &9 9 fe@m €2
(A) I (Engage), STHU (Explore), SR ST (Explain), fa&gd ELE| (Elaborate), Je3ish (Evaluate)

(B) =K Wl (Engage), 99& T (Enlighten), TS T (Express), fo%gd 90 (Elaborate), Jediichd
(Evaluate)

© SToE (Explore), SR T (Explain), JehTSl Tl (Express), edieh (Evaluate), 3fed B (Emergent)

(D) =% &l (Engage), &A1 hi{dl (Explain), 99§ {7l (Enlighten), TR Il (Express),
3fed B (Emergent)

16.  Which of the following options correctly depicts the “5-E learning model” of constructivism ?
(A) Engage, Explore, Explain, Elaborate, Evaluate
(B) Engage, Enlighten, Express, Elaborate, Evaluate
(©)  Explore, Explain, Express, Evaluate, Emergent

(D) Engage, Explain, Enlighten, Express, Emergent

17.  frerds Jiag NE oguce, @ifas ST §e1 Sofmiq 27 -

(A)  dfrar, R s sfeem B i, yerEE, Kex<g s sAfqemy

© iz, =i, ot 3t sifgam (D) =i, az<g o= ey

17.  TeRrSR s Tial 68 N0o, [Wiiad S o7 ST 36

(A) i, [Kewag  3e «ifaem B)  Afwr, gevRE, REwg I sAfem
© dfwr, =yfs, BB eae sifgary D) =fs, w<E Qe sifgemm

17.  Guilford f structure of intellect §HRFY FMfGsAT Main dimension of intellect W1 STT&T -
(a) Taf¥, gEmER o 537 fres |
@) fafe, gerers, SR I 337 frerg |
©  fafe, TrErei me, fw SR 5 fthers |
(D) TG TMEl, BETH SR 33 e |
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17. o 1 gfg e a % STUR, sifge e 1 ol 3URH © :
(A) ke, fasererg R afomy (B)  ufshan, Yeaishd, faweeg iR 9Rom
© s, Tfa, fema R aftomy O) Hfq, fawas R aftom

17.  According to Guilford structure of intellect, the main dimensions of intellect are :
(A)  Operation, Content and Product
(B)  Operation, Evaluation, Content and Product
(©  Operation, Memory, Thinking and Product

(D) Memory, Content and Product

18. BoT6 TR (FIFEIF TS SFHIT TRF AT 5o fowaw 21F 7

(@) SFof (b) oI (© oMy d ofs
e oSt 6 SRES @ s (h) Sfcsser
B Seqor IS Sfereat

@) (@) () (6, (h) B) (), (®).(®) (g ©  ®)©, 0 (@) D) (9, (d), (), (h)

18. (6 RS (FIFITE AR T T TR TS #HT TS AT 2

@ SFe (b) © Sz d oFfe
@ ISt 0 ARRES (g seferEe (h) Sfose
BT GBI @ AN |

@) (@) () (6, (h) B) (@), (®).(®) (g ©  ®)© ) (@) D) (9, (d), (), (h)

18. TR e TBRT Mo Tt STRHraf faforeTa gremee -
(@)  TAfT (Intensity) (b) T (Size) ()  TIEIEA™ (Interest)
(d) Wi (Instinct) (€) 3T (Emotion) () oM (Situation)
(g) SAeREAMFE (Review) (h)  JHFTE (Experience)
JR forel 9@’ -
GV CAGAGAL) ®) (@), (b)) (g ©  ®),() D (@) @) (@) (d), (o), (h)
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18. TreAfGfEd HiF-H1 HHIENT STehor k1 ATt Tt I o i © ?
(a) o (b) SR (© omR (d) WP
(¢ st (h o (® I (hy s
IS ST ol A feafaam :
A) (@) (f), (h) B)  (a),(b), (). (g) © (b)) ) () O) (), (), (e), (h)
18.  Which of the following are included in the subjective condition of attention ?
(@) Intensity (b)  Size (©) Interest (d) Instinct
)  Emotion ()  Situation () Review (h)  Experience
Choose the correct option :
A) (@) (f), (h) B)  (a), (), (6. (g) © (b)) 1) (g O) (), (d),(e), (h)
19. ©To @07 Ihe Frecs Rogts fafes cvas % 7
(A)  ZA-FEIF A FTSIE TLTSF FCIIT S T T KEI6 =T 4T |
(B) TINISIS FresoH @y ey oie gra-graree FET |
© PFEE Zagrals SIS SRS ICE 286 Fi ST Ry Sorgria |
(D) FrEFIT FEAPIER AFTI SIIACS SR 2 |
19. 63 @A BT Frvcer RSREITS smfed ova um ¢
(A) R@-FYATE A FTSIE HTZT FAAT GI ST SFNLAL (0 SIS F4T |
®) wfises Frvs @R ey W3e ga-gralar Sk |
© Fres ga-gaimd ST i 986 I AT RTINS SAgreT FE |
(D) FPSCeT FISITET ABCHI WIS FIICAT 2T |
19.  TRMEM o« HHA Heuristic method of teaching T A ®RfY -

UPT-19/P-11/L

()  TEETRRE! HTS Qe TeeaE TRl foER S seiee Swee g

(B) UGl WURTE BRIFTRET S FiT ST HEHRRT /i3 ST
©  RRIfTfE i S wfeRiRRE FEEER famreTe fefemm
(D) R WHEIHHRE! HFH Are faenifesi Aag-m
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19. frAfafaa wF-gt St faem &1 egfifies (Heuristic) TS &1 &9 H g5 €2
(A) DH-BEN HI AR T I STIREU HIAT SR THET FHIEN Qe § TRl &1 |

(B)  oft el § foneten I s1ferek Wiohar TR S=-=wN ®I ke e |

© Tees o SE-SE1 % TG § T8 H TR Hlh AMT fOua ol STTH T |
(D)  Toreror =1 1l TR Yehed o §RI foRal ST B

19.  Which of the following statement is correct regarding Heuristic method of teaching ?
(A)  Engage the students actively and help them to get solution of a problem.
(B) Inclassroom, the teacher is more active and students are passive.
(©)  Teacher presents pre-prepared materials in front of students.

(D)  Teaching activities are conducted with a project.

20. (OIS PIST C2CT Q0T ‘YR IE ATTAT’ (Storm and Stress) FIeT - O ST (I (FlgeT ?

(A)  SIHE (96 (B) BFAT T )  JIoEA D) FT

20. (FCIT FIT T 9T AT QL G’ (storm and stress) 9T T - O FAM & JCeTlizeets 2

A) ST ST (B) VoAl xA © oG D) TR

20. “Adolescence is a period of Storm and Stress’ o YT GR A ?

(A) SR SEE (B) T B Q aeHd (D) THHR

20. ‘foReiRreREen’ € UH ' WH SR WeA’’ (Storm and Stress) A § - $9 YA I foRe a1 o1 ?
(A) SIS (B) A B Q aeHd O) f&FR

20.  Adolescence is a period of “Storm and Stress” - Who said this statement ?

(A)  Ernest]Jones (B) Stanly Hall (© Watson (D)  Skinner
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21. W% KA i Sfereat
(A O S Il e iy sjfEler 23 |

B) OSH T TR Ty FfaororT 727 |

©  OSH T TR B 97’38 “i1ea, 58 9o e i Jiaerow =33 |
D) OoH TheT Ifm SN EMTT NSTS @I 554 713 |

2. WH S0 @A IT:

(A)  9FSH S JmreT e ST oA 27|

(B)  OFSH TEAIeT TG NI IawoToF =7 7|

©  9FSH e he BT 77 208 “1EH, 78 FeH el he Jasom 23 |
(D) 9FSH BT I €L TSR TS @FIEAT F94F F2 |

21.  TREMEE TReL™ qHfEE 9oy’ ?
(A)  TH GAIRI ST Steetdel RIS S |
(B)  HY GRS YIS St QA= S |
© N AT ST SRS el ST 8wl A1 9 GRS G SR I |
(D) 8 g G gHMETE TR SR SRISe TR ToRtd St | 147 |

21. Y3 foseq o1 g et
A) T 3A gfg I A g giehe 2 g
(B) TUH gftesia =afa goen gfgeha &l S 1
© TH g arr e giesha & o " § fhg t gfesia safs gfg ww= am €
(D) T Afx HI gfg 3R TeiTeTahal & o= I T Tl T |

21.  Find the correct option:
(A)  Ahighly intelligent person is always creative.
(B) A creative person is not always intelligent.
(©  Anintelligent person may not be creative but a creative person should always be intelligent.

(D)  Thereis no relation between intelligence and creativity of a person.
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22,  ©OF (FACO SYfAE IS MIrER ovae O 95T 7
) S @b gercais Koy Sfereat w1 | @) FT @b STEEeneTs S |

©) ST @Bt sTifss orat | O) T @bt Foge F |

22, 9063 @AG Sy e RarsoR oF e 8% 97 7
) I 9B gt o @@ T F | B) fAarFT OFH TREPTEeTs F |
© IS @6 TS G | (D) [T W Fogyas I |

22, TREIM I91 MM A ens AAfESRET™A (Supervision) 9R oY 72T -
A)  TEfafsrRETEn 998 TRiteEl figmmgen (B)  TEfafSREeTE Y SHTe S g
©  TrafafsErn ga gaeni fafemm (D)  TrafafsE-rn grd S g

22. Trefafaa wF-ar sty Sferes flern &1 &5 1g 78 22
(A)  Trveror Tk YoramE sl YA e 1 |
@)  TRiem T gedifieers % |
© T T |HSTes e |
O) et Aga w1 wE |

22. Whatis not correct about modern educational Supervision ?
(A) Supervisionis a fault finding activity (B)  Supervisionis a cooperative activity
(©)  Supervision is a social service (D) Supervision is a leadership activity

23, OO (@EIT SmE foqels (@ eers Sl ?
@) 79 ATEA
(b) BT TN SIF HETIBeT
() PrFea veragad
d) s e s
(€  STeCIRI MW 3
B Keg it Sfeasdr :
A)  (a),(b),(c),(d)(e) (B) (a)(c) (d) ©  (b)(d)(e) D)  (a),(b),(c) (e)

23. 9057 (FIBTE Tmisis foqe! @161 I wFeld ST 7
(@) TG ATHIAY
(b)  TBITAT STLTANST €< BeTIbet
©  Freeg sfskf
d) sl feam oo
(€  STSTERI WIKSN AfTS
BT OB ({2 ATS |

@) (@, (0),©) @) B (a)()(d) ©  (®) (@) () D) (@), (), () (e)
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23. TR 96 SEEHR Stimulus variation T HTGTETRR -
(a) TR G (Voice modulation)
(b)  FSH A SR G ST ™SR (Eye contact and movement)
(€  ®RIFRA AR (Teachers movement)
d) TISAIEAE SEHE! =A™ (Change in interaction style)
€ =TI oSl |l (Switching sensory channels)
IR fRTgE! g’ -
@) (@, (), ) B (a)()(d) ©  (b)(d)(e) @) (@), (), () (e)

23. Trefafed Sia-a1 € faerr e o1 8 ?
@) TRUET
(b) ¥ 1 HA AR fa-fafy
© Toespi w1 =a-aed
(d) IRERE fshan @1 aRads
€ A HreAw 1 uRad
s fored = T
@) @, ()@ (d, e B (@) () (d) © (b)), (e ®) (@), (b),(9),(e)

23.  Which of the following are components of the skill of stimulus variation ?
(@)  Voice modulation
(b)  Eyecontactand movement
()  Teacher's movement
(d) Change in interaction styles
()  Switching sensory channel

Choose the correct option :

@) @, (M), @) ® (a)()(d) ©  ®).@) D) (@), (), () ()
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24.

24.

24.

24.

24.

NPT T S AR T Rosawcet Tl G JRSE@ET (0T 37 ?

(A)  WARTE FE (20 SIS FIF WS S NARTE TR NARTE FIHICT I I |

(B) WP IR HRRAS NI 18 17 A1 |

©) TR FFRSTIH NARE FrFo Al (el |

(D) WP FE P WARRE TR 2001 PICGIR 7576 =TS |

TARTE TR I WARTE TRl 791 trsat 067 IRe st 191 o3 7

(A) AR FIES 367 ST I ST UL FAPTE FIRSRSF NP FIE TF5 IS FH |

(B) WA FEIF QOIS N FES (o7tw 1|

© WA FESISsE NIRRT Iy A6 (e |

(D) WA FIES Q< FIARTE FIFSRSIT Q& SRS 557 TS |

TR |t T 16 gt ffEmEt e TeE 99 98 SRR 4R 7T -

(A) TSR refeEn ST S TRE g SR i e e et arem wr e
(B)  TirEr wafe fafEmt e MR amefe J= gE |

© e wrafe fafiermen e wefaft g men e |

(D)  TirERTR wafe ST e "afs fafirEm Ji-re Jeen Jeas |l 0 |

AT e 3R Ao wreed faqm &t A= fau o gfaaei § § w7 91 wg § 2

(A)  HHH TR § GHRISH e 1 e IR Ao e foam 3 aHfdes e o ol S Hdl
gl

(B) HHfGw T faam & form wmfas e foe g €1
© MG e fomH % R AMids Weed § Yore ved €
(D) HHfGH e 3R AHfdd e faam Th-gudi & e grfhd €1

Which of the following statements is incorrect regarding mental health and mental hygiene ?

(A)  Mental health is ability to adjust and mental hygiene is science to deal with mental health.
(B)  Mental health can be attained without mental hygiene.

(©  Mental hygiene affects mental health.

(D) Mental health and mental hygiene are related to each other.
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25.

25.

25.

UPT-19/P-11/L

TFOTE FeTe WO PRI Beto el (@RI STTie ST =7 2
(@) T =ARES STt

(b) TP SfGeTR STHT

©  SPRIEATTSIS ST

(d)  STIRSRS SIS 19T

@ SSfGIeTelT STt

% g 9ift Sferear :
&) (a),(b)>=(c) B) (a), (o™= (d)
© (@), (b),(c), (d) > (e) D) (b, (d)>T=(e)

TR FIET OHTH B3 05 e (@17 TSt T = 7
(@) I FoATES STt

(b) WA SGeTod STHT

()  IINIY AITOIT SR

(d) STIWITSE ST SToTs]

@ SATSTITOR ST

5 ToaB @mars|
(&) (a),(b) 932 (o) B) (a), ()9 (d)
© (@), (b),(c), (d)93% (e) D)  (b),(d) 43R (e)

I THE T 7191 MRS A 978 G STl 7T | TS 2
() SRS

(b) T AR ST

© WEAIEE A= S

d)  HHTSSI AR S

@  Tmaf STfreTa T S

TRAM IR TRIEAREE 9g’
A)  (a), (b) 3 (c) ®) (), (c) 3R (d)
© (@), (b), (0), (d) 3 (e) (D)  (b),(d) =W (e)
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25. foreiR st 8§ forglt we forg) ot frefafaa om-d Taeenst s A i I § 2
(@) I FEEn
(b)  HHHE Hehe i THE
()  3TYUY Yaurdl skl HHE
(d) ISR TS St gHE
(€  STcAMRAr sl T
s fasweq =i g fafe :
@ (@), (b) 3R () ®) (@), (9 ¥M(d)
© (@) b)) ()M (e) ©)  (b),(d) 3 (e)
25.  Inthe period of adolescence, which of the following problems are faced by a child ?
(@)  Sexrelated problems
(b)  Problem of mental complexity
()  Problem of Delinquency
(d)  Problem of Social adjustment
(€  Problem of self-dependent
Choose the correct option :
(A)  (a),(b)and (c) (B)  (a) (c)and (d)
© (@), (b),(c), (d)and (e) D)  (b),(d)and (e)
26. JFEGI A OIfTH TN GIRRIIT SBITIAFAL I 7T C20%

UPT-19/P-11/L

GG AP wiferapt IR
@) SR E IR ()  TEoRNE
(b) ©IfgF, ST S ETvRfeed (i) TG

©  ONiT Sfoyers, AREhoyeTs e Oog Sfoyers (iii) TEeSNT

d) T, TS, SfF oe RFoaia (v) /T8

B et J1fb Sferear

@A) (@)- @), (b)- (i), (c) - (ii), (d) - (iv) B)  (a)-(iii), (b) - (i), (c) - (ii), (d) - (iv)
©  (@)- (@), (b)-(iii), (c) - (i), (d) - (i) D) (a)- (), (b)- (i), (c) - (i), (d) - (i)
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26.

26.

26.
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TR RT AT oI f[TFT WI2 BIid TERFME AN (R3TT T |

TfFred AFFTema SifeTst TBIRITAT AN
() BT 93 I () @R
(b) ©ifgs, J(AheF Qe w27 i)y TEC

©  ONfS afoyers, ARafoyers e T afoyerd (i) LR

d) e, AER, B W3t Ko (iv) I&

7 TS @R ANS |

@A) (@), (b)~(i), (c)-(iii), (d)-(iv) B) ()i, (b)-(0), (c)-(ii), (d)-(iv)
© (@), (b)-(iid), (0)-(i), (d)-(ii) D) (@)-(iv), (b)-(iii), (c)-(i), (d)-(i)

Personality types 3R forf gfofiitwrt H@! MRrEE B Sa -

Personality types Name of Propounders
(a) Introvertand Extrovert @) Kretschmer
(b)  Theoretical, Economic and Aesthetic (i)  Freud
()  Oralerotic, Anal and Genital (iii) Spranger

(d)  Pyknic, Asthenic, Athleticand Dysplastic ~ (iv) Jung
RGRERIRIRCRIRICIRDic

@) @), (b)), (c)-(iii), (d)-(iv) B) ()i, (b)-(0), (c)-(ii), (d)-(iv)
©  (@-(v), (b)-(iii), (c)-(1), (d)-(ii) ©)  (@)-(iv), (b)-(iii), (c)-(id), (d)-(3)

HfoRTcd TR I G SR T TS 1 A T 7201 ¢

feRTe TehTT Sht Tt raTS-e< &l A0
() T iR sed @)
(b)  feeh, 1Ak iR dedyao i) WIS
( il e, s o ST e (i) B
(d) eI, dreiepT, TERT SR forpahr ) IF
Y6 "l =l g fafaw
@) @-(), (b)-(i), (c)-(iid), (d)-(iv) ®)  (@)-(iii), (b)-(0), (c)-(id), (d)-(iv)
©  @-(iv), (b)-(iii), (c)-(i), (d)-(ii) D)  (@-(iv), (b)-(iii), (c)-ii), (d)-(i)
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26. Listof Personality types and their Propounders are given below :
Personality types Name of Propounders
(@ Introvertand Extrovert (i)  Kretschmer
(b)  Theoretical, Economic and Aesthetic (i)  Freud
()  Oralerotic, Anal and Genital (ifi) Spranger
(d)  Pyknic, Asthenic, Athletic and Dysplastic ~ (iv) Jung
Choose the correct match :
@A) (@)-() (b)- (i), (c) - (iii), (d) - (iv) B)  (a)- (i), (b)- (i), (c) - (i), (d) - (iv)
©  (@)-(v), (b)-(iii), () - (i), (d) - (i) D)  (@)-(iv), (b)- (iii), (c) - (ii), (d) - (i)
27. ST (SH6-T NCo (P FIoT IR R 2
(A) 113237 7[{T 18 IZF (B) 123%3F 7[T 18 I%F
€ 123%39 *[1 16 757 (D) 133237 “1a7 18 I2F
27. SIMHE (SIFACTE N0 (TR I 4%1”%‘41%?
(A) 11357 (UCF 18 I (B) 12 3I%F (I 18 IZF
© 123 (A 16 IF D) 13 I (AF 18 I
27.  Ernest Jones 1 afesa SHM (Adolescence) 1 ST fammn Siem -
(A) 11 IERAHE 18 SHR (B) 12 IR 18 SHR
© 12 SERA%E 16 SR (D) 13 SERA%E 18 SER
27.  ErnestJones % STT9R feRsiRIaEern st SArgEn fhat & 2
(A) 119 9 18 91 (B) 129 § 18 91
© 129 |16 G (D) 1391 § 18 ¥
27.  Whatis the age level of Adolescence according to Ernest Jones ?
(A) 11yearsto 18 years (B)  12years to 18 years
(©  12years to 16 years (D) 13 yearsto 18 years
28.  STAIRSI® YeTs Wt R'a
(A) TSR Fremas e Frfwwe! 59T 517 |
(B) FreT JBHCE STFenT I el T |
© fAMAer AW IR Bfa-RAR NF el a7 /TS |
(D) PreT STV STiFeTa 87 Jonsie 347 |
28.  STIESI® Yersia 26

UPT-19/P-11/L

(A)  ETOFCSF FREMIET SN FTFe! o 347
(B) FrFRET AT STIFCETA S (Ff 47|
© fAYE SIoRIAd S Rf@-Rald N e F7|

(D) FreRE SHITSS STRFETE 87 YelsR— F4 |
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28.  Summative YHHR STe -
(A) UG GUEE BRIAE §HE AR 6w
(B) IEHHUTE IR SFESREA STHARA™ U@ JeE ™
©  FETAH T RIRiEf Jier EEEThR A AE! ot e
(D) T SERM SfRETe STHARATI A& GHT AT
28. Summative Evaluation® :
(A) 90Tt e o fen YeH % gHA | el i ol )
®)  Toren o 1 gREs H Fherdn S ®R 0 T |
© TerHeT qee Sl SE-BH1 T 7H U we |
(D) Toren o <1 wEIfE H AT 1 TR G R |
28.  Summative Evaluation implies :
(A)  Judging the performance during classroom teaching.
(B) Identifying level of achievement at the time of starting of the academic year.
(©  Judging the students for remedial teaching.
(D) Evaluating the level of achievement at the end of academic session.
29. QG IShFT H AP SIS T/ BelF (FFRIT Shg W37 7
@) SRR TS Ao HHS ST AP TR 75 g6 55(15s S |
(b) SQORE F AE SRYRSEIT B |
(0 HRIFE HES N SRR SIS |
d) SRIER 2r SRJRed Ia1 (ofb |
w5 gt 91t Sfevear
@) (@< (b) B) (@) ©  (=(d) D)  (a)==(b)
29.  IFSH BT H5 Q32 BRGNS 5= Hibe (@17 Sho i um ¢

UPT-19/P-11/L

() SRIBCT 2T TATGleT HRHS SRET 9T BRIRS ToT T ghod TL5I5e SRET |
(b) RSB T 58 SRYFesEt S|

o

(© RIS NS 68 ©RYRSBET TS |

d) SIREIBET 26 BRI Io fefa |
87 Sealh 29 -
@A) (0) 93 (b) (B) () 9% (d) ©  (©49R(d) D) () 9= (b)
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29. UM G 3T (Emotion) 3TRI TEISTE T4 (Sentiment) 1 W Teraf 18 JrRRfemRm o) -
(@)  STETHRI T TSI HeX ST TrEIsTe i e "r<ifaf e 78t
(b)  STERTRRT SRIF TR TS A1 S SR
(©  STERTRRT FRISSIFR TR ST i@ SHmf
(d)  STEATH MEISTE A TS fore
JR forTet T’ -
(&) () I (b) ®) (a) ¥ (d) © (0¥ (d) D) (a) ¥ (b)

29. et ws =afaa 1 atren IR wewa geudh o f=fafed wm-dt 3t s 2

(@) 3T HE T4 1 AT oTerwen IR wEye § STYfd 1 Hifad oTamwen |

(b) ST THE TR SR IayaT sTeemh | |

(© AT THE A SR WIEyeT S § |

(d) ST THE JEyaul 1 & SR

9§ foehed i g fafa :

(&) (R (b) B  (2)¥R(d) CENCENC) D) (2) S (b)
29.  Which of the following are correct statement about Emotion and Sentiment of a person ?

(@) Emotions are uncontrolled form of feelings and Sentiments are organized form of feelings.

(b)  Emotions are permanent but Sentiments are temporary.

(0  Emotions are acquired but Sentiments are inborn.

(d)  Emotions are the main base of Sentiments.

Choose the correct option :
() (©and(b) ® (@)and(d) © (©and(d) )  (a)and (b)

30. e LG ST OO Sowi &7 ¢
(A) SfeEma (B) ESOW ©  weAtCtet (D) ey

30. PERIE G FAF QPG ST =

A) g (B) ORLWR ©  FeTCars D) <rgR
30. HiciionsEl Eom SR HEY e e -

(A) T S@IEHE (Motivation) (B) 318N (Egoistic Feeling)

(© T EFE (Attention) (D) T SIFM (Interest)

30. @A H o1 e ol e Sl ©
(A)  IROm (B) SERK AN () =W D) w4

30.  One of the factors which Obstruct learning is :
(A) Motivation (B)  Egoistic feeling (©) Attention (D) Interest
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PART - II : Mathematics & Science
(Candidate has to attempt Part - II or Part - III)

[ Candidate has to attempt Part-II or Part-III which they have
given in their Application Form and recorded in the OMR
Answer-Sheet |

31, A% GO (oifeTaa TP G391 F41 27, (O08 RIIeT SIS o 2°7 7
A 1:2 B 2:1 © 1:4 O 4:1

31. AW QFOT (T T TR T =, SE OITH POET CFA(eTd SIS F6 I ?
A 1:2 B 2:1 © 1:4 O 4:1

31, Y 9@ TG qEeEl W SR ST Jaf | St S sHai S ?

@A) 1:2 ® 2:1 © 1:4 D) 4:1

31. I T e ot e S o e ST, o« S &1l bl STATG fohaaT &1 2
A 1:2 B 2:1 © 1:4 O 4:1

31.  If the radius of a sphere is doubled, then what is the ratio of their surface areas ?

A 1:2 B 2:1 © 1:4 O 4:1

32. 19T 3od FT© (FIAT UF YOI 6 I2IF JI6 60% I =7 | (1% QTF2 o FF© 12,000 TFF 3 7239 JI©
b © U 2’T 7

(A) 2160 (B) 3120 © 3972 (D) 6240

32. SRS W XA (@F1F T ToTKT 6 T2 60% Ja 1T | (T2 QI3 0 R 12,000 GIFIF 3 I2RA b 30

FORE ?
(A) 2160 (B) 3120 © 3972 (D) 6240
SPACE FOR ROUGH WORK
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32. 7ol g AFM EMESTET S SRHM 6 SR SE ST SRl 60% IREe 9 T HdH greH!
12,000 T 3 SERMA 376 FTRESE Al S S0 ?
(A) 2160 (B) 3120 © 3972 (D) 6240
32,  HIYRY N o X Y fohelt Toh FoTeq i 6 o6 H 60% Ifg g5 | 6 Tk & =S o < F 12,000 1 3 T8 6
IS ThgfG AT fha grm 2
(A) 2160 (B) 3120 Q 3972 (D) 6240
32.  Thereis 60% increase in an amount in 6 years at simple interest. What will be the compound interest of
12,000 after 3 years at the same rate ?
(A) 2160 (B) 3120 Q 3972 (D) 6240
33. i GOTeT STeTE@F 9 A(1, 2) = B(6, 2) 3, (o0 AB (F4TTle :
(A)  ITENE @ T TNFIT y =2 (B) ToTF @ATTIFIHFIA y =2
© S eNE @ TF STHFIT 1 = 6 (D) TR @I TFITx =6
33.  Fft GSfH T dd g A1, 2) 932 B(6, 2) =, B AB @215
(A) T NE @ IF THFIS y =2 (B) TEE @A IF NIV y =2
© ITeiE @ IR NFATx =6 (D) TFF @A INFIT =6
33.  HIFY M giE faist A1, 2) 3R B(6, 2) ST 3TscT AB SEsT S |
(A) B!, S SRR =2 (B) AR B! of TRy =2
() TTEl gl A FHFI™ x=6 (D) IR @l df T v =6
SPACE FOR ROUGH WORK
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33. 3fg T el Y o fag A1, 2) 3R B, 2) §, T9 AB W@ 21T

() &fast e e g €y =2 (B) AR W@ fTEH THiw € =2

©  &fast Y forms g § v =6 (D) SR @ g g g =6
33.  If points of straight line are A(1, 2) and B(6, 2), then the line ABis:

(A) Horizontal line with equationy=2  (B)  Vertical line with equation y =2

(©) Horizontal line with equationx=6 (D) Vertical line with equation x=6
34. 7 -3 SN0 whie e @roreet 357 | SNTIR6E T Gfiress I 274

@A) 112 ®B) 126 © 119 O) 116
34. 7-97 foAfl o S @Rt 357 | SRR (=6 B 77 267 :

a) 112 B) 126 © 119 D) 116
34, 7 HHLM IR SIS TSI 357 SRS SR e STy STf~<THren S&e ?

A 112 B) 126 <© 119 (D) 116
34. 7 i ShiHh TRIAR UMk GRT%e 357 ¥ | Fod BTl 70 © :

Aa) 112 B) 126 © 119 D) 116
34.  The sum of three consecutive multiples of 7 is 357. The smallest multiple is :

@A) 112 ®B) 126 © 119 O) 116
35. 1.101001000100001....... ST

(A) OB Frolf STt (B) b 7fef 57T

© b sifsor sieast (D) OO Spoifaemg sigast
35. 1.101001000100001....... ST 2T -

A) a3 Frelfas et

B) Q3 ofef 7T

© 95 AR T (rational number)

(D) Q3B AR AT (irrational number)
35.  1.101001000100001 3Af<THMET SRl :

(A Taferm stfmn (B)  S% 3=

(© TS T ST (D) TFSiEe i3 stf<m

SPACE FOR ROUGH WORK
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35.

&M 1.101001000100001 . . . . . . .
(A) T UThd HEAT (a natural number) B) Th Tﬁ H@&A (a whole number)
© Th i §en (arationalnumber) (D) U&h STIfea §e (an irrational number)

35. The number 1.101001000100001....... is:
(A) anatural number (B) awholenumber
(© arational number (D) anirrational number
36. 12 — J75 + 27 I WF T
@A) V12 ® 0 © 3 O) 23
36. 12 — 75 + 27 G NAFE ?
@A) V12 ®B 0 © 3 O) 23
36. 12 — 75 + J27 T O SEE
(CVINT) ®B 0 © 3 O) 23
36. V12 — 75 + 27 FEHAT :
@ V12 ®B 0 © 3 O) 23
36. Thevalueof /12 — /75 + 27 is:
(CVINT) ®B 0 © 3 O) 23
37.  9f% 4051 I8 Rerzgets, 5001 ¥ TENT ST 27, (568 376 JT (STIFBIET ol 27
(A)  25% CeTIEBI (B)  20% CSTIFEI © 25% sie D) 20% sife
37.  ft 4001 RS0R Regsts, 5007 RSeR @gens SINH 27, B& &6 T TR 7ol F6 303 7
(A)  25% (ST (B)  20% TeTIFIN © 25% e D) 20% e
37.  SIf< @M 40 SHRH R S&Ts, HM 50 SHGH SR S80S 99 ST, 376 Ah ST @el SR
SIS SR |
(A)  25% @@l (B)  20% el ©  25% TR (D)  20% TR
SPACE FOR ROUGH WORK
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37.  afg 40 agsii o1 fosht a1, 50 aEgsil & % Yo & UM T, T8 1Y AT ThH 1 Faerd 20
(A)  25% JRHEH (B)  20% JHEH © 25% 4 (D) 20% <4

37.  If the selling price of 40 articles is equal to cost price of 50 articles, the loss or gain percentage is :

(A)  25% loss (B) 20% loss © 25% gain (D) 20% gain
5x 2x
38. At~ 4=, ©®a-7=7
19 B 13

5x
38. M 3 4= - =, 0@ 2u-7=?

19 13 13
@ 3 ® ~1 © o O

5x 2x .
38. fe 5 4T ?,WWZJC—7=3F@EHW?

19 1 1
@ 33 (B) 19 © o ) T

38. At 2% _ 42X qeox—7=2

3 5

A 19 N 13 0 13

If Xy X then2x—7="?

38. 3 5 en2x—7=7
19 13 13
@ 13 ® ~ 9 © o ® 79

SPACE FOR ROUGH WORK
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39. 0T TRAT, T UF GOl MATELF T 20% NP 50% J% | AT {OIF TS 2T
A) 2:5 B) 3:5 Q 4:5 D) 6:7
39. T30 T 5 QHTH TOR FLAF (AF TA@ 20% UL 50% @I | S T 72167 TS A
A 2:5 B) 3:5 © 4:5 O 6:7
39. T Al e HY o SAfmigg wIid 20% SR 50% SR ST ST JiA- S5 S
E|]i|‘_‘|2
A  2:5 B) 3:5 © 4:5 O 6:7
39. 3TR T WA, 3T U TG HEA o hH A 20% 31X 50% ST S| a1 ST At =l ST B
(A) 2:5 B) 3:5 Q 4:5 D) 6:7
39. Twonumbers are respectively 20% and 50% more than a third number. The ratio of the two numbers is :
A) 2:5 B) 3:5 Q 4:5 D) 6:7
40. TIM32=2X ¥, X -INEXI:
@ 1 B 2 © 16 O 5
40. M 32=2X 3¥; @ X -WI N9 F6 2(J ?
@A) 1 B 2 © 16 D) 5
40.  9fc 32=2X S eFeen X 1 HAT M ¢
@A) 1 B 2 © 16 D) 5
40. A 32=2XT, X 1 UM BT
@ 1 B 2 © 16 O 5
40. The value of X, if 32 = 2X, will be :
@ 1 B 2 © 16 O 5
SPACE FOR ROUGH WORK
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41.  17abc, 34ab?, 51a°b -3 SIS TCAHS 77eT

(A) 17abc (B) 17ab © 17ac (D) 17a%b%c
41.  17abc, 34ab?, 51a%b Q3 STILFT GV 26T

(A) 17abc (B) 17ab (© 17ac (D) 17a%b%c
41.  17abc, 34ab?, 51a2b 9 7t fegafifan smie -

(A) 17abc (B) 17ab © 17ac (D) 17a%b%c
41.  17abc, 34ab? 51a2b I TH 37694 T :

(A) 17abc (B) 17ab © 17ac (D) 17a%b%c
41. Common factor of 17abc, 34ab?, 51a2b is :

(A) 17abc (B) 17ab © 17ac (D) 17a%b%c
42. (m, —m) RO &7 @FEHE TS SRS 7

(A) x=-m B) y=m © y=x D) x+y=0
42. (m, —m) YT e @F 9o s-Fs 7

(A) x=-m B) y=m © y=x O) x+y=0
42.  (m, —m) o<1t MR 6 HFE FHFIRE e ?

(A) x=-m (B) y=m © y=x O) x+y=0
42.  (m, —m) o F T2 -1 iR sTafeed § ?

(A) x=-m (B) y=m © y=x O) x+y=0
42.  Onwhich of the following equations, the point of the form (m, —m) lies ?

(A) x=-m (B) y=m © y=x O) x+y=0

SPACE FOR ROUGH WORK
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43. 871 5@ %191 PM -I WIF 3747 :
(A) 3cm (B) 4cm © 5cm (D) 2cm
43. &3 5@t (WF PM - QI NI @F 39 7
(A) 3cm B) 4cm © 5cm D) 2cm
43.  TiSHeTE SFE AERMRwE PM 1 7@l fogT |
(A) 3cm (B) 4cm © 5cm D) 2cm
43. TR T T 3MHR H, PM 1 AHE BF1 :
(A) 3cm (B) 4cm © 5cm D) 2cm
43. Intheabovefigure, PMis:
(A) 3cm (B) 4cm © 5cm D) 2cm
44. OB @91 259137y, 10 5137 SN 5 37T @i 1: 2 : 3 Fgoites Mg | Ik @6 5 30 55T 3107, (668 (@516
eiE 5 “i2wiT yar g ?
(A) 50 (B) 100 © 150 (D) 200
44.  OFf0 IS 25 AT, 10 S=RBT QL 5 2RPIF (& HG 1:2:3 | % 19ifGce (i 30 Bt 1S, S
Fisiore Foafet 5 TTF Jar =y 2
(A) 50 B) 100 Q 150 (D) 200
44,  TIY TAETE 25 T, 10 AT SR 5 et en e wifd 123 ® S@mEE E 1 i wAmEmE T 30 1 g
3TeE1 TG 5 Tt e e S € 2
(A) 50 B) 100 Q 150 (D) 200
SPACE FOR ROUGH WORK
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44, UHETH, 25 T 10 FH1 SR 5 W R R R UG 1:2:3 71 AR ITH FAL30 T, 79 S H 5 T ot fohat
gl =t ?
(A) 50 (B) 100 © 150 (D) 200
44. In a bag, there are coins of 25p, 10p and 5p in the ratio 1 : 2 : 3. If there is ¥ 30 in all, how many
5p coins are there ?
(A) 50 (B) 100 © 150 (D) 200
45.  9Bf fagsT AP0 T x cm, (v+1) cm B (x+2) cm, Fa@SICOr STHHN 27 0eT x -I W2’
(A) 5cm B) 3cm © 6cm (D) 4cm
45. OFfG fagTsE IRSBTT 719 x cm, (x+1) cm GIR (v+2) em, @ SID T 20eT 1 -9 TF 21
A 5cm (B) 3cm © 6cm D) 4cm
45.  HIFY ST STEf-2rmRA JET R x cm, (x + 1) cm 3TRI (x + 2) cm, STRETTHT STRT- 1Y STl
x T | S e S
(A) 5cm (B) 3cm © 6cm D) 4cm
45. T T & el & @96 x cm, (x4+1) cm 3R (x42) cm T TR AR GEROT ¥, 99 1 H AW
BT
(A) 5cm B) 3cm © 6cm D) 4cm
45.  Lengths of sides of a triangle are x cm, (x + 1) cm and (x + 2) cm, the value of x when triangle is right-angled
is
(A) 5cm B) 3cm © 6cm (D) 4cm
46. 7% TS 53 TS 30,000 GF1F b J© T 4347 5T | (B0 SN 2T :
(A) 2323 (B) 253%F © 333 (D) 4373
46. IMNT 7% T T 30,000 CIFT 5@ 0 3 4347 BIFT | S STHIFIET IA
(A) 23%7 (B) 253%F © 33/ (D) 43%F
46. SMERE 7% BRE g AN 30,000 i SRS FaT 4347 I ST ST FHI ST -
(A) 29ER (B) 259MER © 39FER (D) 49ER
SPACE FOR ROUGH WORK
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46. 7% A AT o X G T 30,000 T Th(G TS T 4347 T | STH! THIA HHT BN

a) 29" B) 2599 © 3=d D) 4 9
46. The compound interest on< 30,000 at 7% per annum is I 4347. The period is :
(A) 2years (B) 2.5years (© 3years (D) 4years
RO EOJE
- + |2 == _ T -
N [N S ) —
81 16 81 169
) 484 ®) 81 © 169 ®) 81
RO EOJE
— + | — - | —
N 6N S
81 16 81 169
) 484 ®) 81 © 169 ®) 81
-2
N2 3l
— + | — - | — .
v (-G e
81 16 81 169
) 484 ®) 81 © 169 ®) 81
RO EOJE
— + | — - | — .
47. (2] (3] (J FHUAE :
N 5L 1 81 169
() 484 81 © 169 ©) 81
-2
G- G-6
47.  Thevalue of 2 3 4 is:
81 16 81 169
) 484 ®) 81 © 169 ®) 81
SPACE FOR ROUGH WORK
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48. {100 —(99)% x 100 -3 WiF 2’7 :

(A) 10000 (B) 9900 © 99000 (D) 1000
48. {100 —(99)Y} x 100 €T W F© ?

(A) 10000 B) 9900 © 99000 (D) 1000
48.  {100—(99)%} x 100 T HF1 S :

(A) 10000 (B) 9900 © 99000 (D) 1000
48.  {100—(99)°} x 100 T AF ¥ :

(A) 10000 (B) 9900 © 99000 (D) 1000
48.  The value of {100 —(99)%} x 100 is :

(A) 10000 (B) 9900 © 99000 (D) 1000
49. TER (PO STRATT I9MeT QBT AR AT 7 7

@A 7 B) 1.96 © 0.05 D) 13
49. T @F TLBITI I QTG S0 5122t 201 7

A 7 (B) 1.9 © 0.5 D) 13
49. TRHM 96 Y i anfen Tesiaens 731 eif<rn 2

@A 7 B) 1.96 © 0.05 D) 13
49. T feu Semsi ® frgs o s ufds gen § 2

A 7 (B) 1.9 © 0.05 D) 13
49. The square root of which of the following numbers is rational ?

@A 7 B) 1.96 © 0.05 D) 13

SPACE FOR ROUGH WORK
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—1
50. ?j@ ;o,ygﬂ"ﬁf’i’a:

1 1
@) -1 ® 1 © 3 ®) ~3
50. %y IS, y Q7 3RS (<
1 1
@) -1 ® 1 © 3 ®) ~3
50. —Ty S Wi i 7 eregamn S ¢
1 1
@) -1 ® 1 © 3 ©) ~3
—y )
50. T H, i U € :
1 1
@) -1 ® 1 © 3 @ =3
—1
50. Coefficient of y in the term 3 is:
1 1
@) -1 ® 1 © 3 ® ~3
51. @B psf, QB! =% 3 0T LTI Gl S Tho! ST | PRed Aedd SIq9ie 2°3 :
A 4:5:7 B 3:1:2 <© 1:2:3 O 3:2:1

51. @0 Siferaa, 9Ffh 1% @ (ST AT (oIfeTda g W3R Sho! ST | BIt| ST TS F 7
A 4:5:7 B) 3:1:2 © 1:2:3 O 3:2:1

51.  HFY B, By TYH HelfH (cone) 3R W1 SiGH( BT 3TRI ST 99, STeet foraRf Jsff & s
ST

A 4:5:7 B 3:1:2 © 1:2:3 D) 3:2:1

SPACE FOR ROUGH WORK
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51. U fGoiet, Tk T IR T Tl o1 YR 3R o T9M €| Seh ST ol 3191 8T
A 4:5:7 B) 3:1:2 © 1:2:3 O 3:2:1

51.  Acylinder, a cone and a hemisphere are of equal base and have the same height. The ratio of their volume
is:

A) 4:5:7 B 3:1:2 <© 1:2:3 D) 3:2:1

52, 83x24-IF A :
@A) 167 ®) 283 © 2 D) 8*

52, 83x249QI VT ?

A) 167 ®) 213 © 210 (D) 84

52. 83 x 249 |ET ST

A) 167 ®) 213 © 210 (D) 84

52. S3x24HHMT:

@) 167 ® 21 © 210 ©) 8

52. The value of 83 x 2% is:
A) 167 ®) 213 © 210 (D) 84

53. ©e] A0 fows® (@FI0T 3 F Retss ?

(A) 23879 (B) 23175 © 11722 (D) 77251

53. 57 seAstasferd wons @G 3 i e 2

(A) 23879 (B) 23175 © 11722 (D) 77251

53. TR S SIfMEeRMA TSd 9 JE9ar 3 S TS 2

(A) 23879 B) 23175 © 11722 (D) 77251
SPACE FOR ROUGH WORK
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53. frfafeaa densti § @ sF- 3 gr faam g 2
(A) 23879 (B) 23175 © 11722 (D) 77251
53.  Which of the following numbers is divisible by 3 ?
(A) 23879 (B) 23175 © 11722 (D) 77251
54. 0T 51T G 3 : 5 1wt GrIibr SIS 1t 9 f{eter FT 2W,  RUNFITIIT JFoe =7
12:23 | S ALAIOR NF T :
(A) 49 (B) 55 © 33 (D) 27
54. HfG AR GG 3:5 | T 73H T (A 9 st T4t =, O A% 557 SIsie = 12:23 | (b
SeHBa T 21 7
(A) 49 (B) 55 © 33 (D) 27
54. T ST SAT 3 : 5, SHR HRHRE 9 SHE "2reet e STfrdn e 12 23 S| e st
AT ST
(A) 49 (B) 55 © 33 (D) 27
54. TGOS H AU 3 : 5% | A Uik WA W 9 FTA1 SR, T G 1 ST 12 : 23 TN | Tod SIS G
1 T BT
(A) 49 (B) 55 © 33 (D) 27
54. Two numbers are in the ratio 3 : 5. If 9 is subtracted from each, the new numbers are in the ratio
12:23. The smallest number is :
(A) 49 (B) 55 © 33 (D) 27
55. (—1)"l-3yF a7
A 1 B -1 © o O @O
55. (—1)"lag W Fe ?
A 1 ® -1 © 0 O @
55. (—1)" 17 A S ?
GV ® -1 © 0 O @
SPACE FOR ROUGH WORK
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55. (—1)"leHHAAT:
A 1 ® -1 © 0 ® @
55.  Whatis the value of (—1)~1 ?
A 1 ® -1 © 0 O @O
56. 8a=(35)2—(27)? R a-INF 2T :
A) 8 B) 60 © 35 D) 62
56. 8a=(35)2—(27)%3(eT a - Y NI P 3(J ?
A) 8 B) 60 © 35 D) 62
56.  SIf< 8a=(35)2— (27)2 ST a T AT SIFTH |
A) 8 B) 60 © 35 D) 62
56. A€ 8a=(35)2—(27) ¥, a T OH BT :
Aa) 8 B) 60 © 35 D) 62
56.  If 8a=(35)2— (27)? the value of a will be :
(A) 8 B) 60 © 35 D) 62
57.  4f% BT Dot TR M S She! 13T FI1 W, T8 HOIOR +oaife fFme 2°7 7
(A) 19T IR (B) W& A7 © g3d (D) fsHad
57.  Aftt @5 BIfTSIER (cylinder) TP 3025 U3L Ttho! fa@3d F41 50, S PIfTGRTGI 5P6ER (surface)
AT Fo 301 7
(A 19FH@ECANE (B) U2 UIFE © Tagd (D) fora3e
57.  HIFY TG TEmET Wad S AR S S W s g | e a¥e S 2
(A) 9 IR (B) S UFIA © EE S (D) R STFIA
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57. afc U facist ot = smelt oiR o gt R < W, e Taeiet 1 st &the oo 2 2
A) 1uniPEFSTM  (B) THEM © T O
57.  If the radius of a cylinder is halved and height is doubled, then what will be the surface area ?
(A)  Increased by 1 unit? (B) Thesame
(©  Double (D) Triple
58. DT I2om TIPS, 561K SBIRIT STHIN -
A) ISR (B) TIPS Y R
Q) ST 374 7R (D)  STUATIF S AT
58. D I=°M AT AIST JpFB T 5T
(A) BN AT (B)  49Tar® I ST
Q)  STACTAF IL LT (D) AT LY T
58. TS ¥ AT SATTHT SRS A :
(A) e St (B) TSTAUM G S~
© TFE'9EAS aEEs S (D) TNEYME S SREEsTd <
58. e 9gUS H, THYN SRUSH o Wi (Exponents) &1 & :
(A) TTITEF (Integers) B =7 ‘{_[UITEF (Positive Integers)
Q RIRR E[UﬁEF (Non-negative Integers) (D) EEELY T’ﬁaﬁ (Non-positive Integers)
58. Inapolynomial, the exponents of the variables are always :
(A) Integers (B)  Positive integers
(©  Non-negative integers (D) Non-positive integers
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59. QU 9939 S[OIfeT IAE QBT (ANeTFa 7RI 5 | PRes S STe 27 :
@A) 3:Jan ® w3 © 6:57 O =6

59. Q5 IAE (cube) DS (FATT GFH (SIS PO CFAT(ET STF | ST SRS SIS F6 ?
@A) 3:Jan ® w3 © 6:57 O =6

59.  HIE SAM (cube) T @Ifel 3TRI AIFE s@ S€1eH | @ifersii G941 Sriteet foreRi= T SS€m&n S |
(A J3:aw B w:3 © 6:5w O Jm:J6

59. Ueh UM H1 TS ST 3R Tk Tl 1 TS &l THM €| 3ok ST i STUTd &1
@A) 3:axw B m:3 © 6:5m D) Jr:/6

59. The surface area of a cube is equal to the surface area of a sphere. The ratio of their volumes will
be:
@A) 3:Jan ® w3 © 6:57 O V6
627 _

60. —2«/5 ?
@) 349 ® 6 © o3 D)  eoiva abie 721
627 _

60. —2«/5 ?
@A) 349 ® 6 © 93 D)  TAE GBS T
6N27 . .

60. ENGE = S9dl S ?
(CVENG) ® 6 © 93 (D) TISH e 5T
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60. EN ?

@) 39 B) 6 © 93 D) T o T

627 _
60. ﬁ =

A) 39 B 6 © 93 (D)  none of the above
61. sifeTamaw I5T “AfeTieor (20g :

A) e (B) T 66 © R (D) R0
61. AfTormIzT AT femafs 2

NG GRl (B) T3 66 © e (D) Q&R0
61. UfcTTATES T gfe™r STTem :

(A)  THEH (Teflon) (B)  EEH 66 (Nylon 66)

© ffem (Terylene) (D)  deheTise (Bakelite)
61. UifcrATES T aTel sigetsh (W) © :

(A) <IN (Teflon) (B) TN 66 (Nylon 66)

(© A (Terylene) (D) ThaES (Bakelite)
61. Polymer thatcontains polyamideis:

(A) Teflon (B) Nylon 66 (©  Terylene (D) Bakelite
62. CuSO, -3 ¥d QOIS &1 (Zn) T4 fircet F9017 (Cu) S shHFg 27 | 31F SR 2T

A foess Koo g (B) CuSO, - SERCIIT TCH

© s wrae =cs D) SO3 wiEes e weB
62. CuSO, 9T 9Ffb T 18T (Zn) T& FA1 20T, FI1F (Cu) SRS 21 97 FIRT 29 -

) s Tsae 9 (B)  CuSO, -9 SIE [T «CH

© TESewa SR 96 (D) SOF AR fRrtiaet <G
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62. CuSO, 1 AF¥ Sera Jaral e (Zn) $T& STt R (Cu) 371 QY fHsnes @ | S SR Ste -
NIRSEIRCLIREIE| (B) CuSO, 3 AFRIAST
© TS e D) SO3 ST EHEarET
62. CuSO, 1 Za9 T f5ieh (Zn) & Sre | Cu 74: e B €1 STl IR0 §
(A)  Zn 1 fI=Ro B ¥ (B)  CuSO, %1 3% foreetsy Hea 2 |
(©  Zn ™ SART T | (D) SO3 3T 1 fastRw wrear 2|
62.  When Zinc (Zn) is added to a solution of CuSO,, Copper (Cu) is precipitated out. Itis due to:
(A)  Znisreduced (B)  CuSO,is hydrolysed
(©) Znis oxidised D) SOi_ ion is reduced
63. ®F (307 WF OOt dfFm 1S
(A)  ATP f3piest =ifeq 5167 2%
(B) *fes 43637
(O  AMF 7[T*RS 5fS (=% ATP RRBics s167 =7
(D) =fes f[9sfe 723
63. = I WY 300) UF 4FAF AT TS
(A)  ATP B3R IG5 5167 27
B) eI
© AW @ i [75® 3@ ATP 211 5767 27
D) =fs Fsfe =7 ar
63. Tl MM ST FAT A2 S Hid

(A)  ATP A Tfoa@l SHYAA

(B) WGl SRR

©) TR VfEE! TIRATT TR ATP Held SHYEAE
(D) WfRTE! TR ST

UPT-19/P-11/L
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63. 'TaEA’ U UH WHHA T S
(A)  ATP® &9 H Sl Gied = g1
(B) &I (Energy) T B ol
© T W el I S ATP & €9 H Hod i ¢ |
(D) il o Tél BT B |
63.  Respiration is a process in which :
(A)  Energy is stored in the form of ATP.
(B)  Energyis consumed.
(©  Energy is released from food and stored as ATP.
(D)  Energy is notreleased.
64. SIS BT R e [73 CFdo AT IO U513 IS %S s F1 M7 | T (FIFR1T 7 7
(A) E=0,B=0 B) E=0,Bz0 (© E#0,B=0 (D) E#0,B#0
64. I FF R 3L pFII OF(@ SLALT IO G5 JOR 21 231ZS 20071 067 (ARS8 7
(A) E=0,B=0 B) E=0,B#0 (© E#0,B=0 D) E#0,B#0
64.  STTE T HifseraniR TR Graeh( fofreTa =St (Charge) THT HIMY =TT SGHTR SATHTETS GIRATEA S | TR
EEKCIRRISIDICHE
(A) E=0,B=0 B) E=0,B=0 (© E#0,B=0 D) E#0,B#0
64. TrTe feer fagd oiR grareh &= H 3Ne™ o iRt Ieita g § TIfd X W@ 1 A B BH-H I | 2
(A) E=0,B=0 B) E=0,B=0 (© E#0,B=0 D) E#0,B#0
64. A charged particle moves along a circle under the action of a possible constant electric and magnetic field.
Which of the following are possible ?
(A) E=0,B=0 (B) E=0,B=0 (© E#0,B=0 (D) E#0,B#0
65. WefaR R Rewers Seve i @ anst fit 23 2
(A) BaF,+CaF, (B) CaF,+NazAlF, (O) Fe,05+SiO, (D) NaF+AlF,
65. SEEINAIR Rigse ferce e et @AfS g5 Far = 7
(A)  BaF,+CaF, (B) CaF,+Na,AlF, (C) Fe,05+SiO, (D) NaF+AlF,
SPACE FOR ROUGH WORK
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65. UM Hifseral fafRferme TemEe EFM Je/E! SRR S

(A) BaF,+CaF, (B) CaF,+NazAlF, (C) Fe,0O;+SiO, (D) NaF+ AlF,
65. AR faga favemo & F= fed 7™ -1 90 S €2

(A) BaF,+CaF, (B) CaF,+NazAlF, (C) Fe,0O;+SiO, (D) NaF+ AlF,
65.  Which of the following is added in electrolysis of alumina ?

(A) BaF,+CaF, (B) CaF,+NajAlF, (C) Fe,05+SiO, (D) NaF+AlF,
66. ©eTe AT (e’ (ST 97 W bGRIAT el 8% @HbT (307 :

(A)  HOCI>HOBr> HOI (8)  HOI>HOBr > HOCI

(© HOBr>HOI>HOCI (D) HOBr>HOCI > HOI
66. 96 e JB1CTCS1A] SHTSBIRTOS AT TG B @nfG T

(A) HOCI>HOBr> HOI (8) HOI>HOBr > HOCI

(© HOBr>HOI>HOCI (D) HOBr>HOCI > HOI
66. TR M S S 37 THSHRIM TES o wifEn STem

(A)  HOCI>HOBr> HOI (8) HOI>HOBr > HOCI

(©  HOBr>HOI>HOCI (D) HOBr>HOCI>HOI
66. T fU T A o STl 3T (Oxoacids) T ST 1 5 FH © :

(A)  HOCI>HOBr > HOI () HOI>HOBr > HOCI

(©  HOBr>HOI>HOCI (D) HOBr>HOCI>HOI
66.  The correct order of acidity of the following oxoacids of halogens is :

(A)  HOCI>HOBr > HOI () HOI>HOBr > HOCI

(©  HOBr>HOI>HOCI (D) HOBr>HOCI>HOI
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67.  JRMITS AT B (X(F
(A) AW TR (B) AWy WY ©) TbeETS| e (D) AHST e
67. IS JUT NS S 2
(A) AW TR (B) AT B
©  TTCETITSE AT (D) e CTEe
67. QU SIS TR GIHIT STelr
(A) SRR HeH AE= (B) SRR SFYAT
©  SISE! S G (D) < GreH aHE
67. TES I T HH T :
(A) @ e (B) W HIA © IqAEFHAEE (D) A S
67.  Main function of large intestine is :
(A)  Absorption of food (B)  Storage of food
(©)  Digestion of cellulose (D)  Absorption of water
68. IIE0F ©oTF (FFRT TAMT ?
(&)  SRrom IR (B) (SPIF FINEA
©) TS SIS (D) (A) I (B) {JTIE
68. FIIA 6a 5 47t S 2
(A)  HLATT ARF LTI (B) =aF FF AR
© TS S D) (A3 (B2
68.  THISSI TR S&If TCTH :
() U el eRrEEE ®) T fSafg =
© s faem D) (A)3T (B)
SPACE FOR ROUGH WORK
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68. ‘rsfed’ freAifend & -9 SUH ¥ ?
(A) TS T TFHIEHRTATH (Exoskeleton) (B) — hiTel ¥t ol
© R A D)  (A) ¥R (B) T
68.  Chitin is a component of which of the following ?
(A)  Exoskeleton of an arthropod (B)  Fungal cell wall
(©  Plasma membrane (D) (A)and (B)
69. SR ERSCE 71 YIfeT AT QBT Bell] 8b® BT 1 0T AMCx | FOICOIE [H5(S @it St s @of e
qPI
(A)  FOIGR ST 8rte (B) TR EBRYT 9999 39F©
© FONOR [ FE R TRET SHolI @Te (D) (A) 3N (B) {0
69. B U S U6 SYS Aad f6a e W 2ib m oim | 83 g (IF @9 2831 57 BT (@5
ST FE AT :
A Toufba trawEd 8@
(B) &I AT TR 1R
© afb (I 9 2633 BFet *mr G Tl 394
D) (A)93R(B)75R
69. TG T TSl 76 &I TSt U AT e 4 R et € 1 T ATERE™ od are ga
TrRafor AR
(A) TS @At ErETE (Area of the hole)
(B)  TE I el IS |ramel (Density of the liquid)
() TR E1E A6 YA S | (Height of the liquid from the hole)
(D) (A) ¥ (B) FTI
69. TUI E Y YUl Uk e ol I A T Bl foR § | fog | frfa 2 aren woa aared & o iR T8 o6
(a) TEEFaEw (B) UUF U1 % ¥ (density) T
© T8 % 9oy uee § Al W (D) (A) 3R (B) IHI
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69.  There is a small hole near the bottom of an open tank filled with a liquid. The speed of the liquid ejected
does not depend on:
(A)  Areaofthehole (B)  Density of the liquid
(©)  Height of the liquid from hole (D) Both(A)and (B)
70. ACFNT (F@w, SThecst
(A) TN QT TSl AT | (B) NSNS GIIT TFGICT AT |
© 9B 2$e I 991 TFSIE AT | (D) YOI T 939 eFeld AN |
70. ATHT CFC@, STTO@eT
(A) ST QAT 394 TSI AT |
(B) TS QI 3G TRSIT ANE T
© 9T YZOF T QAT 89 TTHGIE AT |
D) 95 (3T T G 397 TRSI AT |
70. U™ WRUTEE (Projectile motion) AT ST :
(A) SIS YR iR o (B) WSS QR SiTR €T
© TF<E a9 arEad’ SRIGTAY diR a9l (D) QI SEi OTE SR iR o
70. W& 1 & H, e €
(A)  THIM T H o €Y Y T € | (B) T RO H T qF Y T @
O THIERfuEmaTE@ I adw®a@s! (D) < 9FF H @0 o 96 9 W T
70.  Ina projectile motion the velocity :
(A)  is always perpendicular to the acceleration.
(B)  isnever perpendicular to the acceleration.
(©  is perpendicular to the acceleration for one instant only.
(D) is perpendicular to acceleration for two instants.
71. T WS AT cenfoafg cotat T
(A) WEZe (B) oMT=Te © WPTE D) e
71. (I (Caesin) FIHI 21T ToHBF (FIRT ST T 7
(A) wR ®) T © W O) fore
SPACE FOR ROUGH WORK
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71.  HfoA g SERM gfeat 9
@) T ®) T © o O) fos
71. A Tk FION Sfe © S O S
(A) T d B) 3TUH © wHYH (D) <ISTH (Cheese)
71.  Caesinis an animal protein found in:
(A) Fish (B) Milk (©  Meat (D)  Cheese
72. 33 4RI W(®, SEES
(A TNGHRCa B)  EceTgcad © BT wre D) BT a¥er
72, T3-9F LR NS, SFBfeT 26T
A) oS Rcad B) ZEFFCAN Q) T wret (D) TG a5ret
72.  EM A<ty sifed ufaewRy e
(A) Fefetafred (Nucleophile) (B)  SoiRfHRd (Electrophile)
(©) Y& TENR (Proton donor) (D) 9T ATSEn (Proton acceptor)
72,  EE I 9RO (Concept) Ed HATHR, 3T+T (acid) gl
(A)  TfFRTR (Nucleophile) (B) TSN (Electrophile)
© IS S (Proton donor) (D) I Wikl (Proton acceptor)
72.  According to Lewis Concept, acids are :
(A)  Nucleophile (B)  Electrophile (©  Proton donor (D)  Proton acceptor
73.  CAfoT ST ST IFI TS FAT ATCS, INI7{ 578 F97 *1976 ©eTa (FIFGT A6 NiF S5 27 7
(A)  FERE (B) GBI © == (D) ©IBF @
73. AT AT AR IHF 0 I I, SHAFIR 38 FAT <10 067 (@10 FRSWIToH 717 S5 27 7
(A)  FoAITE (B) RIS © == (D) A @St
SPACE FOR ROUGH WORK
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73.  Siscll AATST A AN e T, TersT QHfsRaiemr dieerd e s Sl qHET SRl ST
(A) @iRE (Frequency) (B)  TIUIT IAATE (Wavelength)
©  TERfI (Amplitude) (D) T WY (Wave Velocity)
73. 9 379 Ak 7 | arq=id & ¢, 99 9 Gie H e s # FAfafad se-91 w76 e = 8 2
(A) HEHAIR (B) e © famm (D) T H AT
73.  When you speak to your friend, which of the following parameters have a unique value in the sound
produced ?
(A)  Frequency (B) Wavelength (©  Amplitude (D) Wave velocity
R e
74, 4T C = A + B
o [ 2] < R e [2] < [3]
(A) ‘C‘W‘A‘W@@E ®) ICl<|Al=nes [C| < |B| I B
(©) C MR A+B -3 (D) CHoTS A+B -3 5Wiq 737
- S S
74. WHIK C = A + B
RN - b — e
A) |C A T TR B < UER < |B| 28318 5B
st [ ] e [ <[R] e [l <8l zem
© C>l A+B Q7 W 2 (D) CFAT8 A+B QTR
- -5 >
74. TEANMAEESEE C = A + B
N o T - -
A [cl e A B < <|B| e
S i 2] <Rl a2l < 5]
Q  C 3T S A + B wAM (D) C 37 SA=ael A+ B 1 99H 71
- 5 o
74, HAWIMST, C = A + B
— - - |- e
(A) ‘C‘W‘A‘@W@W%I (B) ‘C‘<‘A‘3ﬁ'{‘C‘<‘B‘€HTWW%I
(©) C THIM A+B o SRR Sl ¢ (D) C &t ot A+B % R & 7
SPACE FOR ROUGH WORK
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e
74. letC = A + B
- - S| |- S| =

A) ‘C‘ is always greater than‘A‘ (B)  Itis possible to have ‘C‘ < ‘A‘ and ‘C‘ < ‘ B ‘
(© Cisalwaysequalto A+B (D) Cisneverequalto A+B

75. Mg -3 01 QAT TG (T ARETS I81CF 51aw S AT 157 [t sfaate e 2°a 1 S it
COTRCOT 24
(A) NO, (B) NH, © N, (D) HCN

75. Mg -93 93 [T e FREGITSUAT AR o161 S0 5199 FAIF A7 Serd S0 [Tt Fa1 267 ST
ST 309
(A) NO, (B) NH, © N, (D) HCN

75. @ Mg 1 fRemal reg 'SHf STemmEmE e Srstam FEA1 oare fhTsiemg S eFe Sem | et
T ST
(&) NO, (B NH, © N, (D) HCN

75. T Mg o Wid oh ZhS ol SIS o SIATeRY H AT B o TH o T < |1 fafshan e foan | s&d
I B aTelt T T
(A) NO, (B) NH, © N, (D) HCN

75. A piece of Mg ribbon is heated to redness in nitrogen atmosphere and then treated with water. The gas
evolved is:
(&) NO, (B NH, © N, (D) HCN

76.  ‘(OSA IRAT RN SFISINGE AT I3 f9R” (Radio Carbon Dating) © IT59RIF (X< FIAR STBIs ([{ 2727 -
A) 12C B) 13C © 1C (D) 3ZoF IOIe 757

76. TSR I (AF FAT S goifgd TR T e (Radio Carbon Dating) T I7%S I (A7 INFIAF T 2T -
A 12C ®) B¢ © M D) IFETRH GO T
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76.  Radio Carbon Dating 39 SITRIIA SIS 3T T S

(a) 12C ®) 1BC © McC (D)  TirSi H&e T2T
76. ‘Yfedrmre SfM’ H HeeR B a1 e H THENF (Isotope) ¥ :

@) 12c ® B¢ © Uc D) &TH & TH ot T
76.  Theisotope of carbon, that is used in ‘Radio Carbon Dating’ is :

a) 12C ®) 13C © 1C (D)  None of these
77. AN GO @ATS [T FT ICE ST FT PR ©oTd (@GR ARRIEFT 5T 2

@A) P fe ®) sfs=fs © Rfefs (D) @9FF 9OI8 757
77. QG AMAIR ST I 5P ST S A @I SATRIS = 5w 2

A @b ®) sfs=fs

© Rfe=fs D) TAET GBS T
77.  HITE HE-i W gl Hew sielS et s« Hieiesi §6 :

A) T ifed (Total Energy) (B) & ¥IfeK (Kinetic Energy)

(C) AR SR (Potential Energy) (D) TSI HASE 7T (None of the above)
77. Ol e o1 FR H foa 3 ol B He1ee i ol S Frefafad s-a aied & 9am 8 2

A) Fa ufe B) Tfd Wi © feafq ufw (D) TR H TH o &
77.  The work done by the external forces on a system equals the change in :

(A) Totalenergy (B)  Kinetic energy (© Potentialenergy (D) None of the above
78. (7 ST T SLCOT (2R :

A)  @EEE (B) EEETW Q) WD D) FTAE
78.  TR® SIIRAT AT AT GG 2007 :

(A) FEE™ (B) FETISH ©) WGt (D) FEETS
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78. MM oo fSatgae foagm ety omr -

(A) TS&fE f5€ (Nucleus) (B) Y 'SM (Lysosome)

(C) W83 s (Mitochondria) (D) RIRE (Chloroplast)
78. &0 fafeer (Fmim) e o & & 2

(A)  IfRI3TH (Nucleus) (B) ARSI (Lysosome)

(C) eIl (Mitochondria) (D) FARRL (Chloroplast)
78.  Double membrane is absentin:

(A) Nucleus (B) Lysosome (©  Mitochondria (D)  Chloroplast
79. A Sfewe w1 FUIF FIFY

Q) 3Ienee fFass dfeats=amamg ) (B) 3 RIS o=rer Aot 99 |

© 3ZRers Jore Sfen | D) 3 ReTFE TS A |
79.  FAIET THTT T AT 4 FIA ¢

(A) QW TOYR AT (fertilization) S7=f<f 2 AT

(B) QKA TSt LTI GG AT

© a3 o S

(D) UM TS AT AT
79. 9= (Gymnosperm) @RS fhems A ST STem :

(A)  FTRRE fHeTE AR HrerEf-or STHeT

(B)  AHIIE BEANLST HHAfSETET

© A®R R Af AR

(D) JHRE TRAE’ o
79. SIS ISAS § Sl Tl O T HR

(A)  TEH T HiEE iR g T E T
(B)  TEH AT HAN T A T

© I AeEH S T

) zEH of RIforRT TR T

UPT-19/P-11/L
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79.  Fruits are not formed in Gymnosperms because :
(A)  Process of fertilization does not take place in them.
(B)  They are not pollinated.
(©)  They are seedless plant.
(D)  They haveno ovary.
80. TWSI I ACE, (et BT 15T 7T
(A) TR Ao FSIE Jia AT B) @M<
Q) ZPTeR (D) Q& AwI
80. @&@q% CoNTeT THIST(RI ASRIPIeT ¢
@A) SwoHieTerE Iia A ®) & s
© P AR D) QPR AFET
80. QTSN TSI, Yuga 9 T fafcremn smie :
(A)  ZURIST HHH TR T (Increases proportionately with temperature)
(B) EINIE] (Increases)
(C)  @HRTH (Decreases)
(D) TS oA (Remains Constant)
80. d9HM Jfg B 9 T dleh (pendulum) =p1 T I
(A) A9 hT HHIATT (proportionately) ®9 9 EIES BT
® Ffs zmml
© =EEm
(D) T ST
80.  Asthe temperature is increased, the time period of a pendulum :
(A) increases proportionately with temperature
(B)  increases
(©)  decreases
(D) remains constant

UPT-19/P-11/L
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o

8l. TS A5’ TS f¥fosee oferate =T st aileTfiy 2w

A TL9 (B)  WlewRCTAm © T D) f&igw

o

81. (SIS ARGITeH Ffiowad afaaie smEifsrer Fa19 A4 SoNmi 3003

A WEH (B) Wit © R (D) f&=

81. SR 1L 'S T WA AraEf-ergt SwhIse S TfCqaran e :
(A) ST (Boron) (B) Afcrerea™ (Molybdenum)
(C) IR (Copper) (D) TS (Zinc)

81. Sifoe Aregre feerfaentor ufshan § W&l S arel Jeiaw (Element) ¥ :
(A)  9RH (Boron) (B)  WifeTseTH (Molybdenum)
© O) fo=

81. Biological nitrogen fixation is helped by the element:
(A) Boron (B) Molybdenum (©)  Copper D) Zinc

82. 4 (®f¥) &M NaOH, 10 foT513 waet Wb Tdigs F1 2°e | TIOR pHE'I :
A 2 ® 9 © 12 O 13

82. 4 (BR) & NaOH, 10 (%) fT51@T WF T T HAIg® I =T | T0 pH AR

Q) 2 B 9 © 12 O) 13
82. 4 (¥) UM NaOH Bl 10 feier 318 Temeem Sem | TAEs=E pH 3T Se

A 2 ® 9 © 12 O 13
82. 4 7™ NaOH ! 10 et o YT (Solution) H fosifed foham 11 Sa07 (Solution) ST pH &FT

@) 2 B) 9 © 12 ©®) 13

82. 4 (Four) grams of NaOH have been dissolved in 10 litre of a solution. The pH of the solution is :
@a 2 B 9 © 12 D) 13
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83. UWAIAIAS PIRIT 5T STRCST 7|} I @I (20T PIROA

(A)  ©I5 SRR (B) SRS ISP © IR gtem (D) ©res 5139
83. WAl FIRIF (P TS AT FAF SIS (I 200% -

(A) 5T SR (B) TEFIF@EE © I grromt D) R
83. faf & ISTwR@! 7ot foeRf w1 & IQTRRFwE famafed grl -

(A) ST SRR ®) T & feafatem

(©) TN TSI D) TSI AFA
83. YTl I I ¥ TS © YT FL H DHRIA § :

(A) TR e (B) 3k T IfvTEHT

© stk T D)  F&q TfeH (Cavity)
83.  Theartery can be distinguished from vein easily by their :

(A)  Thicker walls (B) Morebloodcells (C) Moreplasma (D) Larger cavity
84. BIEIFI TN WO fowacet SIfEa I 5fa fircet, 3317 fowas vroe wiF

(&) ZPT A ® 3= o © A O T
84. STIRIAT U6 T (Bo(d @ IR (OCe e, T (GoEd BT W

&) ZPT AR ® o= © @R O T
84. WEMMHME STERAR TME HHEGI FaSTal el ISl TRAT T STecl i TRATAH HHT SR

(A) GHEANH (Decreases) (B) ST (Increases)

© T ITiH (Remains same) (D) NUREASIMIE] (Becomes zero)

SPACE FOR ROUGH WORK
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84. WIS 1 IS8 Teh o 7L AUk I 9 H, 36 W [ (pressure) Tl M :

(A) &9 B ®) dfgEm © THEATM (D) A =M
84.  If more air is pushed in a soap bubble, the pressure in it:

(A)  decreases (B) increases (© remainssame (D)  becomes zero
85. TRIAT RTI (1T U9 SolE IR % #TSRIT AT AT AT FAMCOIF Il = -

(A)  FETS B) @='g © e (D) T >t
85.  THICAT T (A9 W(Td TSIRF iy SR sierasfer zem a9 affemfbes qor =3

(A) TS (B) TP © @R (D) siter T
85. I SR@1 Wi AT TEred fawif faaesr el g1 :

(A) TERE SEEE (B) sk e © FaUfag @) faars fafem
85. IS foIe ok 57 o 314Td o RN US & Uil okl Uiel IS oTet HishaT ohl kel il & :

(A) T (B) TRiEH © " ©O) ferifadam
85.  Yellowing of plantleaves due to deficiency of certain mineral is referred to :

(A) Discolouration (B)  Necrosis (©)  Chlorosis (D) Defoliation
86. ‘‘CTETIHR (97’7 SR Go[OF MG SW©T I I WL, I :

(A) 9% ORIE I CIESIT ST 1Rt FS o7

(B) WZ (RENE o3 Risie Fat srcenfie IR owe iy o

© 9% (RIS TIR(S CTOSREITS BT &Y

(D) O3 (RRET IR CTSST
86. OISR ST’ (RIS S5 SR God SX6T Jamd S5 7T, FRT -

(&) 93 SIS ST SIS LA TN T |

(B) Q3 TP G (A ISR T SRS IR TN T |
© 9% ST AYS TS RBES SAH 27 |

(D) Q% STITRCET T8 SIS
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86. ‘‘TT T W (Green House Gas)'' I A WA =@ TUE ARAEM A9@m™ <& T,
AT :
(A) & THRRT FAERIA Ter sTeria! SreT ol
(B) o TR AN W Infra-red HII ITHRG! HioH T ATl
© & THHR MEM e 7 (green house) ®RIA GHSETEST
(D) o THRRE e M

86. BN & T (Green House Gases) THg Y53 =l STdTGRYT 1 AT9HH Jig o foTu STRErR §, SR R :
(A)  I% 9 gz g Wem a1 efid 9 9o o §
B) IE W IE 9z TS A fafehfia s aren staeifed Wem it o & o B
© 9% 9 UE qEa: Ra T § 3 e B
(D) ¥ 9 Tl &1 {1 gt e |

86.  ‘Green House Gases’ are responsible for increase of temperature on earth’s atmosphere, because :
(A)  These gases absorb the green portion of the sunlight.
(B)  These gases absorb infra-red radiation radiated by the earth’s surface.
(©)  These gases are produced mainly in the green houses.

(D)  The colour of these gases is green.

87. QG220 V AC ST AT Req 73 :
(A) 220V (B) T 160V © T30V (D) 440V

87. G 220 V AC SCIF ST Red 77 :
(A) 220V (B) AT 160V © AT310V (D) 440V

87. TH 220 V AC H@IH SIS Voltage 31 ST :
A 220V (B) 160V %M © 310VHH (D) 440V

87. W& 220 V AC ®d (Source) o1 Fali= afeedl (Peak voltage) B :
A) 220V (B) U160V © TIE310V (D) 440V

87.  The peak voltage in a 220 V AC source is :
@4 220V (B) About160V ©  About310V D) 440V

SPACE FOR ROUGH WORK
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88. (I I TWaIT R (T Roreas 2ot (207 :
(&) oISy (B) WA © wEs D) foeres
88. (FRETH QI FPTs 28T (FI¥ Rersiag s 200 :
(A) OIS (B) OTIETS © TS D) HEAES
88. Tafg Mm@ o« argea fie fSafg fagm Jenfom :
(A) HIHS (Metaphase) (B)  TATHS (Anaphase)
(©) WS (Prophase) (D) <A'HS (Telophase)
88. IR e BT T B ST ShITTRT FaUTSH (cell division) 1 T4 € :
(A)  HIHH (B) TIHA © 9R" D) fearrd
88.  The stage of cell division in which the nuclear membrane disappears :
(A) Metaphase (B) Anaphase (© Prophase (D) Telophase
89. <SS FfdTo! SEFIRT QO G, &1 Frart sI91w1e FwWeT 3 (M@ SN foeTol ARG T4 1576 I5i Y STFHof
BT FC, CNSIOT R
(A)  MgBr, (B)  Ca(HCOy), © CaCl, O) Mgdl,
89. TeR FfoTw! EFET OHfH ATel, @G SSTET Rt SIFR S FHeT A (U 93¢ PreTeld TG0
TRCEF SO ST Y STHS ST e, AN =T
(A)  MgBr, (B) Ca(HCO,), © CaCl, D) MgCl,
89. f TIRT URFIG A Femte, S SRATAISAE STie isel WHel e fefrerlt SR faasr Argee aE-aa

A& T AHIS 1S Hal GASEeEl; St e

(&) MgBr, (B)  Ca(HCO,), © CaCl, (D) MgCl,
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89. UMl I FHoral gfe FHA ATl TH A1, St ot qdteqor H AR 1 e © &R faeer Teee g & | aihe
STV ST HIA €| AT (Compound) T :
(A)  MgBr, (B) Ca(HCOy), © CaCl, D) MgCl,
89. A compound, that, causes hardness of water, shows orange-red colour in flame test and gives white
precipitate with AgNO; solution is :
(A)  MgBr, (B) Ca(HCOy), © CaCl, D) MgCl,
90. JSIFIT FFo VI R Sotaz BT AT ToT6 (FFIOR 39FS ST 7957 7
(A) TR B (B) FTFIRI IO
©) 8T U8 757 (D)  8%13F (A) = (B) [0
90. JOIFIR FCF A AT QFC SALTEA ARSI (HB7 @FIFG7 317 ST 97 7
A) ST (B) FFIT[IPIZ
Q)  SAET 9B T (D) S&d (A) WL (B)go2
90. Thfdea weremmEE 4™ qgaf Tean aRaf gu fafefemn, Terf sef arE dHaraE 1=t
(A)  TRHI HIGHET (The mass of the Satellite) (B)  HETHIM GIeRIE! (Radius of the Orbit)
(©) TSI BF&E TET (None of the above) (D)  (A) 3R (B) WAl
90. IR H& H AT YA ITE Ueh 1 TARIA FHfrEd shiA-91 S § Fyfefia 78 § 2
(A)  SYUE FH IR (B) eI I S
© W H TH ot T (D) FWH (A) 3R (B) THI &
90. The time period of an earth-satellite in circular orbit is independent of :
(A)  Themass of the satellite (B)  Radius of the orbit
(©  None of the above (D) Both(A)and (B)
SPACE FOR ROUGH WORK
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PART - III : Social Studies
(Candidate has to attempt Part - II or Part - III)

[ Candidate has to attempt Part-II or Part-III which they have
given in their Application Form and recorded in the OMR
Answer-Sheet |

o

31. ‘[ REE IR @I 29 Sl 2

A) PR o= (B) T TIT el

© TR I IS (D)  “aIare (SRS It

31, ‘IR RNERE IR & I691 IR 7
(A) Wi eI (B) Y IR Bl

© =37 I I[YSIA! (D) S (SIS I

31.  ‘Buranji Vibek Ratna’ Bl R THHERIHM ?
(A) AFRE aH (B) YSIFHR ¥
(©) T I SIS (D)  USHAIY RIS sEdl

31, ‘oLSit faeeRte fohaa o Rl ?
(A) ¥R fead (B) T FER A
©) T H TSRS (D)  ICHAT TS e

31. Who was the author of ‘Buranji Vibek Ratna’ ?
(A) Maniram Dewan (B) SK. Bhuyan

(© HK. Borpujari (D) Padmanath Gohain Baruah
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32,  OOTF (AR Y SIToING Ao GMpHT o es(s 7
(A WbE-® (B) W forewa - Wyy WG
(€ SICFRT - WL [orees D) T - (=FFT
32,  TIBA (P TS SO SIS (TRINT A I 7
(A) WS- (B) U fGO®R - WL A
Q) SIERT - WK forRT (D) T - CTHE
32,  TEEM 99 H1 YRAE MR- St st e
(A ¥ -7 (B) TR fe¥wR - TR 7
©) 3TRT - ToR fedmr (D) S - Fww=R
32. = QU U HF W1 99F YRaed § YeAred- W g HET S © 2
(A) TN - (B) T foumR - A% A=
Q)  3TRSR - 7 fogwe (D) [ - fqawr
32.  Which of the following is the period of retreating monsoon season in India ?
(A) March-May (B)  Mid December - Mid March
(©  October - Mid December (D)  June-September
33. SISO AFel] IIE IS TIT (N AV (Fica SR Biafeer 7
(A) TS comet (B) "WERAES () INRFYFEI (D) TR SR
33. ORNORTE SN FFSE T SN (@ ST FEM0eT 2
@A) f&.@ emE B TWeR EES (O IS @x (D) WX SRt
33. YRAIR YEWRA 9RaME T st gifeat ffsamear SamgEe |
(A) G.XK. Gokhale (B) Dadabhai Naoroji
(©  Rash Behari Ghose (D) Mahatma Gandhi
33. WGl o T st o) 91 gerd Yeel foren Serde faman ?
(A) S, e (B)  TIRINE RSt © T =Rl = (D) T et
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33.  The demand for swaraj or self rule for Indians was first articulated by :

(A) GXK Gokhale (B) Dadabhai Naoroji

(©)  Rash Behari Ghose (D) Mahatma Gandhi
34, (IITSH SN ISNL FRINT IS01F APHS FfPE IoT6 “ifers Sfafe 7

A) R (B) =Fuhiex O SRS PR (D) oot Bieg
34, (I RN ST FRAT IS e e rstite “faae s 7

(A) =R (B) wu Biex © RS 187 (D) oo B18x
34, TR 3TEH ST HHR TG iR TG T Heafiie Qreeeieiam ?

(A I-H B F=fde © S fHe (D) wad fHe
34. ford TR TSI A =R TSI Rl it Sferd TS < &9 H i foran ?

@ T ® w=fHe © P fiE (D) A fe
34. The Ahom ruler who first to turn the Kachari Kings as Thapita Sanchita Raja was :

(A)  Suhungmung (B) Rudra Singha

(©)  Jayadhwaj Singha (D) Pratap Singha
35. <A (oNEIIT SPhes R @It el Sleoly (SoifefiosaT snfis -

A) T3S (B) Mfeg © ©rF=(feom) (D) I<IEhfEe
35.  S[IRE (NETFR SAIFhod AW AW @FH RO (SHifesaT ICeTnd ?

A) TSI B) ofeg © wFF(fFem) (D)
35. 9gAM SR W W g fife araiik et fafemfafen 9rem

(@A) S ®) i © @R 0) R
35. g & Teiy SR o fawa ® sie aret 9om IR @iie foar o ¢

(A) SRR (B) ARE9E © 9= (fgdm) (D) awEfafe
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35.  The first Indian astronomer who said about the spherical shape of the earth was :

(A) Brahmagupta (B)  Aryabhatta (©)  Bhaskara (II) (D)  Varahmihira
36. ‘DIEDM’ GoTo Sl T SARCFRON (IO Sofary 7

&) It ® © s= O w
36. ‘OROM FES @ a=a Soax 7

B s ® © v= ®
36. ITEMI MERE @ 14 TehRMA oel HHH T8

(a)  TeEd @B © T ©)
36. IR d Sooid foRt T IR H § fohdet SWE © 2

(A)  TeEd @B © TH ©)
36. Titan is a satellite of which of the following planets ?

(A)  Jupiter (B) Saturn (© Venus (D) Mercury
37. SIS OB (@Y ST g BT 27

(A) 7T (B) TeF IHe (C)  ~Ifow SiseT (D) W% Set
37. CROIFT A @I S of STeseT 267 :

(A) < oI (B) TS T ©)  ~AFow rset (D) W%l BgeeT
37.  yRAaR sEfRgs Sifem e sHfSmn Isufer 141 sTret Sems ¢

(A)  HHST A (B) M AHEA © HHE AFE (D) el A
37. YRGS 1 WY ST ST S & ¥

NI GIEE] B) & © fve &= (D) <faoit &5
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37. The most densely populated region in India is :
(A)  EasternRegion (B)  Northern Region
(©  Western Region (D)  Southern Region
38. QAP IR NGRIEI IR AN A ST (FIACOT FAT ;T 727 7
(A) O TRAHT eSO |
B) T Teofifis TSR JeTs fame 37 |
© TSNEI ISCARSS STHIFIFH IFIT I ISARST CFaATS 3, 3G BT ofeTd FF |
(D) 2o FoIT® B TNTERIE (e 4T FCF |
38. B P FICET NG I AN =4 [Hrpa @FF S 57w 73 2
A) Gt 96 T 72515 |
B) AT Sesifits TR yef g $ |
© SISIYER TSARST SHFE[T AMFT S5 A (A NoF (F@ I BP9 Gt AT FF |
(D) AT T W% NoBfeT TaIs R I |
38. T HEE MeehR MEEf od Hy wefafafern o) 771 ?
(A) W fegamsi o |
B) Teesn fagTus JURERM SHAE! SErEAErE A |
© icew e fegmf amrrar Teref-arft e s SR @l
(D) el AR o e il oM |
38. T WA e o fee! & % Jonel & 9R H frefatad i o 9= 1@ ® 2

UPT-19/P-11/L
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®) fiee Scnfea wmit & Jodi w1 o & ¥ |
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(D) gd T TR H 3 fiiee gor off IR 3a ¥
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38.  Whatis not true about the functions of guilds during Gupta rule ?
(A)  Organization of production.
(B)  Guilds controlled the prices of manufactured articles.
(©  Guilds were politically ambitious and therefore played an important role in the political arena.
(D) Inseveral cities they seem to have issued coins.
39. TRTeTy oifo R’
NI C IR CNR GRS o) (B) T Beie e
© wioo ) A s
39. fRureT oo =aT
A) 1B efFe 1S (B) oA B AL
© IS D) ICEREE RS
39. TewmeTs greimmn e
(A) TSI &R ST (Old fold mountains) (B)  TIISM &I BISIHT (Young fold mountains)
(©)  SI&El BSIHT (Block mountains) (D) 31T BT (Volcanic mountains)
39. fewmem qeia € :
(A) 9T dferd geid (B) el aferd el
©) Al qad (D) SATTE! g&d
39. The Himalayas are the:
(A) Old fold mountains (B)  Young fold mountains
(©  Block mountains (D)  Volcanic mountains
40. ffemiecat Se1a @ACOT 7o SR ?
(A) TEMImAaLs  (B) S[MAERS © iRe D) ©efE e
40. fFfIGET (Kilimanjaro) STCEF (F1F ¥A79 2K TeF SHIZAT ?

UPT-19/P-11/L
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40. fRfeMMSIRET (Kilimanjaro) TEMIfH o1& gt fafefer -
(A) 3T TS (Volcanic mountains) (B) T B (Residual mountains)

(C)  ST&@l B (Block mountains) (D) IR ST (Fold mountains)

40. TRfemsR T fou 0 F @ Tdd H1 ST T 2
(A) SATrET 9eq (B) T gold (© <Al gEd (D) afea 9ea

40. Kilimanjaro is an example of which of the following mountains ?
(A)  Volcanic mountains (B) Residual mountains

(©  Block mountains (D) Fold mountains

41. i @i Pore ofierer’, ‘T, ‘OlRe’ SN i s oafee ?

(A) OB SHCTS (B) bt I © QT ISH (D) @G i@

41. I @ oot AAreret’, ‘g, ©ie’ St wfe fF gy ?
Q) 96 SHEST  (B) GG WL © 96 ST D) «FfG i@

41, AT Sfcw e I, CFE, ¢ Ra ST HiGTehT 3 BRATIRH 2

() HFE TR B) HE © HFE TS O) "
41. IRfYs Afcew w1 § 'uiEe’, ‘FE, IR’ enfe vee fohm ded § v E 92

(A)  TF S ®) THEA © THTHA D) TEHTH

41.  During the early Vedic period, words like ‘Panchala’ or ‘Kurus’ or ‘Bharat’ referred to :

(A) aTribe (B)  aTerritory (© aKingdom (D) aGotra

42. THE ISHIF golie Now Fa1 (2fnet | 21T SIF60 ©lo 1 SNifee @16-ReT | SaereS i F1mE S= 1

QI
A) @IE-orst (B) AT
© RO CI-fare (D) H-FICST
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42. 315 ASH AT ©itsl RNow 331 @M% | 3317 A6 ©Ieid 91N et @FeRER | st i Jioy sif&fts 2
@A)  @E-orst (B) TSI
© TG @n-EE D) FE-TTST

42, F'F NG A SEFETSE T SGHH | HE6E & = TESi@l & 9 foaR g7 Sl | 9= & = Tgsira q/
AT ST ?
A)  FE-A B) FEAER © TERE-FEfRER O) =

42, A T & WA H fawifsd fen e afted v o AW s faer an goft wm e A g S
T ?

(A)  HE-S (B) HETR © TERE-®E-fTER (D) ®E-TSH

42. The Koch Kingdom got divided into two parts. Western part of the kingdom was known as Koch Bihar.
What was the Eastern part ?

(A)  Koch-Bhajo (B) Koch Nagar
(©  Guwahati-Koch-Bihar (D) Koch-Hajo

o o o

M&IS pefoldq 1519 G(K%\D HIReT 7

43. ‘ofur s’ - faaifaiie @eeE

A)  TER-RE- e (B) ST fAferist

© ReErs g (Graers (D) v iy

43, ‘SISt oA’ TEld @ e T Showe &R  ?

A)  TFm-RF-puee (B) SIS et

O RrES R oe (D) Prewa @

43. ‘UfeE @1 st MerEE g feeedit SR gerdrtsi /Rl T 2
(A) HeFe-fod-gud'® (B) AR(EA fadts
© TS 9E g ' O) fowrxatfe

43. ‘U ST’ @ 9 e goar % Wy g2 ?
(A) HeHE-foA-qerh (B) 3TeEH faest
© RS R g (D) o<z el
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43.  The‘Padmini Episode’ is connected with which Sultan of Delhi ?

(A) Muhammad-bin-Tughluq (B) Alaud-din Khalji

(©)  Firuz Shah Tughluq (D) Sikandar Lodi
44. TeTo SrEmd I SR (@Y fSers |Iie AF SwiF S1fEs 7

(A) crffesE s B)  w&e et © fofaperr st (D) e e
44. @ @ I ITET @ (Seto ST AT S SafFe 2

(A)  CM9e9@ (Sell (B) WL (St © for@Rr e (D) R e
44. RS @ HE AHEA o e SR SRS g §

(A) AR fSeen B) & foeem © fagferen fSeen (D)  TREER fSeen
44, 9 fou U omm o i G 9o B ST Ui SuH ST § 2

(A)  EifaQR e (B) < fSen © foglemfsen (D) foeErR fSen
44.  In which of the following districts of Assam is the Orang national park situated ?

(A)  Sonitpur district (B) Darrang district

(©) Tinsukia district (D) Sivasagar district
45. ©RO® @FFIF ISR FFo (AT AT AFFS (2fget ?

(A)  TheBengal Gazette (B)  TheCalcutta Gazette

(©)  TheIndian Journal (D) TheBengal Newspaper
45. OISR (@FIF FIMAAN THAIN AFIFIS R e 2

(A) TheBengal Gazette (B)  The Calcutta Gazette

(©  TheIndian Journal (D) The Bengal Newspaper
45. TR o« T et s qrat et Teme foers 2

UPT-19/P-11/L
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45. YA H ®F 91 GUER U7 T Tgel YR geT ?

(A)  The Bengal Gazette (B)  TheCalcutta Gazette

(©)  TheIndian Journal (D) The Bengal Newspaper
45.  Which of the following was the first newspaper of India ?

(A)  The Bengal Gazette (B)  TheCalcutta Gazette

(©)  TheIndian Journal (D) The Bengal Newspaper
46. ©F (I FI@I SRR SAFRI 7

INISICRIRIS) B) R © fiore (D) JOr e
46.  SIBA @G TRETAF TR AT 2

(G CRIRI ®) e © fore O  gH e
46. TR BT 99T SRAFYR A <G e <

A) gaAfaRk B) wfufa © fewi D) e e (FRfefe)
46. I feu T HH TR H T TS HEHF A & 2

(A)  gaared e (B) Tl I © femin =& O) dfe fefén <t
46.  Which of the following is the largest tributary of the Brahmaputra ?

(A)  Subansiri (B) Kopili (© Disang (D)  Burhi Dehing
47. SToA ZEICH Gl (@FIFRE (5107 IYNSTT o1 78 ©ISf 51067 FF 7

(A) TG & (B) SRFCTH O IR TG (D) ='SH
47.  SFeA B SIE @ SD IS ST 78 Bt (9 FC 7

A) TGS (B) RSH Q) T TIEZEHZG (D) &
47. ST TR MM 99 1 ANATEAN 78% T SRRIG! SR :

(A)  TEL'SH B) Al (©  HIei SESTHIEE (D) 3'SH
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47. 3dA & feqma @ = fou wF @t T agAved & 78% ot fmtor St € 2

(A) RN (B) A ©) e SEEES (D) S=H
47.  About78% of the atmosphere is composed of which one of the following gases by volume ?

(A) Nitrogen (B) Oxygen (©) Carbon dioxide (D) Ozone
48. TOTF (FITAT TIPS FEA OIS QT T 2

(A)  oIE TR (B)  STeToF wEPTIsT

© e IRTIEIT (D) ©lFo TERTe
48.  FIBF @9 FRPTSE @IS (@S S1ew TR 2

(A)  STIB TSI (B)  SIGEIGF WIS

© I NRPIeE D) TKO IRPIER
48. TRHEM I SIS TARESIH SR SRRE! W S

(A) W e (B)  SScA=eh i

© gAE oL (D) Rd oieim
48. 9 feU MU HF ¥ HEMIR H wiel STadry arlt S § ?

(A) T HEMIR (B) Al HRETR

(C)  3TTehfceh HEETR (D) &g "eErr
48.  Florida current is found in which of the following oceans ?

(A)  The Pacific ocean (B)  The Atlantic ocean

(©)  The Arctic ocean (D) The Indian ocean
49. TIROIT AW Y ST TN 3% NYTIZ WIS WISt SIS TS T

1

(A) 69t (B) 49" © 55 0T (D) 79"

49. ISR AN AT 3 FRSEE NS STHEI WK AT 26T
1
(A) 69D (B) 49T © 53 REn) (D) 79T
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49. YRAR AH 99 3R WHged TR FHiA TS50 F9H 6RET 6
1
(A) 6% (B) 4% © S E (D) 7%=
49. YR AHE G IR WAfow Aeamg it o ofid 99T 6 AW T :
1
(A) 6¥U (B) 4¥U © SEsmé (D) 790
49. The difference between the Indian Standard Time and the Greenwich Meridian time is :
1
(A) 6 hours (B) 4 hours © 55 hours (D) 7 hours
50.  SfBIT SR A IF (T TS (I SNifiget 7
(&) o e (B) T © gfed (D) orFx [
50.  2TSIF SPTHR I IR (T ST (F et 2
(A) oS I ®B) i © ofsad (D) SFIIH
50.  TIGI SATE S WeR siaen GifeEn 9rEE ?
A) T ®B) ey ©  yfasEd (D) TR SEA
50. TN 3T o FHA 991 & SAfaw TS HiF 9 ?
(A) TATHA ®B) ey ©  ofasEA (D) R I
50. Who was the last ruler of the Varman dynasty of ancient Assam ?
(A)  Pushyavarman (B)  Sriharsha
(©  Bhutivarman (D) Bhaskaravarman
51. A (@FF ST Syt ey e Tag FIRAI s I¢fqr Fat 020 72
(A) T (B) TS © W (D) IAIYT
51.  SI61 @9 SPWRT SATHIT feol ey rad SIRAT Sqem T 677 F41 3 fie 2
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51. TEME e A STEHE Fed A A1 qofeh Sreeii W sHigAE g 2

(A) HHEH B) W © S (D) R TR
51. frfafed «F o smafgn st fgde fava 35 & wert o i & 2

(A)  HRE (B) T © ™ (D) AT TR
51.  Which of the following Assamese novel is based on the 2"d World War ?

(A) Makam (B) Mereng (© Jangam (D) Katha Ratnakar
52. 9% OII® SYESEEIS NI ST 27T :

A)  TRISHT SPILShs (B) G IPRGRS

© W@IRO- B SpTefs (D) @97 b8 727
52. % (Mantle) 933 SBSFTETT NITHT STINT 26T :

(A) WEATeRE SpTesifs (B) TG IS

© SERH- BN FTL4fs (D) ToET 9FHS T
52. BT (Mantle) 3R BIHT (Core) TSI v S :

(A) AR femarAfefsfe (Mohorovicic Discontinuity)

(B) e feqshAfefsfe (Conrad Discontinuity)

© AT feqahAtefafe (Weichert - Gutenberg Discontinuity)

(D) TS Hde 7T
52.  STTERON ST SN & ofid o ST

(A) HARRIfafae® swEaga (B) HIIS TSl

©  ATAR-TAe STHeIgl (D) T | FE off T
52. Theboundary between the mantle and the coreis:

(A)  Mohorovicic Discontinuity (B)  Conrad Discontinuity

(©)  Weichert-Gutenberg Discontinuity (D)  None of the above
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53. e siafEs Sifsert bt -

INBRREUGIEY B) T © Prfer D) wie
53. RIS SRES SIS (Zojila) O

INEREEEY B Far © forfaorx (D) &
53. fenrersara oM™ SIS (Zojila) A1 HIFH :

(A) I TE (B) < ©  FrSir ©) f=r
53. feurer # srafeeq sifsen T g

(a) ferdt ®B) & © TEa-d (D) M
53. Zojila, situated in the Himalayasis a:

(A)  Glacier (B) River (© Mountain pass (D) Stream
54. ‘Poverty and UnBritish Rule in India’ 3249 (FI(F I=4]1 affe?

A) eI (B) R vm srer O MR AEST (D) RN ST
54. ‘Poverty and UnBritish Rule in India’ 570 (& I677 SR ?

(A) ol I @B RPETRse  (© "ol @& (D) o I
54. ‘Poverty and UnBritish Rule in India’ forsmerat fagiam |

(A)  g9H &g B) fafta == 91 ©) <TRYMEARST (D) IS
54. ‘Poverty and UnBritish Rule in India’ ¥k 7% ! T foh& i ?

(A) GuEEg ® ffEImT@a (O <RYE IR (D) FegHm
54. ‘Poverty and UnBritish Rule in India” was written by :

(A)  Subhas Bose (B)  Bipin Chandra Pal
(©  Dadabhai Naoroji (D) Madam Cama
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55. @ fqr 77e

(A) el Sigfes ereratia B) TELhI TR

© 9T 7R S (D) @97 I8 727
55.  «&7 9T (E1 Nino) 27

(A G SNFhea aqree itz (B) TFGNT SWS!

© 9T AIR LS (D) TNET 9FHS T
55. o T97 311 (El Nino) SI&HI :

(A) TR TR S ST TS AT (B)  SITCHRTHI ik

© A=Y IEmf gt (D) TSI HEa 7T
55. TA-THIT :

(A) T TSI o SRR 1 gaTa 9 (B) AT &1 &G (stream)

© T YRR H (D) T A RE ot
55. ElINinois:

(A)  Aring-shaped coral reef (B) Astreamina desert

(©  Atypeof mountain (D)  None of the above
56. (MK IONCT OIFfeTrae coiiar sifee :

A) SIEbe (B) Fi® © TeIIBE D) wWHPTS
56. (IBMEA FCHIeT BiFalD @R Jfgs 2@ieT ?

A SIROE (B) FTeT® © SsIReE (D) &EECT
56.  SIgISH Ul A AT Het@! T SeiE |

(A)  TERREEE (B) TTESTE © S E (D) SR
56. OgISd 1 HHC AT g = S €

(A) TEEEH B) EH © SWamEH (D) “ARGH
56. The Kamauli Copper Plate Inscription of Vaidyadeva was discovered at :

(A) Guwahati (B) Nagaon (© North Bengal (D) Banaras
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o o o

RS @FHSH 07 (STAETE T4 SITeT ISR (BT S ATBRITT TR I12F 7[pe S

o~

fafeer 7

57.

@) @R B) TITR © e D) o

57. faferfis @@= 30 sAiae nevelaes Sifear Gt @ A1RR 71T TRRRE sHifse FwiaeEr ?

@A) Teels B) W@ ©Q AR (D) SIoAN

57. TR 9R fafest SH@sn R wRaf amfaan <t IR it Tt erdiarsal TereiEe 2
(A) ®9AH (Havelock) (B) ¥ W (Hugh Rose)

(©)  HFRA (Campbell) (D)  31eTH (Outram)

57. Trefafed sia @ fafes S 3 78 9YRd & qred 20 iR S o6t T aadiens s qutsia feran o ?
(A) TIEH (B) TS © Fuew (D) TS|

57.  The British General who defeated Tantia Tope and Rani of Jhansi in Central India, was :

(A) Havelock (B) Hugh Rose (©  Campbell (D) Outram

o

58. ©F® SIEAT® (@FIFASH e NRCE M F5TU97 HTFTI F7516 Sow ?

(A) SRR, w¥IE BEa! B) witwiT 23R

© T° IR @ st D) =R T Wg

58. SI6d STEM® @ TF TERIGMIET F517106 SE 1@ 0% Sifve 7
) o, wrEm s B) wibww 2¥ena
© T° Ao, ISt (D) T S wifrer

58.  TIEMTE BMM G H&F1 Ae-Sier’ AR fag=Trae efresl € ?
(A) SR fa. <Ir™ R (B) HIAR &R
© = eRfe oAt (D) 9R SH A=A
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58. frfafad § § &M HieTsicel TR % STfawhR & HY I € ?
(A) IR 9. TARY | (B) HIfHR R
© = AR 2L SAst (D) TSI ARl
58.  Who among the following is associated with the discovery of the city of Mohenjo-daro ?
(A) R.B.Dayaram Sahni (B)  Mortimer Wheeler
(©  Dr.R.D.Banerjee (D)  Sir John Marshall
59. ©eTo SfElie NIRRT (@FASH SIS FLHTHS AT ST ARswIT JeT t=iwf JieT 37 17 2
(A)  au.fE. s (B) ~AT&SEr IR
(C) TSI Sicart SrsialT D)  TSIRedT Cet
59. 405 SrET® TRIFANET (I SIS FLFEH(E AT ANISE Afope! Ie0 @o M ?
(A)  9u.fS. FIes (B) SifasramEE
(©)  TSITITT SITelT Srrstararar D) Toifedt ee
59.  TEMETE S HeRIE GR TS RrEEiiaE weHn THret MEaHEi e St @ g1 g ?
(A TN e B) O THETs
(©) TS T SARTRBR D) Sa'fasn Fol
59. fr=fafead § @ qerre & ford THTS GURE Sl WA THS % & Fiqeie wgl Sl ¢ 2
(A) THSH T (B) dHfea THETE
(C)  TITITE OIS SRR (D) Sifaen Tt
59.  Who of the following reform leaders of Maharashtra was the chief architect of Prarthana Samaj ?

(A) M.G.Ranade (B) Pandita Ramabai

(©  Gopal Ganesh Agarkar (D)  Jyotiba Phule
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60. TSI ol JxeN S=00T27eT :

@A) it (B) TS@EATY © == (D) @9FF 9OI8 757

60. TIRSHITER fao R Iz =fb 267 :

@A) FTHIfs (B) ZS@EANT © =5 (D) TR QO3 T

60. WHERIM A A TRan Se
(A) JeEfd (B) ITEM © W (D) TSI HEE 78T

60. GHed i fedta foaumeam Te @
(A)  Fewld (B) ICE (FEUUE) (O WA (D) = G A ot T

60. The second largest planet of the solar system is :
(A)  Jupiter (B) Uranus
(© Saturn (D)  None of the above

61. WIS (0T BITOIT BT CFaw AT 7

laSlaN ey

(A) 2 I 2eTE R @[T oafs (B) SIS efsiHig

© R o8 wel gifes e (D) ®FF QOI8 W7 72T

61. fA57 o <eaG wReR RIS CFra 2T 2

(A) A FIF (o1eT3, ST 2877 Mmfe

oo

(B) SWFHiies dfsing

© RS LFANET Weo! Ag-1feg [
D) THET QI3 T

61. TR oel HIMEA YRA SRR T Tf oo e ?
(A) T ST 9 S99 SRR Ei |
(B) HHM ESUEAIR AT SawIa G+ |
© AR S BIei 1fs SRR |Ee =9 |
(D) TSI HiHe 4R TS|

UPT-19/P-11/L 91 P.T.O.




61. TrefafEa sF-w1 yRdE fafem o gwafgd §2
(A)  YoH W fherare o fosef sifm st (B)  FeTAIfdes gfaffae |
(©  THRER egufd % T gt et | (D) SR HTH Wt g &l |
61.  Which of the following is associated with Indian Elections ?
(A)  First past the post system
(B)  Proportionate Representation
(©)  Presidential Pattern of Election like U.S.A.
(D)  None of the above
62. [ACIS (T STeaT @ISy 927 7
(A)  3FF = (B) Fom Fsofifers
© =T (D) IS =T
62. THCIICErd @A siTewEa (@FEs 97 2
(A)  SRET T (B) FoF TSI
© fma (D) LTINS =1
62. TR T HALA YINIR (Democracy) 1 sTgemgama fretan ?
(A) SRS G B) 3 fafsaeta
© foaEE'ty (D) TS FRErE TSt SfE=
62. T - T kT e T 2
(A)  hIH 1 IMEA (B) &S = UlfeAeht
© frareA (D) STk {t SmEH
62.  Which of the following is not a feature of Democracy ?

(A) RuleofLaw (B) Independent]Judiciary
(©)  Elections (D) Hereditary Rule
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63. SIIOR MR S JPIoo [P0 SIT6 R ST FiFho Ml (=207 ?
A) 18 (B) 20 © 22 D) 29
63. SROR LRI B SJPIBIT I SASR SINIE FIFhS (3T R ?
(A) 18 B) 20 © 22 D) 29
63. WA BIRIGH WSS I SHIAE WIS el SA-HeE MY
A) 18 (B) 20 © 22 D) 29
63. WIRA % WlAHM A 3Tl STg= § fohat wRd s ol whefa fean &2
(A) 18 B) 20 © 22 D) 29
63. How many language does the 8t schedule of Constitution of India recognise ?
(A) 18 B) 20 © 22 D) 29
64. ‘IIITA SBFTAT (FINCOT THFAR 1570 STNow 7
(A s cra (B) FTHTFQ © e [ (D)  FTE (S
64. FRTY AT @FH CFag T TS ?
(A) FrecTa (B) FHWCFA Q) wwoel T (D) FHIEF (8
64. “Kayakalp’ foerifEan <t i ?
(A) Giciions Errsi (B) UEH @IS
(© TG ACH SRS (D) W WIS
64. ‘THEATHTY ASHI R & | T § 2
a) ToemEe (B) TWRA S © e faw (D) wHEwMA e
64. ’‘Kayakalp’ scheme is associated with :

(A)  education sector (B)  health sector

(©  skill development (D) employment generation
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65. SIRIORMRLAET 25 (F) [21 - A] SC0=K G611 (FIFCOT CFaF 1576 oo ?
(A) w5 IRt (B) FrwlT SRS
© BT IR D) ©U T SRHT
65. RO ILRUET 25(F) [21- A]Sg0n Fba @19 @ 57 Sifow 2
A A et (B) FrER SR
© FEF RS (D) OB S HLHI
65. YRA gIEe( GfafSraft @ 21(F) T MerEf I WHas Sl T ?
(A) ST SRR @ ST (B) Eiiemsf Hrers
© wEfEf Hrer (D) fafEFEe AR
65. WRGTA Giae™ & 21(F) T8 & ded A1 & fhd &3 & |1 grufehd © 2
(A) G e (B)  T3am =1 srfEeh
Q) T I ARR (D) A S 1 SAFIHRR
65.  Article 21 - A of the constitution of India is related to
(A)  Food Security (B) Rightto Education
(© RighttoHealth (D) Rightto Information
66. IV 2'e
(A) QAT FoIIIED (B) I Koy mist
©  (A) (B) GG frster (D)  (A) SN (B) B3 957
66.  XIZARNIED =T :
(A) QB JARIHD (B) W e @FE
© (A)93R (B)gHa3 e (D) (A)93IL (B) @ADL ¥
66. Hypermarket 311 59 :
(A) HITY gUR Hehe (B) HITY fIHHIR e
©  (A) R (B) H=el (D)  (A) TR (B) Hi=ell T
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66. BEICAHE S :
(A)  THGIHRE ®) T faunia €r
©  (A) 3R (B) S b1 frrsgor D) ()R (B) S &
66. Hypermarketis:
(A) asupermarket (B) adepartmentalstore
(©)  combination of both (A) and (B) (D)  neither (A) nor (B)
67. ©IF© BIFIF 1983 5© 5104 T SIBFIRAT HICATOF 39490 38 FT 7RG SiifeeT :
(A) Y I IS BIFPNET NSH 90 i Tl Norsma Kot + < 341 |
(B) ©ITed TS I ATV TST® T791F 1< FNw1F KersHa Kot A9 Fa1 |
O TS bIFRT TS e FrRifFRe Tome o REFor *<T 37 |
(D) (FUI BIFIT N ST BIFIPNEF WIS LA RATCOT 1P F7 |
67. 1983 (e ©iFw I TIAT 5107 T TISATT SN 3947 758 AT 7Igfo foze :
(A) @ I3 TS TIPSR T T4 97 FNeIF f[orsaa amfG st a1
(B) ©HCed AFANS QL AN WK S79F I FNeIF f[ersaa il st w1
Q) ©FG TRBIET TRAersr e A mema wogs s fafb o1t st
(D) AT STEFIF IR TS TIFKB T NS TeAed (B o138T 51 |
67.  YRA GIRERI 1983 HIEHTEATE TMRHHTE TLEhTR ST AT M foam Siems
(A) & IRER R TES GRERM Teie Gt SR TRl T 9rme A& |
(B) TRIGATR 3T e Hi-AH ToRre W STRI TRl TEA e AR SR |
©  9Rd HRER fafsratte T grRie GRR®RE TS M) TrRifsfs |
(D) THE GRER 3R T3S GRERER TSIe TSt SRR G Tt |
67. WA TLhHR 7 1983 H HLHIAT SATFRT TATIT H RIeT I & fow Siad 9|
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67.

Sarkaria Commission set up in 1983 by the Government of India was entrusted to examine :

(A)  therelationship and balance of power between state governments and the central government.
(B) therelationship and balance of power between the President and Prime Minister of India.

(©) therelationship between the judiciary and executive of the government of India.

(D) the conflict between centre and state on division of power.

68.

68.

68.

68.

68.

OISR SRHHT (FIFCOT TR SIS ST 5IPIT QT e [Kfd Spifa 5319 beriacet spmel 2’
PO C1% IO ST STB! (T FEI #1F 7

(A) SR 350 (B)  SIChzH 352 ©  SICoEE 354 (D)  STCozR 356

OITOR TR (@17 SCon S ST AP G A1 et [ Sqdt a9 vrefits spmsf
=0 ABTS @3 TTST SR IPIA T SRET (TN FACO ATET ?

(A) ST 9o (350) (B) SR 90X (352)
© ST 0as (354) (D) SR 9w (356)

YR BIered Hfafsd e J9 <HIHA THSTere T3l GER Giafsa THeaed TREr Sl sErgs
BRIEATRAT o TSIE! ARSI SEHTe sl g/ ?

(A) 350 SHIH (B) 352 @I (© 354 THA (D) 356 SHIA
frefafad frg eTT=se % RO IRd % Giaem 3 fFdt T T Fi T6d TWhR o €9 F HH & Fard ©
el HiGenfeh ¥R o STTER SH T3 1 TUfd 7 A2l AT ST0M T Feh & 2

(A) 3T 350 (B)  3AT=T 352 (©  3TT=se 354 (D)  3TT=%3 356

Under which Article of the constitution of India, the President can declare state emergency in the event that
a state government is unable to function according to the constitutional provisions ?

(A)  Article 350 (B)  Article352 (©)  Article 354 (D)  Article 356

69.

69.
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69. 2011 ARUEM g AFE! afed smamf S eemeRf o/ safrggel wufed e TR gy 9eel 9™
ISSYRISIEIRE
(a) fe ® g3 © SR ) fem-Tam
69. oY 2011 St SITUAT & STTAR TEH & TSl § ¥ Gord e Trerar o1 wfaem fen @ -
(8 foe ® g3 © SEEIR ) fem 2R
69.  Asper 2011 census, the district having the lowest literacy rate among the districts of Assam is:
(A) Chirang (B)  Dhuburi (© Udalguri (D) Dima Hasao
70. ©ITeT AN AT sfvwgare ol &Kot @ snfEor g7er
(&) WS oy B) G TN N
© =T (D) i onfX
70. ©RCSA oA LI sfiFgmTm fofs Retw @aar st (model) %4
(A)  TEARRCIE ST (B)  TZAT GNIAS 2Aelfelt
© T et (D) STRISIF srefrett
70.  RA BRRM G o1 SHR faeifae merf 99 9 geat S aEe SR 2
(A) W o W (Mahalanobis Model) (B) '€ TAR UH (Harrod Domar Model)
(© eR¥ =3 (Harris Model) (D) T #ed (Gandhian Model)
70.  MRAAY I YoH GoH SHEh TRATSHI i STTHR HFHT oIaTel Hied of :
(A) HIRITHISH 1 Higd (B) TEE S HieA
© =RE Aled (D)  TiefeT Aied
70.  Thefirstfive year plan of India was based on the model of :

(A) Mahalanobis model (B) Harrod Domar model
(©  Harrismodel (D) Gandhian model
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71.  SIIGF (ST TS AW LRS! IS TTET AT S8 BT 2 7

(A) =P ® == © FoEA D) s&T
71. SIS (I ATSTH ABITS! ST [FFIT AIN ADAN I 7

N ®) == © drSEEA (D) &=
71. ¥R RIS Fe HY TS T-aTEfd Is G Qifewiieids ?

(A)  TE™ B) f<mr © TSEH (D) I~
71. WA % foFd U0 H HEwem JaRis] e Yoo S foh e 2

(A) EH B) f<mr © TSEEH (D) dSE
71.  Which of the following states was the first to adopt the Panchayati Raj ?

(A) Assam (B) Bihar (© Rajasthan (D) Punjab
72, ISR At S 4T YAIS (ST

(&) @y @®) o gt ©  fes g D) (B)SI= (C)qRTR
72.  FISTET guT OIe Ay JET 36T

(A)  FI0 g @B ffxe g © e ga D)  (B)93R (O) TR
72.  Currency Notes 3T Coins Bt ESRISIEIE

(A) FlatMoney (B) LegalTenders (©  FiatMoney D) (B) 3 ©) el
72. 0TS ! HeT IR Taeeht Hg1 1 el i e

(&) R H ®)  ferie ga © fErEE (D) (B) ¥R (C) 2
72.  Currency notes and coins are called as :

(A) Flatmoney (B) Legaltenders (©) Fiatmoney (D) Both(B)and (C)
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73.  SINGIR LT TN (BT SSRTIR o ?

(A)  WrteT (B) &3y © @HIW (D) s’

73. SORIMOIT GG ST (F AT FaieT ?

() wrfre @B = © &N (D) I

73.  Concept of Utility HFTE@! fameR dR Fferiiciam :
(A) TR (Marshall) (B)  feo& (Hicks) (C) oAU (Bentham) (D) T (Gossen)

73.  SUIIATAT RN i gy fha gafda fhan o ?
(A) TR ®) fer © s (D) A

73.  The concept of utility was introduced by :

(A) Marshall (B) Hicks (©) Bentham (D) Gossen

74. R ABIRE ARFIAIE TSR @It R e

(A)  2010-15 (B) 2011-16 © 2012-17 (D) 2013-18

74. R ALIRS SAFEAT 52w T -

(A)  2010-15 (B) 2011-16 © 2012-17 (D) 2013-18

74. TSAfa =1 SR feeifeaa smefiam ar g e

(A)  2010-15 (B) 2011-16 © 2012-17 (D) 2013-18

74. IS YW 1t GRANSHT i SHierafy :

(A)  2010-15 (B) 2011-16 © 2012-17 (D) 2013-18

74.  Twelfth five year plan covers the period :

(A)  2010-15 (B) 2011-16 © 2012-17 (D) 2013-18
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75. ORISR BI© OB (G (FA® O] (FIC0T TIKT 2T ?

(A) RTGS (B) NEFT (©) SWIFT (D) «bre 727
75. SRAE @ yut [Rfas ovca e @16 T9me = 7

(A) RTGS (B) NEFT (©  SWIFT D) «OFBs ¥
75. FEANIE T QYR (transfer) ST TREM 8 HITHE! SRR ST ?

(A) RTGS (B) NEFT (C)  SWIFT (D) HFH TS
75.  STAUd TR H HET-Aaed o &9 H e HhiH-91 2R R S € ?

(A) RTGS (B) NEFT (©  SWIFT (D) TR HTH o Tl
75.  Which of the following is used for International Money Transfer ?

(A) RTGS (B) NEFT ©  SWIFT (D) none of these
76. SIS (AT IO ©lTed fooge G160 F1THF T 72

Aa) I (B) o AT © APowest (D) LS
76. 453 IF ISHT BHted F14F GTHT Sesimd S 2

A) TG (B) H AT © o (D) 3ITTAS
76. AR o6l WY TS S F1 fg=ra S ?

(A)  HERSH (B) ITY U © = dTE (D) wRE<
76. frAfafed ford T # wRaed & Faifae W@l e T § 2

(A) HAlER (B) Y YW © ufv=m e (D) wREE
76.  Which of the following states is the largest producer of gold in India ?

(A) Karnataka (B) Andhra Pradesh
(©  WestBengal (D) Jharkhand

UPT-19/P-11/L

100




77. SRR (5110 (@& TLATSH SATBF AMCS 28 I SAFVFCO! 27T -

(A) P o [T @95 (B) ARG

O TR (EL R (D) T FETE @eF
77. SRR (8] HIEF TLSH FHTS AW A7 ST DI 26T :

(A) P SIF I wres (B) FRIE

Q) RO COh BT (D) TSN TS HIeF
77.  ‘Self Help Group’ 31 Sehsl HHG] ARSI HEAMHST Se

(A)  AEE A foe s B) TEmE

©) ¥R Ve dF (D) ¥R RSd sk
77.  STCH W YU 1 ek TS A1 ol TAYH Fa hiarel HeM ¢ :

(A) 319" T faeR S B) e

© YRdE Ve d® (D) R Red o
77.  Self Help Group Bank linkage programme was first launched by :

(A) Assam Gramin Vikash Bank (B) NABARD

(©) State Bank of India (D)  Reserve Bank of India
78. ©ITod (3T ISHG fR-MA R R 1o Sy 7

@) 5 ® 7 © 17 O 19
78. ©R(o I ATST fa- Sl RLTTaes 31ty 7

@) 5 ® 7 © 17 O 19
78.  WINQM AIFeY TeSete A foqH 991 S ?

@) 5 ® 7 © 17 O 19
78.  9RTe o R T H fg-Te faum vea €2

@) 5 ® 7 © 17 O 19
78.  Inhow many states of India have bi-cameral legislature ?

A) 5 ® 7 © 17 ®) 19
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79. ©FF (SO Tais SITeIHT AT St AfIeediT (Fae 9%e 937 7
(A) e @) R asa
© RefereE (D)  WCATCITS SFHT 2SI
79. 9063 GF Taiefb ORred Tm A @EHIF AP (F@ BI7o 37 71 7
(A) oI ®) Remferase
© Teferaem (D) NI JFH T ABIT
79.  TEEM 99 WY WIf-eR YRA SR ifetami=ii Ggf gemmi feams A ?
(A)  Question Hour (B)  Privilege Motion
(©) Fillibuster (D) Calling Attention Motion
79. freAfafEd SF-H yomeh i ¥Rd % Tug Ao % wriwd H 71w S g 2
(A) 9 1 H0E (Question Hour) ®) Tufaers deE (Privilege Motion)
(€ Trfae= (Fillibuster) (D) ®AMERYY-HIRH (Calling Attention Motion)
79.  Which of the following procedure is not followed in the business of a parliamentary session in India ?
(A)  Question Hour (B)  Privilege Motion
(©) Fillibuster (D) Calling Attention Motion
80. TTI-77 AT BN SWHE (XA BACCT 27T
A 1991 (B) 2000 © 2002 (D) 2005
80. TwF-F AR By arswit SWG @ 2677 e’ 26T :
A) 1991 (B) 2000 © 2002 D) 2005
80. T EMS YRAM s@rezamd Rforraie HrnHe Asemesn Ser

UPT-19/P-11/L

(A) 1991 (B) 2000 © 2002 (D) 2005

102




80. SW-Td URwg H fafeeny &1 ford o ® Sirer T o1 ?
(A) 1991 (B) 2000 © 2002 D) 2005
80.  Sikkim was added to the North-Eastern Council in the year :
A) 1991 (B) 2000 © 2002 D) 2005
81. SITOR TRRHFI IO SPI0! TG ©oTd (FIF0T O B7 T2 7
(A) T RRYTS I8 FPIHI T8 BT TSI hoTeTd SIS IS (AN S TG hoF FAgo!
SfARe® g |
(B) TV IPIOIT STAGTOI TNCTS BfeT A AT=AT15S SN2 FFho 0z |
© TTI-ofF 1T TR TG TS A7 0 SPIoIF 71T ARbifers 23 |
(D) IO JAPI! Wew oifds Frrg TS sffvaw shyza R, srifadies sie a7 wwet sz |
81. ©FOR TR I SPIo! SR 57 @F S0 V= a7 ?
(A) SRR TLRYTAT IO SPI0! Gad 7R BT SHASTIS TR AISH - A ARG UL FIF 6P TGO
SHFe FER|
(B) IV SIPI0! THSINS THITS Beft SF=o151S SZAE F1$ho MRz |
© ST SFIBER I8 TR TS “1fw 30 SIP16a = [T sfpifers = |
(D) IV SPIOR TCo 5If® FRIg =TS sfam yag e, IS 93e TR wret 3w |
81. R BRIe Hfafsf 6 for gt sfesen M s HE wRATERRT 9r 72T ?
(A) YR BIRIEH 6 T4 THET F1-Grsn YRaf SHSfawR goreni, Tsraf-i SR sfigan e ma
ARG TEl Qe |
(B) 6T THEN SRR FHISTE TE Maf W SRISTR T -2mR@! e 7 2Q |
© |-grs YRAT TET T T Seg (Autonomous Councils)qﬁ'{'@f 6 T THIM SHSTTEE ST |
(D) 6 T HI shfese M M s91g (Autonomous Councils) RIS TMAERAT ST STHR, A SATHR
AR fafSrr et e |
81. YA % Hfaw™ & 7 Y 1 Fefafed wH-H 3fa 9 7@ © 2
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(A)  IRAEY % HGHH 7 TS STYE & STIHR 9RA o SW-Yataa o SHsTaal Sl HISeh-TsHfas 31K

it fereh TR At 8T A |
(B) S STEEN A SIS TS shl TFRRTA I ki GR&T & fore w@hiepfd 30 €1
© S ST % qed TIhR IRATY & S-Yarael o Gt T wfed qiug i Ted it ¥ |
(D) WS Y & q8d THR W e ufise =i faem, e o) =nfoss amar S e it € |
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81.  Which of the following statements is not true to the Sixth Schedule of the Constitution of India ?

(A)  The Sixth Schedule of the Constitution of India ensures the socio-political and cultural autonomy of
the tribes of North-East India.

(B)  The Sixth Schedule recognises customary laws prevalent in the tribal societies.
(©  Allautonomous councils of North-East India are governed as per the provisions of the Sixth Schedule.

(D)  Theautonomous councils governed under the Sixth Schedule have legislative, executive and judicial
powers.

82. IR MRS ‘TrifEs STAEHS’ YN ©oTq (FITAT FET ST 419 FT (7 7

A fextafar  (B) SoRSgesy (O S (D) BISIFCETS

o

82. ©IFolT MY ‘T STNH * 7 G17enfS fHea @19 118 (AT eI TR ?

(A) offsEcafrr B) SERSISIE (O S D) XSS

82. YRA TR Hfafsar ' = fafsram wnfer’ '@t MR 56 FRIGHEE Hield T Sai 2
(A gfade ufeen (B) STHRAIAAZEG (C) MM (D) YeEIRUE

82.  WRA Hiaum o ‘=nfaes THien’ s ¥Ron - frefaied fea T2 4 sga 2

(A) USSR B) USA (© Japan (D) Switzerland

82.  The concept of “Judicial Review” in the constitution of India is borrowed from which of the following ?

(A) USSR B) USA (© Japan (D) Switzerland

83. ©FOR AT SIS Yo 16 ST 12t fdwT 2

@) 3 ®) 13 © 4 D) 14

83. ©ROR A JEISIF (TG 15 Sy 115 2

@) 3 ®) 13 © 4 D) 14

83. fommam 'far serme 9o fogmarg o swfaar amn ?
@) 3 ® 13 © 4 D) 14
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83. YN faf=m 3T ot Tt Faier eTgea st He fohat § 2

A) 3 ®B) 13 Q 4 D) 14
83. How many Election Commissioners are in Election Commission ?

A) 3 B 13 © 4 D) 14
84. WIS ?

A) I 3e AR @ elTe iy TSTE @331 19t 5t 4190 7% |

@) fr3ee Affers @ ST Rone @ bt 4170 ey |

© FryTe afafste @ EF s Gt 4iacet ey |

D) frzEe b It @ o bt Afafsts @F e bt 4iacet i |
84. TIBIFRE?

) @R IS [eFSHT ST SIS [T (AF HIFT 417 737 |

(B) I IS TRt STOR SIS FILFE HIFT 41 (7T |

© W IfREtE [reFBfeT s bt 419 T |

D) W E 9D s 57T S5 WSTH Ierfen I31eFE BT 419 (7T |
84. S B HM :

(A) TR Sh3Tl YR RS ShHwE U SRR dFE B8R |

(B) THIGINTATR SehaT VR Riel sl g1 BN |

Q)  RIHATATR S{haT ST TSl SRR ARTRRA] 21 81 |

(D)  HFY FRIHATAR A3t A HAY HARTR sehl T g4 8R |
84. THFTAAT?

UPT-19/P-11/L

@) 59 gea § aiftfers Se arRd fiod 9% @ T & od €

®) 59 R aftfes d& yrdr fisd S a1 T3 & d

© | q arforfoorer S, e ol TIF &t <d § |

@) T\ R F arforfsaes S, TR TH oo S 1 T3 s <

105

P.T.O.



84. Whatis bank rate ?
(A)  Therate at which commercial banks borrow money from the Reserve Bank of India.
(B)  Therate at which commercial banks lend money to the Reserve Bank of India.
(©)  Therate at which commercial banks lend money to the customers.

(D) Therate at which a commercial bank lend money to another commercial bank.

oo

fafeTfie (@10 o 8% ?

85. SISTRIY SiveEd (Faw

(A)  SIBRT ATEIET 51T AFRoTOBI ST UF(FEF 2 |

(B) TP SO BIFIRT FRLTLT Tl 2iphoq 2°I% T |

© SIPTRR SISl b931T dFhosionl ITolfEF 23 (RN |

Va4

(D) TSR SITGHS IIFeHTT S T Fif e |

N [ e

85. SIPMRI S ET (Fl@ BN EIRGECADRGR 53‘3'3_1 7

(A) TR SITGIET SRFR AFSTeoIE T UFFEF =7 |

oD

(B) TN stereliEs TR TLfHAG i s xees 3@ |

©  SIOTAR ATSIfEE T AP STOGIT ATl ET = AT |

(D) SR sife@ AT g Ff F1=F |

85. TIfciaTH=IR HRER GUEATE TMERIM el HTH Y e ?
(A) iR GRER e Hee e SRER e |
(B) eI HRER G ferer wfefsid enemi |
(© eI HRER GrsarE TS @f-2@ o= g7 |
(D) e HRER QA gReiiE goTed’ g[e Sh |

85. U THIM YUl TR ¥ frefafad wm-dt 3fe we €2
(A) TH HES JUMCH TRR FHRT TR €9 § THETH & |
(B) TE HHIA Yoeh WHR Ffved w9 § ww fafaa d@faum @@ g1
© TH T YOel TR YhfaiTd &9 F TR Tal 2d & |
(D) TH TG YUl TRHR & FHH Teh THIR] e ¢ |
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85.  Which of the following statement is correct in case of a parliamentary form of government ?
(A) A parliamentary government is always unitary in nature.
(B) A parliamentary government must have a written constitution.
(©  Aparliamentary government cannot be monarchical in nature.

(D) Inaparliamentary government, the head of the state is the titular executive.

oo

86. OITOF (FIFYF FIST AIN ©IFIF ol8e WWW 7

(A) TS (B) wifvEAg © B A (D)  =IoMCETSs

=Y

o o

86. ©IH(od (@ ISHH AN ©IFIT fofare sifdo @ fheT ?

(A) YA (B) Sy © TH AT (D)  FI9MeTSTes

=N

86. VA oal HIY YzsiteT fferg«f emamg wenf fafeidt dmm SemE SeEE ?
(A) HER' B) dHEAE ©Q FYUYE (D) RIS

86.  WRATY < fohl T hl GLH |V 1 STTERA AR TS fehram T o1 2
(A) RN (B) e © ST (D) e

86.  Which of the following state is formed on the basis of language in India ?

(A) Maharashtra (B) Tamil Nadu (© AndhraPradesh (D) Nagaland

87. ©o] (IO GO SIS (@31 T 927 7

(A  RORE g T (B) T Zoft T

©  rpyar S D) T fEe

87. AI6d (G ST fFToie 512w 1K 77 2

(A) REFE JUF T (B) I wrofteaT

© «To Y& QST et (D) o FI=F

87. TEMAM I« WHYA YRdT Ree senf @wmnfg =T ¢

(A)  Custodian of Foreign Currency (B)  Printing of Currency Notes

(©  Issuance of Coins (D)  Controller of Credit
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87. = Wl HA-T WA Retel Sk 1 hred R & 2
(A) ST HeT o et (B) U U HIAT
(©  THeRRT a1 y=TeH (D) kU s
87.  Which of the following is not the function of the Reserve Bank of India ?
(A)  Custodian of foreign currency (B)  Printing of currency notes
(©) Issuance of coins (D)  Controller of credit
88. ©eR (P! TeRHifaE SRE ¢
(A) =T st (B) e S
© IPIte sifes TG SISt (D) [T THCET (SO
88. BT (AIG TS 5725157 7
(A) BT SISt B) ks st
© It sifed AR ST (D) ToET 5K F0
88.  TTETHM Sfel HHAT HielSTaanl wHM ?
INERELIRICHREC IR (B) T 3
(O)  Scheduled Caste T foeait a1 (D) T TS S
88. frAfafEa -1 digenfte e qem €2
a) frat=a smm (B®) foa M
©  ergfEa Sfd &1 T s D) FRFIFE
88.  Which of the following is a Constitutional Body ?

(A)  Election Commission
(B) Finance Commission
(© National Commission on Scheduled Caste

(D) Allof theabove
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89. 5 Fofass TITSIG 2Ty a1 2R (T4 T

(A) ©RS (B) A © 301 (D) WRT TG

89. 5 fofas TSI aIzel T4 21 AW (w1l =67
A) TRS (B) T ©) 3o (D) WIRFT FFAIE

89.  ‘Zero Based Budget’ STEREISI-E BIRIGSAT ST& :

(A)  HRd (B) S ©) I (D)  STHRERT SIS 7T

89. I I YR M Tl FAER HLTATEA JIH T T -
(A) o (B)  Sr © e (D) IR YRS

89.  Zero Based Budget was firstadopted in:

(A) India (B) Japan (© England (D) USA

90. (19 bT® SITOR SIS @0 YT INersEa 4179 M1, M2, M3 31 M4 28 FF ?

(A) 1956 B) 1966 © 1977 D) 1991

90. I (T BTSN SIS HIeF JuIF ISt €= M1, M2, M3 W38 M4 4399 3 ?

(A) 1956 (B) 1966 © 1977 (D) 1991

90. & SIGRT YR fSiTel sishl YT mg! T=a (4 He@ M1, M2, M3 3T M4 Hed SIEeAH ?

(A) 1956 (B) 1966 © 1977 (D) 1991

90. @ ad H vRdr fisred S = g1 1 Joit faarsH St gmon M1, M2, M3 3R M4 # e forg & 2
(A) 1956 (B) 1966 © 1977 D) 1991

90. Inwhich year the Reserve Bank of India introduced the concept of classification of money into M1, M2, M3
and M4 ?

(A) 1956 (B) 1966 © 1977 (D) 1991
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PART - IV : Language - II [ English (Compulsory) ]
TIPS QR ST ofi-II (RIS )-S Yo 3007 2 IR SN Q3 S Tt AIFHIT IR TSNS |

WA s Q2 Ol SRl- 11 (ReFIE) -Ts TiiD 3015 2 Nitg ©3e U Sist 5izvet ST Sy ILTeES |

AT WA ST STerTEE e -1 (ESt ) e 30 St e e e mde oAt arer TR
el

TEequt . |l wenfeE % forw T e H -1 ( 31T ) 9 |edt 30 we s €1

Important: This Partcontains 30 questions for Language -1I (English) and it is compulsory for all candidates.

(ENGLISH)

Direction (Q.No. 91-93):
Read the following sentences. In each sentence one word is underlined. A set of four alternatives are given
against each underlined word. Select the word opposite in meaning for each of the underlined word.

91. The]Judge thought that the offence was deliberate .
(A)  negligible (B)  unintentional (© casual (D) legitimate

92.  Modesty js a virtue but it must not be allowed to be exploited.
(A)  reserve (B)  mildness (©  boldness (D)  humility

93. The Government may identify vulnerable areas for precautions.

(A)  important (B) remote (© invincible (D) famous

Direction (Q. No. 94 -98):
Select the correct alternative for the underlined word in each item given below. Againsteach underlined word a
set of four alternatives are given. Choose the correct one.

94.  Prognostic test discriminates learners and provides guidance for future career.

(A)  Achievement (B)  Diagnostic (©  Remedial (D)  Predictive

95. Learning alanguage involves the establishment of the links between the language form and their meaning.

(A)  style (B) pattern © type (D) usage

96. A sense of success and achievement is especially vital in any teaching learning environment for motivation
tolearn.
(A)  incentive (B)  willingness (©)  desire (D) passion

97.  The cognitivistic school of language teaching looks upon language learning as a process of hypothesis

formation and hypothesis testing.
(A) explanation (B) assumption (© idea (D) principle
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98. Language teaching methodology indicates the sequence to be followed in a language activity, and the role

of the teacher and the learner in the sequence.
(A) technique (B)  design (©)  procedure (D)  process

Direction (Q.No.99-101) :
In the following sentences some are correct and some are incorrect. Find out which part of the sentence has an
error. Mark itas (a), (b) or (c). If there is no error mark (d).

99.  No other hill station is as beautiful as Shillong with its scenic beauties. Noerror
(a) (b) © (d)
@) () ® ® © © O @
100. Perhaps you know that Ihave passed the examination in2015. Noerror
(@) (b) © (d)
@) @ B (O © © ©) (@
101. The world today is totally different than we have seen in the last century. Noerror
(a) (b) © (d)
@ @ ® O © © ® @

Direction (Q.No. 102 -104) :
In the following items you will find some gaps. Four alternatives are given against each gap. Select the most
appropriate alternative for each gap.

102. Encouraged by the success of his venture, he has decided to embark the expansion of the project.
(A) at (B) for (© with (D) upon

103. Therich are always succeptible flattery.
A) for B) to © of (D) into

104. Co-operation between friends stems mutual understanding.
(A) at (B) from ©  upon D) in

Direction (Q.No.105-107):
Each set of the following sentences have four alternatives. Select the most suitable alternative in accordance with
the correct use of tense.

105. (A) Itislooking that it may rain. (B)  Itlooks thatit may rain.
(© Itislooked thatit may rain. (D) Itlooks thatit mightrain.

106. (A) Helived in Delhi for two years when I went there.
(B) Hewasliving in Delhi for two years when I went there.
(© Hehad been living in Delhi for two years when I went there.
(D) Hehadlived in Delhi for two years when I went there.

UPT-19/P-11/L 111 P.T.O.




107. (A) For the last three months I am working on the book.
(B)  For the last three months I have been working on the book.
(©)  For the last three months I had worked on the book.
(D) For the last three months I have worked on the book.

Direction (Q.No. 108 -110):

In each of the following items one word is underlined. Four alternatives are given against each underlined word.
Select/Choose the word/ phrases nearest in meaning to the underlined words.

108. There is no single method to teach in every class. The teacher must be eclectic in his approach.

(A) unusual (B) proximate

(©  round about (D) drawing from various sources

109. One should be precise in his speech and should not be impertinent in expression.

(A) impudent (B)  restrained (©) irrelevant (D)  superfluous

110. A scientist generally carries out his investigations empirically .

(A)  byintuitively (B) by observation and experiment
(©  verbally (D) logically

Direction (Q.No.111-114) :

In the following passage there are blanks each of which has been numbered. The suitable word for the blank has
been mentioned against the number given below. Select the most appropriate word in the context of the whole
passage.

WhenIgointo astranger’slibraryI _ 111  round the book shelves. This is to know the type of person he is and
Ifeel thatI know the _ 112 to his mind.

Ahouse withoutbooksisa _ 113 house, no matter how rich the carpets are. These only tell you whether

he _114  alotof money, but the books tell you whether he has a mind as well.

111. (A) wonder (B) run © look (D) wander
112. (A) secret (B) muystery ©  key (D)  solution
113. (A) characterless (B)  bleak (©  unlucky (D) Dbad

114. (A) had (B) has (© have (D)  has had
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Direction (Q.No.115-117):

In the following items some parts of the sentences have been jumbled. You are required to rearrange these parts
which are labelled as PQRS. Choose the correct sequence of the labels to get the meaningful sentence.

115.  The management having agreed the workers called off the strike
S R
to increase their wages and returned to work
Q P
(A) SPOR (B) SQRP © SRPQ (D) SRQP
116.  Scientists carrying out a study of an ancient caused by man made carbondioxide emission
P Q
glacier feeding the Ganga may melt before the end of 215t century because of climatic changes
R S
(A) SRPQ (B) PRSQ © PQSR (D) RQsP
117.

The essence of democracy for which every citizen must be

P Q
educated and matured is the active participation of the people in govt. affairs
S R
(A) PQSR (B) PRQS © PSQR (D) PSRQ

Direction (Q.No. 118 -120) :

The following sentences are given in Active/Passive Voice. Four alternative sentences are given against each
item. Select the best alternative that expresses the same.

118. We mustendure what we cannot cure:
(A)  Whatcould be cured must be endured by us.
(B)  Whatcould not be cured must be endured by us.
(©  Whatcannot be cured must be endured by us.
(D) Whatwould not be cured must be endured by us.
119. One must keep one’s promise :
(A)  One’s promises are to be kept. (B)  One’s promises must be kept.
(©)  One’s promises one must keep. (D)  One’s promises were to be kept.
120. Modern means of communication have made life much more comfortable.

(A) Life was made much more comfortable by the modern means of communication.

(B)  Life has been made much more comfortable by the modern means of communication.
(© Life had been made much more comfortable by the modern means of communication.
(D) Lifeis being made much more comfortable by the modern means of communication.
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PART - V : Language - I (Optional)

TETaqut :

Important:

@3 T SII-1-B SPIRT, ISfat, ICol, sieat, Bedt, 7T, @=irer, wfosfy ore s - ofseo
OIFIF 30 BICE 2% 3Mtr | 2SI S #1@ =i OMR $@1-91a9 ©fFl-1-© Srad 397
O AR Teg g ifaR |

3 SICSIF SIFT-1-Q PR, JIeT, 0o, ST, FH, wa, @#fe, wfosfy gae s - 2R
©IF1F 300 @ o Sz | APFTR @ 7itd 932 OMR TeF-add ©iFl-1 (o Srard F1
oY Aafer St te 2@ |

[ ;S sTRrTErE wa -1 1 g, dien, 9, T, fo<, 7R, e, "forgd s el - Sratg-sen

A 94 30 9ify a1 SEwR foEEEn EerE 3T OMR R faemsf wa-1 =mE
T ' TEf T e |

TG 9T o T - 1 % fore feu o fasredi | emafien, sien, siel, TR, fe<d, AR, "ureft, Afrgd ud
el - Yodeh T B 30 T I | qenfeied 3 2maea-us 3R OMR STR-931 | oo -1 # 51 o
1 Seeid T &, SEt aor | ST e ©)

This Part contains 30 questions each in Language - I, for which the options are Assamese,
Bengali, Bodo, Garo, Hindi, Hmar, Nepali, Manipuri and Karbi. Candidates should answer the
questions for only that Language-I option which they have given in their Application Form and
recorded in the OMR Answer-Sheet.

(ASSAMESE)

121, F1 I 7o (@S S 5 et a1 71 2

)
©

STfrz ST 2FHTIF (Active, Productive) (B) STFI 3P FXATQF (Active, Receptive)
@Y 3= S2eT91 (Passive, Receptive) D) IR AP AFHTQF (Receptive, Productive)

o0

122. fRfEIG (@A 98 S wed 647 ?

)

7ig S e (B) TMEmTETS (O I (D) AR

123. wooife

)

AR SIS AITAT 6 &'
chifers $ast (B) AN © efeet D) e st

124, ST *1=Q STHIRS *1%7 20T

)

O B) ©tu © s D) e

125. SR ©ETe [ Feskiae ST 27

)

50D (B)  55Br © vor (D) 58br
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126. THRTIRIG @NHR0IT 21T ®=GT 1Y Sferadr :

(a)  offer () S

(b) ST (i) AT I

© % (i)  2TS

d) e (iv) I

(A)  (@)(ii), (b)-(iv), (c)-(id), (d)-(i) B)  (@)(ii), (b)-(i), (c)-(iv), (d)-(ii)

© (@), (b)-(iii), (c)-(i), (d)-(ii) D) (@)-(iii), (b)-(3), (c)-(ii), (d)-(iv)
127. @ORLFIT FROT {47 17 :

(A) TGS (B) SIS © WiemE (D) T FleT
128. fARfefie @10 == 3ifHRa Teto LT (207 ?

(A) =T (B) SROTET © IV (D) THrRY
129. o SIS @FFG AN et 7

(A) I P NAASIT (B) SIS S AT

©) Mt sie sretfirs (D) IR SF IS Sorerat
130. Frerfiey RS ofet Wbt fiisics Ko 4393 oot 97 | ooy ot s OF BeTRIRT ST=9IE et

P

A) (NI SRSt (B) WEATSRIRSSIH

© owiw Reve g3 (D) s eiFiesid

o o o

131. RIS FIHO! 575 GOR 739 STFFA6S 77 Kefes Snzad ?
A)  «F (B) @t © T D)

132. ©FI9 (IO SPTT ©FIF “NfE o< ©ifow T&T 969 Sz ?
A) W,F B ,7 © &,3 D) ,%

133. ‘fINTST FEAT FIHFATT I -
(A) AT cstrerfs It (B) TOHIF ITHC
©) Spel bU SIS (D)  TSuifozsTw SsEeTeT!

134. ©&F (@O Ao It FAF1F (Second Language Learning) CF&® ATATST 92 7
Q) 2T @ Tl Al |
(B) 3 Pt Togf 2riics|
© eifas Ri-feas wiesn Rt 231
D) faow ot frsr OBt wifbet ofwwr; 3 TR SRaTets 326 e 53 |

UPT-19/P-11/L 115 P.T.O.




135. CICAT I I Ohe TSI (@I 490 272 2708 ©fF (I 3
(A) derESfie (B) SIETFTfE © IS (D) OIS
136. SPTRRI SIFF S84 (FRY 21Fes A1aT 20% :
(A) oo e B) THRCHIAFs (O TREEAFS (D) W AFS
137. f¥afafis @H0G e ©95 2
(A)  SPINIT ©IFF 67 J[IFINTS (B) I54 FPIN 1T T ~ffaqda 923
© FBAIPIRROTRFRARTSTI™ (D) ST SRS 64 e
138. P37 ais Frere TioeT Srow Qg | FE
A) Froes s oie g4t < ieq KeHTe SR FF |
B) TS Siias R I Moet ez |
© WioeNE @it Freg sTeghes o15@ o 906 |
(D) 39199 SGIRCFRBT @97 |
139. SPNG SFT-SPNRT a-Za1F SN SiEt R Sy 2°4
(&)  BA-RAPTHCE SRR SN R S&F ST FRF 1T S Mo KFE@ET Glie PR
AT g T o1 |
(B) TOSTEIE THF 7%, Srpdl-315 P -1 AT S ST ST FAT-Iw T “Mife #nf3
I SO BRI (@I FA-I0TT B BT TR @7 SHHRT s x|
O TIa-QATHCE SRR e Bf5-9a, wiis, I691 311 “1ofefes [ifen @t wais «1fis oie fofig
AR |
(D) 87[T TR0 B
140. SRV BTG =hs 1T g |
(&) fofb (B) @O © o D) oI5
141. IRCIRT TPl QOIS Fredie :
(A) TTH-TRIOE TIRET PTG FT I TS (FIAT BT TIRIT FIRICHT SRS S Jed 767 |
(B) T fomet, [FINT 157 g R ST SAEE SCter #19, T19 IS 795 -©iwt B I ez
FIRCeT 37eT 27X |
Q) WiR SIS TR 11 “1E, TE O BiFT @I FERiEis it (s15e A1 |
(D) FUT-IFST ST AN TSI I T SFHAT Sqed 7S |
142. ‘@0 % RoSre o 2°a

(A) @ (B) Thes aHar © wR’ (D) % oS

UPT-19/P-11/L

116




143. PP SN 95T RIS SINTER TR SHIRET KIIEIRF IR I ATHRAPT ol e I |
Q% STTICOR ST 27T
(A) RS 8b9® - TR I8! ST |
(B) TITHIISNG TheT T +1fGatsT fet |
© T (X 0o FACE QLT |
(D) THTCHIORS AN CToCater (IFICE I FARSI A7 58 @t c3et- cuwifars sifvacs P |
144. ORI I9Q1T FROT R4 =T :
(A) o (B) AT © =ftoIgsT (D) BT O
145. Y 957 I FNTW FHIT ©OIBAE SIS J0T o716 il 2
(A) SR (B) TIEHT © *eq (D) T& @M=
146. DT IS oI SLACOT ST ST T 9T FN QR 7ot @iy Kam oz sz st =3 2
(A spef @) o oz © oyl fRET D) =g fefs
147. fAaffis @Eor s w5 2
(A) VTS SIS ARTERS <@ ST SHI6 A AP IS 1HF it 3rFFe AT |
(B) HPIIST FIC TN SRS HPFRERRST F2a5 @f | Wi it TRTe Sififafes sTeas
N |
© FWHRN S (AT [T SASIICS FoT S’ /i S5a1-36fF Shifvs 27 | 775 SpPie
3T SIANCOT I’ & SHfada =7 |
(D)  @9FT G0 BT
148. SPTTRI GINIT SAGINT AR AU STl S 7'
(A) SR ORT SF SRt (B) SPTRT IE SPNT BRT-Toe]
© SIS I M 8 @ TICETS 3T S D) Toer Kesiq
149. SN HIZIVT W7 PO 27T
(A)  FIT-FF-fTIT -0 (B) IIA-FAIF-95T-feraT
Q)  FAF-TIVI-Aoq-feraT (D) =FA-A57-FAF-feraw
150. ST ©FT S8 3= ©eto Oard T (e oFifIm fF 7o Ssiaoiag Bao! Kot 17 |
(@) CRFY Sl ()  ATSs-sifenra e
(b) TP I (i) CoMTEY dige
()  iferan i (il) IR NE CINR 2FS
d e FIFS (iv) W AFS
&) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii) B)  (a)-(iii), (b)-(ii), (c)-(i), (d)-(iv)
©  (@-@), (0)-(iv), (o)-(ii), (d)-(iii) D) (a)-(ii), (b)-(iv), (c)-~(iii), (d)-(i)

UPT-19/P-11/L

117 P.T.O.




121.

(BENGALI)

‘S’ Q32 ‘Sfea’ O3 TmitiHe foarfs = o N [ 11
INERECCENIC B! (B) o 9IL JTER
O IS UL A (D) SRITS 3L BB

122.

JeTHICeT IFAEH (I AfadR Fhay s a7= fercafure 2
(A) IR (B) TR of@ © IS (D) AW ACIFA

123.

B @ 971G Z9a6w RIoPIsEa anfers Te41 2
Q) @espfaefs B) e IaanT © e et (D) eSS

124.

SR Q2 FTNITT TH@ A6 (&I I/ oy ?
(A TR R ol @R a1 @3 (B)  SWIOT A1) efe @It o+ (33
© Sifwcs Refea 3727 @3 (D) TET 9FH8 T

125.

NG (ACF AFIFE aFa wiae sifasra s=oims fea cswifeesim semaegier|  “fawsia 9w 5
foet 2

126.

127.

(A) ST ®) i st © ST (D) STV ST
ZeifRs - «ft @A >Rt 7

A) I=2dI% (B) IS © w2 (D) oo ooy
FATEACT ST SR B @ TR WY T 2

A) I ST B) =RLETD GAFTI

© 28 TPHETF S D) @IFRGF ST

128.

“QILET ST TS STTHRT 0 sMAT ©fsf B QI Sefieto T KAy Fa KSR Sd OIS 9074
SIFY AfFs Fga - SfEH w7

(A)  IETET G (B) ITHANR DT
(© ST IR IR D) TOo& SHIETLHE

129.

nRCT- 915N o1 I Sofera e 2
(A) I (B) IATTAST © I (D) FWEAT

130.

o FreR oF@ AT ISR 2157, 3¢, $34, o7 7 wa 1316 siat Ffracs Ai1f ) - o3 916 6 6 2
(A) =TI - AT (B) AT - foram ©)  FI - 55T (D) 515 - foras

UPT-19/P-11/L

118




131.  TSUITOASM SSSATCTIR NI F 5 fozet 2

(&)  TEITd B) RICTE! ©  feqamn D) =T
132. PUEF FIF WIF W 5 foget 7

INERRELRINSE (B) et ®ma © AemAl wd (D)  STwr (ar
133. SI6F @I ST IFENECUT ©F 3 (TITAEIF ST 7

(&) e B) FRI@ITIT (O W D) usfT AT
134. S5 @A IFGre TR’ A= AT = 2T L 2

(A) TS5 BT (SN ST (o (B) D TRFF Tl @At

Q)  sirerfes Aifssts s (D) ST NATSR BI 77
135. SIS S 3 GFITN FFRTET (@GS SIS S ARRSFR (©fet A0 FIFIER

(S SIS TR | - * TR B @ IS TS ?

(A) I (B) ZBE AR © AT A D) GFmeTITAfs
136. 215 TROR oY ©iFF o» el @HIG 2

(A) A (B) I ARG © @ (D) Teifan
137. F@ T - [Fofs g Fa1

(A) ST 9T ®) ot fRoree fsw

Q) =T QST AT D) ©F e F ot Face faom
138. ‘oM’ *1=iGA SIS =% @G ?

(&) RS ®) =F © #@yd D) oIFR
139. #ors Sfe [Hefx o3 -

A) T I (OF I @ OF ST oW [Feis SEref x|

(B) [YI I AN et oI 4 ©feT (eTesiy |

© Ty SRR IfeTeT, ‘@ Siigd We e e I (117 S SRRy SR M@ 1’

(D) STORN I I, H5F Mo e GIST WIS F0Z A, HT5d (@IS AT |
140. WS ARFONACER SoET 6 7

(&) ®) 6 © T D) GG

UPT-19/P-11/L

119 P.T.O.




141. SR (T WToGINT FReg S[eReta SR 5 2
(A) T AR TOORT 55K Hel<
(B) BT *IIAT FFeT
© TSR AIESS A1 FF TS F=AF SPIbe!
(D) SRR Sl

142. GFUF Q% AT & T 17
Ao T s Sfew o - 3 serenfBa ‘ashim 9 o/ Sifer 737 #1@° Tonft 2ot i fo

IS A 7

A sefafs (B) IHIfS © wgIfs (D) Tofs
143. SIMIME 0T @F1E ©fst (@1 fIoeT! St 91 3ESi et Frst (&7 3 2

(&) AT fHgfiea Sy B) [T MRS 91 (F TF ST S

© I TATS AT T (D) HBF ASAT SIS
144, IS TSEET ZNE ‘TIPS @GP =4S A (& YT F& 2

(A) SIS FIeT *oyfina (B) gl oW OTF

Q) TSI TATATLIT (D) TSEIE 3T A

145. SI$VIF I ST ST (U AF1F6 2877 @ Frsmifyss sifasm fovates o3 stfawifbg am
A) STt B) JETF © FOTR (D) STt

146. ‘IANF RIS ISEIRITTT 31 7 2
(A) IS JT ReT ®) IR @G
© IF ST O U O3 SISy I (D) Tel A1ST D53 ©f st T

147. T O ATEIF Frord S [Hae |
(A) TN TSR (A QI Tox (B) TN TSI (ACE @IV I @R TS
© T TSR (AE ST TR (D) QT TSRS (ATF BT TSR

148. ‘(NEHIW I4° FIT TN AL (& A ¢Cﬂ&(.¢1“i 7

(A) T (B) @ © el D) ssifs
149. BI’ =G THIF "= B @ I 2

(A) TSI (@F T AT & ? (B) ASIHI ST T CT T T HLOR

© I WIS Wio! T2 FA AT (D)  T9IT7 #1TeT SIS ©F FC02 2

150. I W FreaT Mo s @G 2
(A)  wHm B) RgH gavee © TFBIed (D) CEHIEOING)

UPT-19/P-11/L 120




(BODO)

121. 1971 HIEATEAE TSR &RONER SaRifT Hie’ Teegare M -

(A) T2 TIEI (B) TI24 GBI © <20TUEI (D) 726 GBI

122. TS WA Wi ¢ maf fremsfa! ! wiumdl Tt 9« ke wREES) -

(A) ST (B)  STEEHIAE ©)  STATTEETE (D) TS

123. TEEM o« AFEEn @it 537 faferenfy fefer -

(A B M © D) &l
124. SR TS TR Hel WA AEleThRA] Sifd STRI SRR e -
(A)  ATESTTRE ™ (B)  HHIHHME A=
©  YHEIHERE WA (D) TSIt HAemHs
125. ‘' 7T AET S ST e "y -
(A) TS et ® fEmsgHeEst () MG URST (D) S STE s

126. SR SYHARIT sifesen fHEAR g Sem -
(A) 1797 HISATSHHE 1959 HZLSEH (B) 1920 HIZUTSHHE 1939 HIZATSHH
© 1911 HIEASHHE 1937 HZABEH (D) 1921 HEAUTEHEE 1948 HIZLATSEH

127. <R’ &9 HAAT 8 TR RERfawry Gieefa s« o« sramame fse=n g -
(A) o 3 R (B) TSR WA © o, ISR AN (D)

T o =9

128. TR el WY SHISTHE T Tar TR o faamf fafrer -
@A) 9 ®) 11 © 99 (D)

20

129. <R’ TG W TEUEHEE o GHUEREH A O9EE AFed 39 SSITee] STerEa S -
(A) HFH (B) HFa ©) HHUH D)

130. o Y@t A6 AR TR {fY SeiemEt 7Y TR e -
(A) TR TR @RT RERfre Aiens famafagmm
(B) NUTHR@! s BRI
©  TaEf-eE T HRA™
D) (A), (B)3(C)

UPT-19/P-11/L 121

P.T.O.



131. TR 99 HFY ST A& el S aterira ! Sfiferd hiRmmE -

) faxw (B) @HH THE © e (D) T3 T
132. S5 FHR SR SAEhRE St -

(A) Uik SEEEREE! I A (B) WHSIGTER SEEARE! A Tl

© T AN BRAEAR A 5 (D) ISt I
133. =R qATd GEIs@! HHerde J@mf /T -

(A)  HHFT B) A © A’ (D) HEUH
134. X' V&1 RS Higel BRATATYHA Sfqee 716l S S S H= -

(A)  STEE oY ®) faea’ amE © M (O BRERIESESIHEE
135. Tdi qfieqwmi fomn Tet -

() fiflew@dmngd ® W@ dgd © (A) SR (B) (D) oMfY TE B gal
136. A. Christiansen 3 felti Grammar and Dictionary of Kachari Language fersri SEREHH

(A) 1906 FEUEAE  (B) 1932WEUEAE  (C) 1904 W EUEAE (D) 1905 HIEUTEAE
137. TR o ATESITSi 6T STSIea] SIS HI=e gatte -

A Th (B) HHER © f&afg (D) EHeH
138. T ARRIM Hg' "' fosien o AR Toeian -

(A) 1978 (B) 1994 © 199 D) 1992
139. TR R T UhIE favie Tk -

A TIERT' (B) HR~H ARR © TrowHa s O) TRET'
140. TRHEM 96 SEA T<E o) ' STEEAE SHM H-- T T -

(@) foam (B) AT © =m D) R
141. faguw s sta@mEaE SHW d=E ¢ firfa faerg ' g fosren JemREE -

(A) 1984 (B) 1980 © 1982 D) 1986

UPT-19/P-11/L

122




142. TI'I%'I'al'ﬁlaﬁ1%9|~_7|'|79|'@$f].D.Anderson3'~|T"%1'{_<ﬁ'1:h7f—
(A) Dimasa Vocabulary, 1895 (B)  Boro Grammar, 1959
(©  Dimasa Grammar, 1906 (D)  Sketches of Assam, 1855
143. =T SRS ST T TR THIRE S| g3 9 a1 e -
(A) S (B) TR AR TR
©  femdt geri (D)  Hi fepere
144. ' A TG FREGRMA AT -
(A) TR RERFRRS! SRS ®) R FERfusi SrmEs==
© TN AR W FERfyst smEeE (D) TSI Aeee AT
145. SR’ A6 SRS e fef-ern feamsan Ared -
(A) TR B O © e (D) HHa™
146. 991 U@ HEGE! Hieire s Sedn HAd g -
() Ta, Ty, siife amafef framet 9
(B) TR Hreir faferd
©  TFA TeE A S
(D) TE@I °H SR ST
147. ‘19 <heEf Seen Gersme G SREE! REmeH! O o8 ' G YAersEl JYUREH TR SR TeEt-e
forsme TR AR R S fasewRE! )’ 9 gREEREE IS SIgre 9R e
(A)  TISH AR (B) THERIGAIR (C) FHAFARTE (D) HEE R
148. ''HH" =1 9E fefern 3 SNEEREl X A F6 9 YATES! AeEAE SEl -
(a) Afgemumty  (B) [ueWeuamfy (© Ay AR (D)  Gfy, fe TR amfy
149. X' YFAE HIUNE THeEd e’ gar ferfii w&¥ famafy = g’ gt fuften s -
(A) T FEA T B) R T © A== AERd (D) o Aeeh
150. Reverend Sidney Endle 3T sR ‘1 STifHH, 7, G oFes TR Taft €< foram fasmen smem -

(A) The Kachari, 1911
(B) An outline of Kachari grammar, 1884
(©  Boro grammar, 1959

(D)  Ashort grammar of the Mech or Boro Language, 1889

UPT-19/P-11/L

123 P.T.O.




(GARO)

121. Ka-'mao sing-anirangna ke-gipa kattarangko ra-e aganchakbo.
Sentence-o-salsretgipa katta ara mai Gender ong-a ?
Matchurang bakrao cha-amenga.
(A) Me-agender B) Me-chikgender (C) Ramramgender (D) Grigender

122. Ka-'mao on-sogimin sing-anirangna ong-ak seoke aganchakbo.
‘Harvard Denison’ uni orto ba miksonganiara mai ?
(A)  Gisik aro bilko bilakatani ja-pang B)  Gisik Rong talgipako man-anija-pang

(C) Bilakani aro seng-ani ja-pang (D) Skia man-ani aro toromni ja-pang

123. Ka-'mao sing-anirangna ke-ako basee aganchakbo.
A-gilsak gimkni ku-sikrangona ong-nasipile pemangimin toromni git-a badia ong-a ?
(A)  “JisuniJa'man Anga Jarikgen” B) “PaDe Gisik Namgipa”
(C) “Nam gipa Gisik Paroa” (D) “Bi-sadJinma Salgioni”

124. On-sogimin sing-anirangna ke-gipa kattako ra-e aganchakbo.
Howard Denison uni poedo “A chik ku-rang” ko mai miksonganio seaha ?
(A)  A-chik skia man-ani batrorobachina
B)  A-chikni ku-u silroronam rorochina
(C)  A-chikjatni torom giproroangchina

(D) A-chikjatni dakbewalrang samroro silroroang china

125. Howard Denison mai bilsio M.A. English degree ko pass ka-aha ?
(A) 1936 bilsio B) 1938 bilsio (©) 1942 bilsio D) 1947 bilsio

126. Sing-anirangna aganchakbo.
Mingogni dingtang dingtang kattarangni ortorg apsan ong-gipa kattarang.

A)  Hyponym B) Polysem (C) Antonym (D) Synonym

127. Ka-mao on-sogimin sing-arangoniko ong-ako
Jonmoni D. Shira badia songo atchiaha ?
(A)  Resu-Belpara-o B) Rajasimila-o
(C) Nisangram Baksel gittim-o (D) Matchakol gre-o

UPT-19/P-1I/L : 124



128. Badia ong-a uko seoke sing-anina aganchakbo.
Tuniram ‘Do-kua’ poedo-ko 1914 bilsini mai jao seaha ?

(A)  Septembar jao B)  Octobarjao (C©) Novembar jao (D) Decembar jao

129. Ka-'mao sing-anirangoni ong-ako basee aganchakbo.
Badia do-oko Tau - racha Malagitel ine minga ?

A) Do-rengko B)  Do-poko (C)  Dorkako (D) Masilenggako

130. Sing-anirangna ke-ako seoke aganchakbo. Poraie ku-uko skie ra-anio badita bak niamrang
donga ?

A) Gadanggni B) Gadang gittam (©) Gadangbri (D) Gadangdok

131. Iasing-anirangoni badia ke-gipa katta ong-a seoke aganchakbo.
Gonmoni uni “Do-kru” Poedo-o mande baksa mai kamk tosusa-e aganaha chin ?
A) Kumong nangrime donganiko B) Saksa Sakgipin baksa meligrike donganiko
(C)  Gik aro se ka-sagrike donganiko (D)  Gik aro se tomtome donganiko

132. Iasing-anina ke-gipa kattachi aganchakbo.
Ramke sachi napolatako man aha ?
(A)  Rev.Rupreet Bion B) Rev.E.G. Philips
(C) Rev.Miles Bronson (D) Rev.Mason

133. On-sogimin sing-anirangoniko ong-gipa kattako seoke aganchakbo.
Mai bilsio Garo National Conggration dolko bikotaha ?
A) 1912 bilsio B) 1913 bilsio (C) 1914 bilsio D) 1917 bilsio

134. Sing-anirangna ong-ako basee aganchak-bo.
Ku-uko skie ra-ani minggni skillrang kna-e aro Agannachi ski-e ra-ana-man-agita.
Gipin mingni skill - rang ku-uko apoan dake ski-e ra-na man-ama ?
(A)  Apsandake ski-era-na man-a
(B) Apsandake ski-e ra-na man-ja
(C)  Ming bri skillrasgan apsan apsan dake ski-e ra-na man-a

(D)  Misgbri skillrangan namen ding tang grika
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135. Sronggipa sentence-ko rikanio watchang gipa mai aganani bak ong-a ?
Subject + + Predicate.
A) Noun B) Verb (C)  Adverb D) Adjective

136. Sing-anirangna ong-ako basee aganchakbo.
Sako Mane - Pite A-inma A-dindin ine minga ?
(A) Balawanimako B) Chinima-ko (C) Salgini ma-ko D) A-anima‘ko

137. Badia ong-a sing-anirangoniko basee aganchakbo.
A-chikrang gipin toromko ra-ode mai ong-gen ine Ramke Chanchiaha Chim ?
(A)  Depante demitchikrang gipin jat pilgen
(B) A-chik manderang tomtome dongna man-jawa
(C)  A-chikjat gimaniong-gen
(D)  A-chikjat silrorona mah-jawa

138. Ka-'mao sing-anirangna ong-ako basee aganchakbo.
Agannaniko dingtangate aganani skanggipa hiam.
Aganenggipa verb da-o onggipa ba mikkarngchi ong-nasienggipa ko Reported speecho indake ong-a.
(A)  Tenseko dingtangata B) Tenseko dingtangatja
(C)  Tenseko bikpilatna nanga (D) Tensekoon-daphananga

139. Ka-'mao sing-anirangna ke-gipa kattaraogko seoke aganchakbo.
Badia aganani bako dingtang dingtong gender - rangni rokomrangko uina man-a ?
@A) Noun-0O B) Pronoun-0O (C) Adverb-0O D) Adjective-0O

140. Sing-anirangna ke-gipa kattarangko basee aganchakbo.
Badia miteko Salgra - Moepa ine minga ?
A) Asikinimiteko (B) Jajongnimiteko (C) Salnimiteko D) A-animiteko

141. Ka'mao sing-anirangma ke-ako basee aganchakbo.
‘Gnigipa ku-u’ (second language) ine Ma-gataha ?
A) Hindi B) Assamese © Garo (D) English

142. Ka'mao on-sogimin kattarangoni badia kattarang Antonymy ong-a ?
(A) SiaaroTanga (B) Cha-aaroRinga
(C) Re-anga aro Re-baa (D) Dongnue aro Am-e
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143. Singanirangna ong-gipa kattarang ko seoke aganchakbo.
‘Ma-ani ku - utang ko skie ra-na Indian Constitution - ni badia Article - O dong-a ?
(A)  Article - Six scheduled B)  Article - Eight scheduled
(C)  Article - Twelve scheduled D) Article-45
144. Sing-anina chongmotgipa katta ko basee aganchakbo.
“Mikjumang A.gilsak” ia poedoko sawa seaha ?
A)  EvelynR. Marak (B) Barendra Bangshall Sangma
(C) Jonmoni D. Shira (D) Koplane G. Momin
145. Ka'mao on-sogimin pragraphni kattarangko sawa bi-e aganaha ?
“0, Na-a pilakna bate bilakbatgipa anga bebera-a.”
A)  Rev. Gilberth K. Marak B) Rev.Ramke W.Momin
(C) Keneth M. Momin (D) Mackenson S. Rongmuthu
146. On-sogimin sentence - rangoni badia ke-e jakkalgipa sentence ong-a.
A)  Gonny! Iachire-babo B) Gonny aro Tom adasa
(C) Gonny aro Tom baso (D)  Gonny aro Tom sakgkian grapenga
147. lasing-anirangna aganchakbo.
Mai jontuko A-gim - Gonggim - Simdim ine minga ?
(A)  Matchako B) Singhoko (C)  Giraftko D) Mongmako
148. Sing-anirangna ke-gipa kattarangko basee aganchakbo.
Sako “W.A kong” ine bimungko donachim ?
(A)  Mackenson S. Rongmuthuko B) Tuniram Rongma Marako
(C) Monensing R. Sangmako D) Kosan G. Mominko
149. Sing-anirangna kragipa kattarangko seoke aganchakbo.
Sentence-o salsretgipako mai aganani bake-ne minga ?
Tonang aganna “Anga mi cha-enga”
()  Agangipa (B)  Aganenggipa
(C) Agannasienggipa (D) Agannakoman-gipa
150. Ka-mao sing-anirangoni ke-gipa kattarangko basee aganchakbo.

Salgi bangbangni ma-a
(A)  Susimema B)  Sangkildoma (©) Urenchima (D) Urendama
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121.

(HINDI)

(A)  ToenferR # sarerfae fererdn i foenm we
(B) ATIRING Sfte o feru fornfef=ii st TR e
©  foenfofi =61 wdien & fo TR e

(D) Toenfer & wmifse STEehar &1 fash™ we

122.

‘o1’ foRgen! AT ?
(A)  gHEHeA gd (B) SIS JHE
© g et frren (D) weIce =t

123.

TEICH! T ol 31T fohd T R IS [EhR fhet 2

(A) rRER B) I © Erefd (D) A
124. HHE-TRI 1 el fourg fafaw - =~ svea

(A) =R HIA (B) = IR FHA © =R R FHIA (D) =R H HAA
125. ‘FEE’ THAT % OREsh i § ?

(A) TS (B) A © Ty fEg fore (D)  YEER
126. A 1 g ST 1 T § 2

(A)  forae (B) Y& © ¥ (D) <E
127. fe<i =t go Scufa ford stayier & ot T8 § 2

(A) TR (B) VR © TR (D) 1 ATTeRt
128. frefafEd # € ArEAAE aqeal i wfadl siA-§ § ?

(A) FAFRFMFA (B) TEMWeUR () felfemm D) fear™
129. fe=<t s & forehma o1 Wl ST HIA-T1 T 2

(A) T - Wi - STayw - fewd (B) WHd - Tuyw - fe<t - Wi

©  3Tuyw - uifd - wiha - fe ©O) T&=t - wfd - sTavw - U
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130. fe=<t =1 Gfaum gra forg s o1 <=1t fean § 2

(A) e (B) TSI (C)  HIEAH W (D)  EHIR W
131. ‘®=smEn’ % Gi=se B

(A)  BF+ = B) T+IAD € =d+BE (D) BF + BH
132. ‘Uhfd % GHAR SHfa’ ford Fel a1 e 2

(A) YR fHg foTeht (B)  Hia fraret faen

© g da (D) SR YEE
133. = 8§ 9§ -9 fag a1 © 2

(A)  HEEA (B) X © g (D) T
134. TS HEH 1 YH7E 399 © :

(A) TURIYEF TS  (B) HeRS YR 9N (C)  STEER Ued (D) e T
135. afg ‘T’ &t &g A H Yect ST 1 STeh TY 81T ¢

(A) ®) T © D) S o T
136. ‘f&<t’ o=qq: fFg oo 1 = B2

(A) HEHd ®) ST © E (D) A
137. ‘S=aRO’ 1 Gitese e

(A) S+ =X (B) S+ =R © THE+TW (D) =q + IR
138. T viron faneror =6t fafyr ©

(A) TR fafy (B) WA e fafy (©) s yERTSITen (D) SR a+ft
139. foemr s g2

(A) T B (B) THTRaIAA © TR (D) TH T
140. &<t siferal o o siferal 1 Aifece 9o 9= 31K &4 & ?

(A) TSI (B) T<a@UE! © I (D) =t
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141, SR GURA 1 e fohd hensti § e =fen ?
(A) YRR (B) TR © SR (D) A FES A

142. ' SicEN’ wIsg 1 faeim vee ©
(&) wd ® g™ © o D) 3™

143. 912 I & U M T8 SUER 1 9 YR T ©
(A) FAHE qhe o (B) Hdd HeHihd §
© Tt gdemo (D) O H F HE T

144. 91§ ¥ SH-91 ST Y=< 1 TE & 2
a) T B) TRH © T (D) 379 7Y STSTHeI

145. fe=<i wifecr & * smyfes Hr’ ford ot T 2
(A)  F G (B) T ¥er © TRRE F|l ) e qga@

146. ‘T’ % gHMET I}
(&) TEH ® © o D) ¥

147. fe=< o1 39 STUYY ot SAfaH STeeen ¥ WHR Hd ¢
() B) © g (D) HERd

148. T&<1 ! ‘ 3T ST =1e bl HerHTeT’ foRe st o1 ?
A fofem w8 (B) SIS frEEd
© ST UHHREA T (D) 3for< =y

149. ‘S H1 gAY T
(A) TR H S (B) TG H ot TG h Uk &
© T R YHgE® He (D) FEI-Feh a1 LAl

150. =R Mt TRt | AT e’ T fhmen e ® 2
A)  eEEg (B) WA © o fe D) T
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(HMAR)

121. Andik tak thlangsuok rawh :
(A) A hnuoi izirin tlaichi thlak hlak rawh
(B) A hnuoi izirin thlaichi thlak hlak rawh
(C) A hnuoi izirin thlaichi tlak hlak rawh
(D) A hnuoi izirin tlaichi tlak hlak rawh
122, Chikchikrieu inhram chu :
(A) Khau chi khat inhram (B) Vate chi khat inhram
(C) Thil ri hrim hrim um lo (D) Rihau inri bing bing
123. Pam rorel umzie chu :
(A) Thil inhmang inpam (B) Thil inro leia rorélna nei
(C) Lovatdan ding rél (D) Ram léng dan ding hril tlangna
124. Loneinaa sinthaw dan indawt chu :
(A) Hlo thlo, butu, hmangkhaw, busik
(B) Butu, hmangkhaw, hlo thlo, busik
(C) Hmangkhaw, butu, hlo thlo, busik
(D)  Hlo thlo, busik, hmangkhaw, butu
125. Ramvachal ti umzie chu :
(A) Rama vate chal (B) Pasaltha
(C) Vate chikhat hming (D) Rama khawsa hlak
126. ‘Ka lungdin khieng dang a awi tah ie’ ti umzie chu :
(A) Inkhieng thing awiin hla a sak (B) Ka ngaizawngin midang a dit tah
(C) Pasal dang a mi neisan tah (D)  Hmun dangah an inpem tah
127. Mithi chanchin hril dinga tirhai chu :
(A) Thangko B) Tlangva (C) Palai (D) Tirko
128. Thudik hril le
(A) Sazang kap (B) Thiemchangna nei
(C) Ramlenga fe (D)  Thil inhmaw taka thaw
129. I par mawi

(A) Mi thliek rawh (B) Min suorawh (C) Min hlan rawh (D) Mi pe rawh
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130.

Adjective chu :

(A)  Verb hrilfietu a nih (B) Noun hrilfietu a nih

(C) Ama le ama an hrilfie (D) Thilthawhrilna a nih
131. Thingkung a tha chun

(A) A par a mawi B) Araatha (C) A hnaatam (D) A thing a chang
132. Chéngrang umzie chu :

(A) Silai (B) Pelt era (C) Chéngna in (D) Chemte
133. Rengkhawthim chu :

(A) Inthim sa tak (B) Réng rama nisa tlak

(C) Khawstng inthim (D) Thereng chi khat
134. Andiktakthlangsuokrawh :

(A) I puonthanthlepchutléptuorin an lang

(B) I puonthantlepchuthleptuorin an lang

(C) I puonthantlepchuthléptuorin an lang

(D) I puonthanthlepchuthléptuorin an lang
135. Dawlrem chu :

(A) Vate a nih (B) Inreng chikhat a nih

(C) Bal hna tawl a nih (D) Laiking chikhat a nih
136. ‘Sawmfang kir nguoi’ umzie chu :

(A) Phék sawm tam (B) Buzatam (C) Phék za tam (D) Lo buvui
137. Kumkhat sunga hun indawt dan chu :

(A) Nipui, far, favang, phalbi (B) Nipui, phalbi, favang, far

(C) Far, favang, nipui, phalbi (D)  Phalbi, favang, far, nipui
138. Simbak chu :

(A) Simbung chikhat a nih (B) Sakei chikhat a nih

(C) Thilhring chikhat a nih (D)  Pathien pakhat ni dinga ring a nih
139. Concrete noun thenawi a thangve lo haichu :

(A)  Proper noun (B) Common noun

(C) Abstract noun (D)  Collective noun
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140.

Ei nun thiem ang

(A) Sie tarawnge (B) Sir ta rawnge

(C) Méttarawnge (D)

Sil ta rawng e

141. Abstract noun thlangsuokrawh :

(A) Thina (B) Behna (C) Vwuongna (D) Thirbél
142. ‘Thiemtuipek’ ti umzie chu :

(A) Thiem taka tui indawntir (B) Puon khawng sukhuna tui

(C) Puon khawng laia tui dawn (D) Tui dawn dan thiem mi
143. Pronoun a third person hrilnachu :

(A) Nang kalawmche (B) Keimakafe

(C) Ama thaw a nih (D) Kalawmche
144. Hmarhai lam laia thangve lo chu :

(A) Pheiphit lam (B) Khuol lam (C) Lam lam (D) Inchawm lam
145. Thangsuo ti umzie chu :

(A) Inthang suok (B) Taima

(C) Damlaia thiltum hlen (D) Hausa
146. Sikpui lam an 1am hun chu :

(A) Nipui lai (B) Fur lai (C) Phalbi lai (D) Favang lai
147. suol bawia kan tang hnung kha.

(A) Hun sawt tak (B) Hlatak a (C) Det taka (D) Sawt tak
148. A hi damlai thil ngaituo ding

(A) Pawimaw le tul a nih (B)  Thil tul inkhaw a nih

(C) Thil pawimaw tak a nih (D) Thaw makmaw tul a nih
149. Thawngaleivir chu :

(A) Thlipui hrang a nih (B) Ruopui vanawn sur a nih

(C) Thli hrang inkuol hrattak a nih (D) Sour luong hrat a nih
150. ka lungrilah a hung var tah.

(A) Turnipui var (B)
(C) Tlanga inthieng (D)

Chatuon kawlrawn

Pielral nisa
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121.

(NEPALI)

uret TifecrH 3Ry Twgarel wfa TR fafa a7 dlieeeig & o ¥R fafrs 2
(A)  TEIHR (B) asR © STHEER (D) TR

<

122.

Ty drearerens Rmit Iufy fe =afe 1 g2
(A ot 5TeR ®) o 5qEa © SETERIGIAW (D) WM A=

123.

T SATRIOMT G4 i Tehrent g ?
(A) TIFRHIEST (B) THTRRHFIEST (O TUATOHE (D) AU g g

124.

HEH TR ICEEAT STh! A& FANT TS .
(A)  STRTHRI YA (B)  TcHHh! FANT (© TR TR (D) facen gam

125.

TETT SATHLOTHT GHY -]
(A) THI HA B (B) T TG & © SHuRadTHE (D) foRmu gERg @

S

126.

T YEET A T Sliee FHRIS I ?
(A)  HEHEH TS (B) AR Wi O FEREEES (D) T A9

127.

Tt T Rfgeiala ST Siel I qTehl =S ?
(A) HI1600UfEsE  (B) WA1700Ufwee  (C) EA 1800 UfSEE (D)  HH 1900 UfEEre

128.

AT (=) FRhh! A TR :
A fagm v B) M s © favfet vfs (D) @A 9

129.

1918 TThI 24 SJ[ATSHT 1 favafaqaretdel "awet YoTeTs i fUaRl U Tt B! forl ?
Q) foceit foeafagamea (B) herehdl fovafagare™
© IR foaafagarea (D) TaTEdrs favafagae™

130.

et grei= €9 H B ?
(A)  fafy ®) feafafu ©  HaRfafy (D) Fvifara
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131. G Toeh] ISTELUMT T3 & g :
&) &, T B FTLA © U e, e (D) T U A

132. HEHTS ALHITHIE Serehieeh] ST YTEh! 313 B :
(A)  FIEW ®) @S
© S EESR (D) fecaitesReR! Hisfiem

133. 1992 %l 20 TTH! o WRAH! HWiTHM FF F HIels A= foUsh! o ?
(A)  hiehuft, TIOTYE T AuTeh (B) I, AuTel ¥ woTqd
(©  hiewoil, HUTEH T fHeft (D) A 9 &

134. 319, S, T, T o7 ekl TRR g1 7
(A)  FUHH (B)  HftRI ©) T (D)  HHH

135. TY I TREEA HEATS FIH TSIl I T ?
(A) TENREUIIE  (B) AR ©) TR I (D) Yol g

136. =T EIHT TG HTHTR] YR TR TH T
(a) Tfad. 1213 ®) faE. 910 © Tfad. 1057 D) Tfad. 1075

137. ST ToReh] STAROTHT a1fex ek g :
A)  gEeR s (B) e I A Freh
© TRHATT< TS D) FEHUFs

138.  SUTCHTHT TFI1 SU=ATH I ST=—ATHHR hl G ?
(A)  TEIRIGTE ®) doeRgast () W eERIGER (D) SEHUS TRR

139. TR YRl ST B :
(A) 7 SR 1985 | (B) 7 SR 1936 I
© 7 hgarl 1935 (D) 31 SHaRT 1935 91

140. ZAScTeh] TUTCH SATERTON T SUSH — TATel qAT ATt — ST ICEHUSR hid THT YhITd Heh! fory ?
(A) 9 1870 (B) & 1885 © 1887 (D) &9 1890
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141.

TSETIRISTR] ST TR B :

(A) 30 fegwer 1947 W (B) 25 feqwR 1948

(© 25 SFaRl 1947 (D) 25 SHERT 1948 I
142. TAh] P AlE Fooel Sfa &

A) T TEH U 9= (B) TREIIMY

© RS IR0 F W SR D) T w= A
143. gfacruey 3msA fUEiems sTeiiaie shiod Yueeh! YoM e for -

(A) §11978 (B) §F 1980 W © E11982H (D) &9 1984 ™
144. TIM TR F7 YW ?

() qftet (B) TURAN () Ul (D) <o
145. T FEHAETA TG TR STHTHICTS Shid TRTHI S@TT ?

(A T um B) A 9w (€ IR Y (D) dI= 9
146. TIfereh! fao STETeh! &I 2Teh! MTSTHT et TRUsh! Het fawrets & af s ?

(&) ergfea foom B) SEEAfE () SR (D) STgefed formr
147. HeTTel fEwst TOTeh! SAThRTRT Srell HEahaormT Tt wToeht shfderer siftert S 59 2

(A) eI B) e © IRE (D) w&RT
148. TG STHTATS TR = JoH ST &l g2

(A) SEgefeRigiEe  (B)  sf<w © wfxecay s@i@ (D) fagamfa
149. el H1HE STk FTHIEE SahIeht o §1 7

(&) T ® W © 9 D) =9
150. TH TSI TST ANRISTRT 30 ITTHHRRT I Faestent foge=mn s&1 S1f<9 T g1

(A) 3T Fodd (B) 9T Hed (© SIS = (D) Iy =
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(MANIPURI)

121. ‘s TRt BIecaw 177 AeRAaL BT SiRredt (i aawt srEat e |
A) T (B) IS
©  (A) IR (B) AT 33T T (D) WIH TZIF BAEER

122, SIS (T 3319 29T Q3T s [fEr e famster i -
) wlosg frafmrer ®) frar e
© T e (D) fersrol Reafawsery

123. YA TS TS FhpEar Tar Bifost TSt si@dbwmr 7fers & @7 =i -

(A) W ST S3FT @R [ | (B) TP YOS AR |
Q X9 ST Q3T e AR | (D) TS FNF AlfeT |
124. fXom @aqr 371 43 -
(A)  SCRAT IR Y | ® & @O smye A |
(C) T PR ;M J5IW| (D) (C)=Tifer (A) SR (B) BRI

125. STV 74T -

A) s8I B) ¢ ™ © v D) a9
126. Ticorer ST Wi (¢T1F SFT TounT SIREIA NS Tt FA WA B3 |

(A) AR (B)  GIIT © R D) OIS SNST 7S
127. QW& TIfH BT I | BRI NENRMT (NF5IwT Y |

A ® © | D)

128. TSTIH SR CATSATL ST T2 -
(A) TSI (B) =W © wRE D) weifF|

129. ‘(oI RIOM G’ IR
(A) (AT AT (B) R ALCAF © T (D) WE ITIF A3 |

130.  “‘ITSTHAN SRILAT’ IQT TIAWET $1f
(A)  Tf: FWeAfy (B) F, &, Tearsed

o~

©Q  AETW AiaiA D) &, F&HEET
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131, W[t @ S TifRes smEET -

(A) LTI FRART @A | B) efEEr @]

Q) FTFNSTT T (D) TAE HTHF FH |
132. ‘@A’ QR -

A)  TEF TR Ll (B)  FF AR glT |

©  (A) L (B) SAIN@ Y7 33T T | (D)

(A), (B) 3R (C) OrFE AT |

133. S T AL SBTET =137 -

(A) I (B) IGIeIEA © BT D) THEed
134. ‘(OFAI T AT 3T (Y 13 LBT (A I3 LAt @I -

(A) T AT (B) T YA (@FAT |

© T oFAl TRAr @350 | (D) T =T (oFAT 3350 |
135. WSt T SRt ST 3t

A) 9., Rt (B) YIBAFAT SREIT

© Zow e (D) T eIl
136. Wer7[ST (T TRfAE Yo% Q%A1 (A FRFRIlT

(A) STV B3I BRIBMT | (B)  SAMITAE/SAICAZ B3I BRIBMT |

Q) SAMNEREZ/SANTE BIBIBM I (D) SN BIT BRIBMT |
137. Of: dWeTAT 3777 (1A -

(A) I ST (B) @

© THA D)  (A) IR (C) HATHHI |
138.  (SOIfeASTIw SSRIeTHT 3381 T3S ¢

A) FReIfatd @) wftmfafesr © 0 wsEkfa D) (A) SR (B) 592
139. ToTIH ST GRIIST SIRAT cae A2 -

(A) AR B) 3 © oRH D) TS
140.  THCOCETIAN FICRAT [T AL FIFOH! ST J1CR 58 STF AT FouH :

(A) 4B 58 [ TR B) YR 5S¢ I TR

© 4B su B TRy D) 4B Sb [T Ty
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141. S(BLET + T = TFL AR -
(A)  TLTY FSFN Yrawi | ®)  fefE atoFaT i
© TGS QrSEAT L | (D) TIE IS SpFT LT (3 |
142. ‘BT ST 1 0T, TRIF (SFAT WoIRI° ZRIAT qiczafe JIbmr <oz 3faafy
A) AT TFBE B) A Al
©Q AT IR AT TR D) TE IS 3
143.  “‘3JRTET, F6J I TNENAL* QAL ST -
(A) p3 (B) Y™ © OrIANFEIE (D) WS WS Al
144. STV RRQHT
(A)  MCE ST el S3AT S[FRA |
(B)  JMCx 2 SWQT B3AT AR |
© XTI F@ST I @A IR AFFRA |
(D)  WIE! SN SR SNST T3 |
145. f&5.fC. o717, ©EET 3Rty -
(A) IS SWAT Ritefy B) TNl RS H
© A o el (D) =W
146. WSSt (TAT B TLRLFEN 17 war Sygsemt s -
(A)  TBE R0, 5885 (B) HER0, 5850 (O HAT R0, 595 (D)  BET R0, 5580
147. XS0 SG1exeTTT 47T (AZIT RS -
(A) A9 i 3aN3 (B) I *IHIME 3N
©) TR (ETIRFTME RTWR (D) WS SN eTifer
148. ‘ST (FISSUT &Y BT -
(A) I ST 371 (B)  YI3FFY BIEIAT 377
© ¥, &, [EEE saE (D) «OF FHWERAFT 339
149. <& IEFAT S TeT AP AT FIIPFT THGY ASTHAT HCOIHT SN FE2AAT A9 -
(A) T (B) et © fehm (D) =
150. Wiers[ST ST ARRT ST 32T 3771 IO+ (FTeTa Sq™ -

A) =BH B WO © Tifess (D) =
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(KARBI)

121. ‘Solangdo’ puke - Lindok :

(A)  bang 2 (hini) aphan B) bang 3 (kethom) aphan

(C) bang4 (phli) aphan (D) bangb (pho) aphan
122. Ha-i/ Long Teron atum arong amen kopilo ?

(A)  Socheng B) Umrasi

(C) Amtarpeng (D) Somindar Anglong
123. Ha-imu akitap Komatsi Ketok lo ?

(A)  Longkam Teron (B) Bonglong Terang

(C) Nihang Rongphar (D) Barelong Terang
124. Karbi Lamet Amei Kechengsi a Meiphu Komat lo ?

(A)  Prof. Rongbong Jerang B) Longkam Teron

(C) Bonglong Jerang (D) Samsing Hanse
125. Karbi Lamtasam ateng pen ‘Men’ son koan do ?

A)  Son 4 (phli) B) Son5 (pho)

(C) Son 6 (throk) (D) Son 3 (kethon)
126. Abong pen Amarthu, Abi pen Ahiru puke :

(A)  Chelonchit aphan (B) Chetontepin aphan

(C)  Chingbarbepin aphan (D) Kemepik aphan
127. “Ne pinap hem damji.” pulote kopi ahut lo ?

(A)  Non-ahut B) Chuahut (C) Moahut D) Isitakali
128. La aber alamthe heihui Kechokvek abang kolo ?

A) dam vangret B) dam aret (C) damvaret D) damret
129. SABIN ALUN puke kopi aphansi kipu ?

(A) Mahabharat (B) Ramayana (C) Bible (D) Panchatantra
130. Hirjir kihir kethan ke abidi kepangcho aphan.

A) Kaningje B) Karjulong (C©) Ketok D) Kacharli
131. “Siningle ingthok ta emahang chero.” puke jonghele sorsa sita :

A) Edon apok-et pinak (B) Bangpinak
(C) elipen akethe pinak (D) elipen akibi pinak
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132. Hem tibinpile sarbura apok keso livoi kopilo ?
A) Longthu B) Hulik (C) Birik (D)  Phelo bisir

133. Dimro puke :
(A) Sokamen B) Hem amen (C) Hanamen (D) Rongamen

134. Lamtasam ateng penke Bangphu son Ko’an do ?
A) Son-2 B) Son-3 (C) Son-4 D) Son-5

135. ‘Karbi atiri ke lammet kadure.
Lunle Lunji ta Lunjir kedure
Lun pen Jutang ke isivet damkre
Kheita Virthuji lammet le ave
‘Nepi Alam’ ahirjir komatsi ketok ?
(A) LongKam Teron (B) Phulmati Teronpi
(©) Anima Terangpi (D) Bidorsing Kro

1836. Non an kedobom Karbi Medium School hum ko'anlo ?
@A) hum10 B) hum 29 (¢ hum 35 @O) hum 19

137. ‘HUNMILI’ puke :

A)  Kep angdeng akitap (B) Phoangdeng akitap
(C) Isiangdeng akitap (D) Nerkep angdeng akitap
138. Men alamthe alar kepacho alamthe aphan pulo.
A) Men B) Menlar © Sa (D) Saiklar

139. Amri Alongri asor aphan ke :
A) Lelangdotapu B) Arlangdotapu
(C) Solangdotapu (D) Sankurtapu

140. Karbi Medium School along non (2018 pen) Govt. of Assam/ SSA pen keronbom ‘Kimlakha’ akitap
amen kapulo ?

(A)  Netum Akimlakha B) Kimlakha Ajadu
(C©) Kimlakha Kimi (D) Kimlakha

141. “Arudangmi achiklo
Bengcheret langsok hang jo
Nonpu nongsim apor lo.
Chingrum non dei klimso”
‘Aporpen’ ahirjir ketok abang :
(A)  Anima Terangpi (B) Bamonpo
(C) Lunse Timung (D) Dhoneswar Engti
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142. KLDB ahin pen KLT atum aphan komantu pensi Kepadochenglo ?

A) 2008 pen B) 2009 pen (C) 2010pen D) 2003 pen
143. EpiAlam Kacharli along Adun alam ke Kopélo ke-en nangji ?

(A)  Assamese B) English

(C) Hindi (D) Bengali
144. Achom + Asar + Kekan =

@A) Chomangkan B) Chomkan

() ChongKan (D) Chom Kekan
145. Menlar son koan do ?

A)  Son 4 (Phli) B) Son 6 (throk) (C)  Son 8 (nerkep) D) Sonb (Pho)
146. “NepiAlam Ne Kachinghon chenam” pukomat atumsi Ketokcheng lo ?

@A) KSAatum B) KLAatum (© KLT atum D) KCSatum
147. ‘LAM MARJONG’ komat lo ketok ?

(A)  Bonglong Terang (B) BasaKathar

(C) Bidorsing Kro (D) Barelong Terang
148. Lunjir along ‘RUN’ puke kopi aphansi kipudam ?

(A) Langaphan B) Tovar aphan (C) Hem aphan (D) Ritde aphan
149. Monit, marat, lapen ason ason amen ki-ir aphan helo pulo.

A) Menlar B) Menklar (© Men D) Sai
150. Isiangdeng along non KAAC/SSA pen keron ponbom akitap amen kopi ?

@A)  Hunmili B) Lam Chili (C) Lam Aklim D) LammetKimi
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